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RTEHFEAK 1 T2 AR KT HE
AR A 4R 7 104 14
B 12 11 12 17 B e A% T8y
— & MO 13wy 3%V 3%V 13vv | 4 N
N 1.03vv 1.03vv 1.03vv LO3vv | 4 1.03vv
IR LR RZEDIEY 0.00033< 1] 0.00033%~
KERF P DILEY 0.000053<> 1| 0.0000537
TR OZEDILEY 0.0013<v 1 0.0013v
DAY 0.0013v 1 0.0013<
=Y O 0.0013<Y 1 0.0013v>
AV A= 2y 0.0023< 1 0.00237
i A 2 e % R 0.0043<v 1 0.0043<
T AN A T R T 0.0013v 1 0.0013v
THEAREZE 8 Sy OV AR RE 25 37 3.6 3.2 3.3 35| 4 3.6 3.2 3.4
ToFZ M OEDLEY 0.083%Y 1 0.083<y
TR L OEDILEY 0.13vv 1 0.13vv
(= o 0.000237 1] 0.00023%v
1,4— %Y 0.00537 1 0.0053<
¢ ;\/;i ;ﬁj Jo. D%IV;VA?/U 0.00437 1| 0.00430
/A== 0.0023%v 1 0.0023%
FhZ/unFL 0.0013~vv 1 0.0013v>
N ZanTzF1 0.0013%v 1 0.0013%
Ny B 0.0013vv 1 0.0013<Y
WKk DL a4 0.013<v 1 0.013<v
TNAR=Y LR OZDILEY 0.023% 1 0.023<v
g OZEDILED 0.013<v 1 0.013<v
R OZEOLED 0.013=Y 1 0.013<v
TR LR DZEDILE 14 1 14
~UH R OEDALEY 0.0013<v 1 0.0013<
Wik A4 13 12 12 13 4 13 12 12
VRN &/ VN (T Y9 63 60 61 62| 4 63 60 62
KIEEEWY 217 185 190 194 4 217 185 196
B A A S A 0.023vv 1 0.023vv
VA AIV 0.0000013< 1 10.0000013%>
2— AF A VRV FA— )L 0.00000137 1 10.0000013<>
AL F TS A 0.0053< 1 0.0053%
7=/ — VH 0.00053< 1| 0.00053%v
A (AR FR(TOC)D ) 0.23vv 0.23%v 0.23%v 0.23vv | 4 0.23%v
pH f& 6.5 6.5 6.5 6.6 4 6.6 6.5 6.5
BOK Rl L L L 4
FE S 0.53vv 0.53vv 0.53vv 0.53vv 4 0.53vv
WwoE 0.13%v 0.13%v 0.13%v 013w | 4 0.13%v
W OBE R OER 30 29 27 26 4 30 26 28
JE R (7T a3 -2.1 -2.1 -2.2 2.1 4 -2.1 -2.2 -2.1
KR 18.3 18.4 18.5 183 4 18.5 18.3 18.4
Wby 48 49 48 48| 4 49 48 48
WO 34 33 31 30 4 34 30 32
12 £ o 3 HE e R 27 26 25 24| 4 27 24 26
VAN S 42 40 39 40| 4 42 39 40
WM A 72 1 72
TUE=T RS 0.023<v 0.023<v 0.023<v 0.023xv | 4 0.023wy
ER AR 216 206 204 209 4 216 204 209
SRR EE (E260) 0.002 0.003 0.002 0.002| 4 0.003 0.002 0.002
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RIEHEAK 2 L EEKIER H
AR A 4R 7 104 14
B 19 2 18 1 EE{ . e A% T
— & A OB INe% 1 N 13ev | 4 1 132y 132y
N 1.03vv 1.03vv 1.03vv LO3vv | 4 1.03vv
IR LR RZEDIEY 0.00033< 1] 0.00033%~
KERF P DILEY 0.000053<> 1| 0.0000537
TLU R OFEDILAY 0.0013<v 1 0.0013v
DAY 0.0013< 1 0.0013<
=Y O 0.00137Y 1 0.0013<
AV A= 2y 0.0023v 1 0.00237
i A 2 e % R 0.0043<v 1 0.0043<
T AAF L RO T 0.0013v 1 0.0013v
THEAREZE 8 Sy OV AR RE 25 37 3.2 3.6 3.5 3.3 4 3.6 3.2 3.4
ToFZ M OEDLEY 0.083%Y 1 0.083<y
TR L OEDILEY 0.13vv 1 0.13vv
(= o 0.000237 1] 0.00023%v
1,4— %Y 0.00537 1 0.0053<
¢ ;\/;i ;ﬁj Jo. D%IV;VA?/U 0.0043¢Y 1| 0.00430v
A== ¥ % 0.0023<v 1 0.0023%
FhZ/unFL 0.0013~vv 1 0.0013v>
N ZanTzF1 0.0013%v 1 0.0013%
Ny B 0.0013<v 1 0.0013<Y
WKk DL a4 0.013<v 1 0.013<v
TNAR=Y LR OZDILEY 0.023% 1 0.023<v
g OZEDILED 0.013<v 1 0.013<v
R OZEOLED 0.013=Y 1 0.013<v
TR LR DZEDILE 14 1 14
<~ B OZEDILE Y 0.0013%» 1 0.0013vv
Wik A4 12 12 12 12 4 12
VRN &/ VN (T Y9 57 62 62 59 4 62 57 60
KIEEEWY 187 186 193 190 4 193 186 189
R A A S IE A 0.023%v 1 0.023vv
VA AIV 0.0000013< 1 10.0000013%>
2— AF A VRV FA— )L 0.00000137 1 10.0000013<>
AL F TS A 0.0053< 1 0.0053%
7=/ — VH 0.00053< 1| 0.00053%v
A (AR FR(TOC)D ) 0.23vv 0.23%v 0.23%v 0.23vv | 4 0.23%v
pH f& 6.6 6.7 6.7 6.9 4 6.9 6.6 6.7
BOK Rl L L L 4
FE S 0.53vv 0.53vv 0.53vv 0.53vv 4 0.53vv
WwoE 0.13%v 0.13%v 0.13%v 013w | 4 0.13%v
W OBE R OER 26 18 18 16| 4 26 16 20
JE R (7T a3 -2.1 -1.9 -2.0 -1.8| 4 -1.8 -2.1 -2.0
KR 18.9 19.0 18.8 186 4 19.0 18.6 18.8
Wby 45 50 48 46| 4 50 45 47
WO 29 20 21 18] 4 29 18 22
12 £ o 3 HE e R 23 16 17 14| 4 23 14 18
VAN S 37 40 40 40| 4 40 37 39
WM A 66 1 66
TUE=T RS 0.023<v 0.023<v 0.023<v 0.023xv | 4 0.023wy
ER AR 195 204 203 194 4 204 194 199
SRR EE (E260) 0.002 0.003 0.003 0.003| 4 0.003 0.002 0.003
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RTEHEAK 3 NI K Hh

AR A 4R 7 104 14
B 12 1 12 17 EE{ . e A% T
— & A OB 2 N N 21 4 2 132y 1
N 1.03vv 1.03vv 1.03vv LO3vv | 4 1.03vv
IR LR RZEDIEY 0.00033< 1] 0.00033%~
KERF P DILEY 0.000053<> 1| 0.0000537
TR OZEDILEY 0.0013<v 1 0.0013v
DAY 0.0013v 1 0.0013<
=Y O 0.0013<Y 1 0.0013<
AV A= 2y 0.0023< 1 0.00237
i A 2 e % R 0.0043<v 1 0.0043<
T AAF L RO T 0.0013v 1 0.0013v
THEAREZE 8 Sy OV AR RE 25 37 3.6 3.2 3.6 36| 4 3.6 3.2 3.5
ToFZ M OEDLEY 0.083%Y 1 0.083<y
TR L OEDILEY 0.13vv 1 0.13vv
(= o 0.000237 1] 0.00023%v
1,4— %Y 0.00537 1 0.0053<
¢ ;\/;i ;ﬁj Jo. D%IV;VA?/U 0.0043¢Y 1| 0.00430v
/A== 0.0023%v 1 0.0023%
FhZ/unFL 0.0013~vv 1 0.0013v>
N ZanTzF1 0.0013%v 1 0.0013%
Ny B 0.0013vv 1 0.0013<Y
WKk DL a4 0.013<v 1 0.013<v
TNAR=Y LR OZDILEY 0.023% 1 0.023<v
g OZEDILED 0.013<v 1 0.013<v
R OZEOLED 0.013=Y 1 0.013<v
TR LR DZEDILE 12 1 12
~UH R OEDALEY 0.0013<v 1 0.0013<
w1 A 10 9 9 10 4 10 9 10
VRN &/ VN (T Y9 57 56 58 58| 4 58 56 57
RBEBHREY 201 172 176 183 4 201 172 183
B A A S A 0.023vv 1 0.023vv
VA AIV 0.0000013< 1 10.0000013%>
2— AF A VRV FA— )L 0.00000137 1 10.0000013<>
AL F TS A 0.0053< 1 0.0053%
7=/ — VH 0.00053< 1| 0.00053%v
A (AR FR(TOC)D ) 0.2 0.23vv 0.23%v 0.23vv | 4 0.2 0.23%v 0.23%v
pH f& 6.5 6.4 6.5 6.6 4 6.6 6.4 6.5
BOK Rl L L L 4
FE S 0.53vv 0.53vv 0.53vv 0.53vv 4 0.53vv
WwoE 0.13%v 0.13%v 0.13%v 013w | 4 0.13%v
W OBE R OER 33 33 33 38| 4 38 33 34
JE R (7T a3 -2.2 -2.3 -2.2 2.1 4 -2.1 -2.3 -2.2
KR 18.3 18.4 18.4 182 4 18.4 18.2 18.3
Wby 44 47 46 46| 4 47 44 46
WO 37 38 37 43 4 43 37 39
12 £ o 3 HE e R 30 30 30 34| 4 34 30 31
VAN S 38 36 40 37| 4 40 36 38
WM A 71 1 71
TUE=T RS 0.023<v 0.023<v 0.023<v 0.023xv | 4 0.023wy
ER AR 196 187 192 191 4 196 187 192
SRR EE (E260) 0.002 0.002 0.002 0.002| 4 0.002
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RIEHEAK 4 TEH AR Hh
AR A 4R 7 104 14
B 12 11 12 17 B e A% T8y
— & MO 13wy 3%V 3%V 13vv | 4 N
N 1.03vv 1.03vv 1.03vv LO3vv | 4 1.03vv
IR LR RZEDIEY 0.00033< 1] 0.00033%~
KERF P DILEY 0.000053<> 1| 0.0000537
TR OZEDILEY 0.0013<v 1 0.0013v
DAY 0.0013v 1 0.0013<
=Y O 0.0013<Y 1 0.0013v>
AV A= 2y 0.0023< 1 0.00237
i A 2 e % R 0.0043<v 1 0.0043<
T AAF L RO T 0.0013v 1 0.0013v
THEAREZE 8 Sy OV AR RE 25 37 3.5 3.5 3.8 3.6 4 3.8 3.5 3.6
ToFZ M OEDLEY 0.083%Y 1 0.083<y
TR L OEDILEY 0.13vv 1 0.13vv
(= o 0.000237 1] 0.00023%v
1,4— %Y 0.00537 1 0.0053<
¢ ;\/;i ;ﬁj Jo. D%IV;VA?/U 0.00437 1| 0.00430
/A== 0.0023%v 1 0.0023%
FhZ/unFL 0.0013~vv 1 0.0013v>
N ZanTzF1 0.0013%v 1 0.0013%
Ny B 0.0013vv 1 0.0013<Y
WKk DL a4 0.013<v 1 0.013<v
TNAR=Y LR OZDILEY 0.023% 1 0.023<v
g OZEDILED 0.013<v 1 0.013<v
R OZEOLED 0.013=Y 1 0.013<v
TR LR DZEDILE 12 1 12
~UH R OEDALEY 0.0013<v 1 0.0013<
Wik A4 10 10 10 10 4 10
VRN &/ VN (T Y9 46 45 47 44 4 47 44 46
RBEBHREY 184 172 172 172 4 184 172 175
B A A S A 0.023vv 1 0.023vv
VA AIV 0.0000013< 1 10.0000013%>
2— AF A VRV FA— )L 0.00000137 1 10.0000013<>
AL F TS A 0.0053< 1 0.0053%
7=/ — VH 0.00053< 1| 0.00053%v
A (AR FR(TOC)D ) 0.23vv 0.23%v 0.23%v 0.23vv | 4 0.23%v
pH f& 6.4 6.4 6.5 6.6 4 6.6 6.4 6.5
BOK Rl L L L 4
FE S 0.53vv 0.53vv 0.53vv 0.53vv 4 0.53vv
WwoE 0.13%v 0.13%v 0.13%v 013w | 4 0.13%v
W OBE R OER 24 25 22 22| 4 25 22 23
JE R (7T a3 -2.6 -2.5 -2.4 24| 4 -2.4 -2.6 -2.5
KR 18.2 19.0 18.3 179 4 19.0 17.9 18.4
Wby 32 36 35 33| 4 36 32 34
WO 27 28 25 25 4 28 25 26
12 £ o 3 HE e R 22 23 21 21| 4 23 21 22
VAN S 29 29 30 28| 4 30 28 29
WM A 71 1 71
TUE=T RS 0.023<v 0.023<v 0.023<v 0.023xv | 4 0.023wy
ER AR 172 172 174 167 4 174 167 171
SRR EE (E260) 0.002 0.002 0.002 0.002| 4 0.002
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AKIFHIFEK 5 TEHRE — kIR b
AR A 4R 7 104 14
B 12 1 12 17 EE{ . e A% T
— & A OB INe% 2 N 13ev | 4 2 132y 132y
N 1.03vv 1.03vv 1.03vv LO3vv | 4 1.03vv
HRIT LR OZEDLEY 0.00033< 1] 0.00033%~
KERF P DILEY 0.000053<> 1| 0.0000537
TR OZEDILEY 0.0013<v 1 0.0013%>
DAY 0.0013v 1 0.0013<
=Y O 0.006 0.005 0.005 0.006 | 4 0.006 0.005 0.006
AV A= 2y 0.0023< 1 0.00237
i Y Bk R %€ R 0.0043<v 1 0.0043>
T AAF L RO T 0.0013v 1 0.0013v
THEAREZE 8 Sy OV AR RE 25 37 1.4 1.4 1.4 14| 4 1.4
ToFZ M OEDLEY 0.083%Y 1 0.083<y
TR L OEDILEY 0.13vv 1 0.13vv
DU 35 AL B 0.000237 1] 0.00023%v
1,4— %Y 0.0053<v 1 0.0053%Y
¢ ;\/;i ;ﬁj Jo. D%IV;VA?/U 0.00437 1| 0.00430
A== ¥ % 0.0023%v 1 0.0023%
FhZ/unFL 0.0013~vv 1 0.0013v>
N ZanTzF1 0.0013%v 1 0.0013%
Ny B 0.0013%> 1 0.0013%
WKk DL a4 0.013<v 1 0.013<v
TNAR=Y LR OZDILEY 0.023% 1 0.023<v
g OZEDILED 0.013<v 1 0.013<v
R OZEOLED 0.013=Y 1 0.013<v
TR LR DZEDILE 12 1 12
<R OEDILE 0.0013%> 1 0.0013%
w1 A 9 8 8 8| 4 9 8 8
VRN &/ VN (T Y9 38 38 38 38| 4 38
RBEBHREY 171 159 158 158 4 171 158 162
R A A S IE A 0.023%v 1 0.023vv
A AIv 0.0000013< 1 10.0000013%>
2— AF A VRV FA— )L 0.00000137 1 10.0000013<>
AL F TS A 0.0053< 1 0.0053%
7=/ — VH 0.00053< 1| 0.00053%v
A (AR FR(TOC)D ) 0.23vv 0.23%v 0.23%v 0.23vv | 4 0.23%v
pH f& 7.0 6.9 7.0 7.0 4 7.0 6.9 7.0
BOK Rl L L L 4
FE S 0.53vv 0.53vv 0.53vv 0.53vv 4 0.53vv
w o 0.13%v 0.13%v 0.13%v 013w | 4 0.13%v
W OBE R OER 8 11 9 1| 4 11 8 10
JE R (7T a3 -1.9 -2.0 -1.9 -1.9| 4 -1.9 -2.0 -1.9
KR 19.7 21.9 19.8 188 4 21.9 18.8 20.0
Wby 40 42 43 41 4 43 40 42
WO 9 13 10 12| 4 13 9 11
12 & M b B R R 7 10 8 10| 4 10 7 9
RN | S 24 24 24 24 4 24
WM A 80 1 80
TUE=T RS 0.023<v 0.023<v 0.023<v 0.023xv | 4 0.023wy
ER AR 144 143 142 41| 4 144 141 142
SRR EE (E260) 0.002 0.002 0.002 0.001| 4 0.002 0.001 0.002
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RIEHEAK 6 &K KIFHE
AR A 4R 7 104 14
B 19 2 18 11 EE . B A% DA
— & MO 13wy 3%V 3%V 13vv | 4 N
Nl 1.03vv 1.03vv 1.03vv 1.03vv 4 1.03vv
TRV LR OZE DAY 0.00033< 1] 0.00033%~
KERF P DILEY 0.000053<> 1| 0.0000537
TLU R OFEDILAY 0.0013<v 1 0.0013%>
DAY 0.0013< 1 0.0013<
=Y O 0.005 0.005 0.005 0.006 | 4 0.006 0.005 0.005
VaViVA=RN(A=x7] 0.0023< 1 0.0023<
i Y Bk R %€ R 0.0043<v 1 0.0043>
T AAF L RO T 0.0013v 1 0.0013v
THEAREZE 8 Sy OV AR RE 25 37 0.6 0.6 0.6 06| 4 0.6
TR K ONEDEY 0.09 1 0.09
TR L OEDILEY 0.13vv 1 0.13vv
DU 35 AL B 0.000237 1] 0.00023%v
1,4— %Y 0.0053<Y 1 0.0053%Y
¢ ;\/;?1 ;ﬁj Jo. DZ?VA?/U 0.00437 1| 0.00430
A== ¥ % 0.0023<v 1 0.0023%
FhZ/unFL 0.0013~vv 1 0.0013v>
N ZanTzF1 0.0013%v 1 0.0013%
Ny B 0.0013%> 1 0.0013%
WKk DL a4 0.013<v 1 0.013<v
TNAR=Y LR OZDILEY 0.023v 1 0.023v>
g OZEDILED 0.01 1 0.01
R OZEOLED 0.013v 1 0.013v
TR LR DZEDILE 12 1 12
<~ B OZEDILE Y 0.0013~vv 1 0.0013v>
w1 A 6 6 6 6| 4 6
VRN &/ VN (T Y9 35 32 34 32| 4 35 32 33
RBEBHREY 157 153 153 146 | 4 157 146 152
& A A R TGP 0.023v 1 0.023v
A AIv 0.0000013< 1 10.0000013%>
2= AFNAVRILFA— L 0.00000137 1 10.0000013<>
AL F TS A 0.0053< 1 0.0053%
7=/ — VH 0.00053< 1| 0.00053%v
A (AR FR(TOC)D ) 0.23vv 0.23%v 0.23%v 0.23vv | 4 0.23%v
pH f& 7.2 7.2 7.2 7.1 4 7.2 7.1 7.2
BOK Rl L L L 4
FE S 0.53vv 0.53vv 0.53vv 0.53vv 4 0.53vv
w o 0.13%v 0.13%v 0.13%v 013w | 4 0.13%v
W OBE R OER 7 6 5 5| 4 7 5 6
JE R (7T a3 -1.8 -1.8 -1.8 -1.9| 4 -1.8 -1.9 -1.8
KR 20.5 21.0 21.1 180 4 21.1 18.0 20.2
W7o hY R 43 45 43 43| 4 45 43 44
WO 8 7 6 6| 4 8 6 7
12 & M b B R R 6 5 5 5| 4 6 5 5
Vo AN T 19 17 17 19 4 19 17 18
WM A 77 1 77
TUE=T RS 0.023<v 0.023<v 0.023<v 0.023xv | 4 0.023wy
ER AR 126 123 120 122 4 126 120 123
SRR EE (E260) 0.002 0.002 0.002 0.002| 4 0.002
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FRIEHEAK 7 7K KR HE
AR A 4R 7 104 14
B 19 2 18 1 EE{ . e A% T
— & A OB INe% 2 N 13ev | 4 2 132y 132y
N 1.03vv 1.03vv 1.03vv LO3vv | 4 1.03vv
IR LR RZEDIEY 0.00033< 1] 0.00033%~
KERF P DILEY 0.000053<> 1| 0.0000537
TR OZEDILED 0.0013<v 1 0.0013v
DAY 0.0013< 1 0.0013<
=Y O 0.00137Y 1 0.0013v>
AV A= 2y 0.0023v 1 0.00237
i A 2 e % R 0.0043<v 1 0.0043<
T AAF L RO T 0.0013v 1 0.0013v
THEAREZE 8 Sy OV AR RE 25 37 3.3 3.2 3.3 3.3 4 3.3 3.2 3.3
ToFZ M OEDLEY 0.083%Y 1 0.083<y
TR L OEDILEY 0.13vv 1 0.13vv
(= o 0.000237 1] 0.00023%v
1,4— %Y 0.00537 1 0.0053<
¢ ;\/;i ;ﬁj Jo. D%IV;VA?/U 0.0043¢Y 1| 0.00430v
/A== 0.0023<v 1 0.0023%
FhZ/unFL 0.0013~vv 1 0.0013v>
N ZanTzF1 0.0013%v 1 0.0013%
Ny B 0.0013<v 1 0.0013<Y
WKk DL a4 0.013<v 1 0.013<v
TNAR=Y LR OZDILEY 0.023% 1 0.023<v
g OZEDILED 0.013<v 1 0.013<v
R OZEOLED 0.013=Y 1 0.013<v
TR LR DZEDILE 14 1 14
<~ B OZEDILE Y 0.0013%» 1 0.0013vv
Wik A4 15 15 15 15 4 15
VRN &/ VN (T Y9 66 66 66 67 4 67 66 66
RBEBHREY 203 214 219 202 4 219 202 210
R A A S IE A 0.023%v 1 0.023vv
VA AIV 0.0000013< 1 10.0000013%>
2— AF A VRV FA— )L 0.00000137 1 10.0000013<>
AL F TS A 0.0053< 1 0.0053%
7=/ — VH 0.00053< 1| 0.00053%v
A (AR FR(TOC)D ) 0.23vv 0.23%v 0.23%v 0.23vv | 4 0.23%v
pH f& 6.7 6.7 6.7 6.8 4 6.8 6.7 6.7
BOK Rl L L L 4
FE S 0.53vv 0.53vv 0.53vv 0.53vv 4 0.53vv
WwoE 0.13%v 0.13%v 0.13%v 013w | 4 0.13%v
W OBE R OER 21 21 23 22| 4 23 21 22
JE R (7T a3 -1.9 -1.9 -1.9 -1.8| 4 -1.8 -1.9 -1.9
KR 19.1 18.9 18.7 184 4 19.1 18.4 18.8
Wby 52 54 52 53] 4 54 52 53
WO 24 24 26 25 4 26 24 25
12 £ o 3 HE e R 19 19 21 20| 4 21 19 20
VAN S 39 40 40 40| 4 40 39 40
WM A 81 1 81
TUE=T RS 0.023<v 0.023<v 0.023<v 0.023xv | 4 0.023wy
ER AR 221 215 214 215 4 221 214 216
SRR EE (E260) 0.002 0.002 0.002 0.002| 4 0.002
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RFEHEAK 8 {E R
AR A 4R 7 104 14
B 19 2 18 11 EE . B A% DA
— & MO 13wy 3%V 3%V 13vv | 4 N
Nl 1.03vv 1.03vv 1.03vv 1.03vv 4 1.03vv
HRIT LR OZEDLEY 0.00033< 1] 0.00033%~
KERF P DILEY 0.000053<> 1| 0.0000537
TLU R OFEDILAY 0.0013<v 1 0.0013%>
DAY 0.0013< 1 0.0013<
=Y O 0.003 1 0.003
VaViVA=RN(A=x7] 0.0023< 1 0.0023<
i Y Bk R %€ R 0.0043<v 1 0.0043>
T AAF L RO T 0.0013v 1 0.0013v
THEAREZE 8 Sy OV AR RE 25 37 1.5 1.7 1.6 1.6 4 1.7 1.5 1.6
TR K ONEDEY 0.11 1 0.11
TR L OEDILEY 0.13vv 1 0.13vv
DU 35 AL B 0.000237 1] 0.00023%v
1,4— %Y 0.0053<Y 1 0.0053%Y
¢ ;\/;?1 ;ﬁj Jo. DZ?VA?/U 0.00437 1| 0.00430
A== ¥ % 0.0023<v 1 0.0023%
FhZ/unFL 0.0013~vv 1 0.0013v>
N ZanTzF1 0.0013%v 1 0.0013%
Ny B 0.0013%> 1 0.0013%
WKk DL a4 0.013<v 1 0.013<v
TNAR=Y LR OZDILEY 0.023% 1 0.023<v
g OZEDILED 0.013<v 1 0.013<v
R OZEOLED 0.013=Y 1 0.013<v
TR LR DZEDILE 16 1 16
<~ B OZEDILE Y 0.0013%» 1 0.0013vv
Wik A4 13 13 13 12 4 13 12 13
VRN &/ VN (T Y9 47 49 48 48 4 49 47 48
KIEEEWY 180 166 188 168 4 188 166 176
& A A R TGP 0.023v 1 0.023v
A AIv 0.0000013< 1 10.0000013%>
2= AFNAVRILFA— L 0.00000137 1 10.0000013<>
AL F TS A 0.0053< 1 0.0053%
7=/ — VH 0.00053< 1| 0.00053%v
A (AR FR(TOC)D ) 0.23vv 0.23%v 0.23%v 0.23vv | 4 0.23%v
pH f& 7.0 6.9 6.9 7.0 4 7.0 6.9 7.0
BOK Rl L L L 4
FE S 0.53vv 0.53vv 0.53vv 0.53vv 4 0.53vv
w o 0.13%v 0.13%v 0.13%v 013w | 4 0.13%v
W OBE R OER 10 12 11 1| 4 12 10 11
JE R (7T a3 -1.8 -1.9 -1.9 -1.8| 4 -1.8 -1.9 -1.8
KR 19.7 19.4 19.5 193 4 19.7 19.3 19.5
Wby 46 47 47 46| 4 47 46 46
WO 11 14 13 12 4 14 11 12
12 £ o 3 HE e R 9 11 10 10 4 11 9 10
VAN S 26 27 26 26| 4 27 26 26
WM A 70 1 70
TUE=T RS 0.023<v 0.023<v 0.023<v 0.023xv | 4 0.023wy
ER AR 184 183 182 179 4 184 179 182
SRR EE (E260) 0.002 0.003 0.002 0.002| 4 0.003 0.002 0.002
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RFEHEAK 9 18 B /KR HE
AR A 4R 7 104 14
B 19 2 18 1 EE{ . e A% T
— & A OB INe% 1 N 13ev | 4 1 132y 132y
N 1.03vv 1.03vv 1.03vv LO3vv | 4 1.03vv
IR LR RZEDIEY 0.00033< 1] 0.00033%~
KERF P DILEY 0.000053<> 1| 0.0000537
TR OZEDILED 0.0013<v 1 0.0013v
DAY 0.0013< 1 0.0013<
=Y O 0.00137Y 1 0.0013<
AV A= 2y 0.0023v 1 0.00237
i A 2 e % R 0.0043<v 1 0.0043<
T AAF L RO T 0.0013v 1 0.0013v
THEAREZE 8 Sy OV AR RE 25 37 2.9 2.7 2.8 28| 4 2.9 2.7 2.8
TR K ONEDEY 0.09 1 0.09
TR L OEDILEY 0.13vv 1 0.13vv
(= o 0.000237 1] 0.00023%v
1,4— %Y 0.00537 1 0.0053<
¢ ;\/;i ;ﬁj Jo. D%IV;VA?/U 0.0043¢Y 1| 0.00430v
A== ¥ % 0.0023<v 1 0.0023%
FhZ/unFL 0.0013~vv 1 0.0013v>
N ZanTzF1 0.0013%v 1 0.0013%
Ny B 0.0013<v 1 0.0013<Y
WKk DL a4 0.013<v 1 0.013<v
TNAR=Y LR OZDILEY 0.023% 1 0.023<v
g OZEDILED 0.013<v 1 0.013<v
R OZEOLED 0.013=Y 1 0.013<v
TR LR DZEDILE 14 1 14
<~ B OZEDILE Y 0.0013%» 1 0.0013vv
Wik A4 14 13 13 14 4 14 13 14
VRN &/ VN (T Y9 64 61 62 63| 4 64 61 62
KIEEEWY 188 203 199 196 | 4 203 188 196
R A A S IE A 0.023%v 1 0.023vv
VA AIV 0.0000013< 1 10.0000013%>
2— AF A VRV FA— )L 0.00000137 1 10.0000013<>
AL F TS A 0.0053< 1 0.0053%
7=/ — VH 0.00053< 1| 0.00053%v
A (AR FR(TOC)D ) 0.23vv 0.23%v 0.23%v 0.23vv | 4 0.23%v
pH f& 6.8 6.8 6.7 6.9 4 6.9 6.7 6.8
BOK Rl L L L 4
FE S 0.53vv 0.53vv 0.53vv 0.53vv 4 0.53vv
WwoE 0.13%v 0.13%v 0.13%v 013w | 4 0.13%v
W OBE R OER 18 18 20 15| 4 20 15 18
JE R (7T a3 -1.8 -1.8 -1.9 -1.7] 4 -1.7 -1.9 -1.8
KR 19.0 18.8 18.8 186 4 19.0 18.6 18.8
Wby 53 53 52 53] 4 53 52 53
WO 20 20 23 17| 4 23 17 20
12 £ o 3 HE e R 16 16 18 13 4 18 13 16
VAN S 41 38 39 39| 4 41 38 39
WM A 72 1 72
TUE=T RS 0.023<v 0.023<v 0.023<v 0.023xv | 4 0.023wy
ER AR 216 206 200 210 4 216 200 208
SRR EE (E260) 0.003 0.003 0.003 0.002| 4 0.003 0.002 0.003
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ARIFEHIFEAK 10 H 2 KPR e
AR A 4R 7 104 14
B 19 2 18 1 EE{ . e A% 1
— & A OB INe% N 2 13ev | 4 2 132y 132y
Nl 1.03vv 1.03vv 1.03vv 1.03vv 4 1.03vv
HRIT LR OZEDLEY 0.00033< 1] 0.00033%~
KERF P DILEY 0.000053<> 1| 0.0000537
TLU R OFEDILAY 0.0013<v 1 0.0013%>
DAY 0.0013< 1 0.0013<
=Y O 0.002 1 0.002
VaViVA=RN(A=x7] 0.0023< 1 0.0023<
i Y Bk R %€ R 0.0043<v 1 0.0043>
T AAF L RO T 0.0013v 1 0.0013v
THEAREZE 8 Sy OV AR RE 25 37 2.3 2.3 2.3 23| 4 2.3
ToFZ M OEDLEY 0.083%Y 1 0.083<y
TR L OEDILEY 0.13vv 1 0.13vv
DU 35 AL B 0.000237 1] 0.00023%v
1,4— %Y 0.0053<Y 1 0.0053%Y
¢ ;\/;?1 ;ﬁj Jo. DZ?VA?/U 0.00437 1| 0.00430
A== ¥ % 0.0023<v 1 0.0023%
FhZ/unFL 0.0013~vv 1 0.0013v>
N ZanTzF1 0.0013%v 1 0.0013%
Ny B 0.0013%> 1 0.0013%
WKk DL a4 0.013<v 1 0.013<v
TNAR=Y LR OZDILEY 0.023% 1 0.023<v
g OZEDILED 0.01 1 0.01
R OZEOLED 0.013=Y 1 0.013<v
TR LR DZEDILE 11 1 11
~UH R OEDALEY 0.005 1 0.005
Wik A4 10 10 10 10 4 10
VRN &/ VN (T Y9 50 50 51 51 4 51 50 50
KIEEEWY 172 187 170 168 4 187 168 174
& A A R TGP 0.023v 1 0.023v
A AIv 0.0000013< 1 10.0000013%>
2= AFNAVRILFA— L 0.00000137 1 10.0000013<>
AL F TS A 0.0053< 1 0.0053%
7=/ — VH 0.00053< 1| 0.00053%v
A (AR FR(TOC)D ) 0.23vv 0.23%v 0.23%v 0.23vv | 4 0.23%v
pH f& 7.0 6.8 7.0 6.8 4 7.0 6.8 6.9
BOK Rl L L L 4
FE S 0.53vv 0.53vv 0.53vv 0.53vv 4 0.53vv
w o 0.13%v 0.13%v 0.13%v 013w | 4 0.13%v
W OBE R OER 10 12 10 1| 4 12 10 11
JE R (7T a3 -1.8 -2.0 -1.8 -2.0| 4 -1.8 -2.0 -1.9
KR 19.5 20.0 19.5 192 4 20.0 19.2 19.6
Wby 46 47 47 47 4 47 46 47
WO 11 14 11 12 4 14 11 12
12 & M b B R R 9 11 9 10| 4 11 9 10
VAN S 29 30 31 29| 4 31 29 30
WM A 82 1 82
TUE=T RS 0.023<v 0.023<v 0.023<v 0.023xv | 4 0.023wy
ER AR 168 168 168 169 4 169 168 168
SRR EE (E260) 0.003 0.003 0.002 0.001| 4 0.003 0.001 0.002
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ARTEHEAR 11 BTRBTEAKIR H
AR A 4R 7 104 14
B 19 2 18 1 EE{ . e A% T
— & A OB 1 N 2 13ev | 4 2 132y 132y
N 1.03vv 1.03vv 1.03vv LO3vv | 4 1.03vv
IR LR RZEDIEY 0.00033< 1] 0.00033%~
KERF P DILEY 0.000053<> 1| 0.0000537
TR OZEDILED 0.0013<v 1 0.0013v
DAY 0.0013< 1 0.0013<
=Y O 0.00137Y 1 0.0013<
AV A= 2y 0.0023v 1 0.00237
i A 2 e % R 0.0043<v 1 0.0043<
T AAF L RO T 0.0013v 1 0.0013v
THEAREZE 8 Sy OV AR RE 25 37 6.6 6.5 6.6 6.5 4 6.6 6.5 6.6
ToFZ M OEDLEY 0.083%Y 1 0.083<y
TR L OEDILEY 0.13vv 1 0.13vv
(= o 0.000237 1] 0.00023%v
1,4— %Y 0.00537 1 0.0053<
¢ ;\/;i ;ﬁj Jo. D%IV;VA?/U 0.00437 1| 0.00430
A== ¥ % 0.0023<v 1 0.0023%
FhZ/unFL 0.0013~vv 1 0.0013v>
N ZanTzF1 0.0013%v 1 0.0013%
Ny B 0.0013<v 1 0.0013<Y
WKk DL a4 0.013<v 1 0.013<v
TNAR=Y LR OZDILEY 0.023% 1 0.023<v
g OZEDILED 0.013<v 1 0.013<v
R OZEOLED 0.013=Y 1 0.013<v
TR LR DZEDILE 20 1 20
<~ B OZEDILE Y 0.0013%» 1 0.0013vv
Wik A4 23 23 23 23 4 23
VRN &/ VN (T Y9 82 81 81 81| 4 82 81 81
RBEBHREY 254 276 241 263 4 276 241 258
R A A S IE A 0.023%v 1 0.023vv
VA AIV 0.0000013< 1 10.0000013%>
2— AF A VRV FA— )L 0.00000137 1 10.0000013<>
AL F TS A 0.0053< 1 0.0053%
7=/ — VH 0.00053< 1| 0.00053%v
A (AR FR(TOC)D ) 0.23vv 0.23%v 0.23%v 0.23vv | 4 0.23%v
pH f& 6.6 6.5 6.7 6.7 4 6.7 6.5 6.6
BOK Rl L L L 4
FE S 0.53vv 0.53vv 0.53vv 0.53vv 4 0.53vv
WwoE 0.13%v 0.13%v 0.13%v 013w | 4 0.13%v
W OBE R OER 26 29 28 26 4 29 26 27
JE R (7T a3 -1.8 -2.0 -1.8 -1.8| 4 -1.8 -2.0 -1.8
KR 19.7 19.9 19.7 197 4 19.9 19.7 19.8
Wby 58 57 55 55| 4 58 55 56
WO 30 33 32 30 4 33 30 31
12 £ o 3 HE e R 23 26 25 24| 4 26 23 24
VAN S 54 53 54 51| 4 54 51 53
WM A 83 1 83
TUE=T RS 0.023<v 0.023<v 0.023<v 0.023xv | 4 0.023wy
ER AR 285 285 282 283 4 285 282 284
SRR EE (E260) 0.003 0.003 0.002 0.002| 4 0.003 0.002 0.002
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ARIEHFEAK 12 KT
AR A 4R 7 104 14
B 19 26 18 11 EE . e A% 8
— & MO 13wy 3%V 3%V 13vv | 4 N
Nl 1.03vv 1.03vv 1.03vv 1.03vv 4 1.03vv
HRIT LR OZEDLEY 0.00033< 1] 0.00033%~
KERF P DILEY 0.000053<> 1| 0.0000537
TLU R OFEDILAY 0.0013<v 1 0.0013%>
DAY 0.0013< 1 0.0013<
=Y O 0.006 0.006 0.006 0.006 | 4 0.006
VaViVA=RN(A=x7] 0.0023< 1 0.0023<
i Y Bk R %€ R 0.0043<v 1 0.0043>
T AAF L RO T 0.0013v 1 0.0013v
THEAREZE 8 Sy OV AR RE 25 37 0.6 0.7 0.6 06| 4 0.7 0.6 0.6
TR K ONEDEY 0.14 1 0.14
TR L OEDILEY 0.13vv 1 0.13vv
DU 35 AL B 0.000237 1] 0.00023%v
1,4— %Y 0.0053<Y 1 0.0053%Y
¢ ;\/;?1 ;ﬁj Jo. DZ?VA?/U 0.0043¢Y 1| 0.00430v
A== ¥ % 0.0023<v 1 0.0023%
FhZ/unFL 0.0013~vv 1 0.0013v>
N ZanTzF1 0.0013%v 1 0.0013%
Ny B 0.0013%> 1 0.0013%
WKk DL a4 0.013<v 1 0.013<v
TNAR=Y LR OZDILEY 0.023% 1 0.023<v
g OZEDILED 0.013<v 1 0.013<v
R OZEOLED 0.013=Y 1 0.013<v
TR LR DZEDILE 14 1 14
<~ B OZEDILE Y 0.0013%» 1 0.0013vv
w1 A 8 9 8 8| 4 9 8 8
VRN &/ VN (T Y9 32 32 32 33| 4 33 32 32
RBEBHREY 148 162 155 149 4 162 148 154
& A A R TGP 0.023v 1 0.023v
A AIv 0.0000013< 1 10.0000013%>
2= AFNAVRILFA— L 0.00000137 1 10.0000013<>
AL F TS A 0.0053< 1 0.0053%
7=/ — VH 0.00053< 1| 0.00053%v
A (AR FR(TOC)D ) 0.23vv 0.23%v 0.23%v 0.23vv | 4 0.23%v
pH f& 7.1 6.9 7.2 6.9 4 7.2 6.9 7.0
BOK Rl L L L 4
FE S 0.53vv 0.53vv 0.53vv 0.53vv 4 0.53vv
w o 0.13%v 0.13%v 0.13%v 013w | 4 0.13%v
W OBE R OER 5 7 6 6| 4 7 5 6
JE R (7T a3 -1.9 -2.1 -1.8 2.1 4 -1.8 -2.1 -2.0
KR 19.6 20.0 19.8 194 4 20.0 19.4 19.7
Wby 41 40 39 41 4 41 39 40
WO 6 8 7 7| 4 8 6 7
12 & M b B R R 5 6 6 6| 4 6 5 6
Vo AN T 21 21 22 20| 4 22 20 21
WM A 83 1 83
TUE=T RS 0.023<v 0.023<v 0.023<v 0.023xv | 4 0.023wy
ER AR 135 136 135 135 4 136 135 135
SRR EE (E260) 0.003 0.003 0.002 0.002| 4 0.003 0.002 0.002
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ARIEHFEAK 13 FIE KR
AR A 4R 7 104 14
B 19 2 18 1 EE{ . e A% T
— & MO 13wy 3%V 3%V 13vv | 4 N
N 1.03vv 1.03vv 1.03vv LO3vv | 4 1.03vv
HRIT LR OZEDLEY 0.00033< 1] 0.00033%~
KERF P DILEY 0.000053<> 1| 0.0000537
TLU R OFEDILAY 0.0013<v 1 0.0013%>
DAY 0.0013< 1 0.0013<
=Y O 0.002 1 0.002
AV A= 2y 0.0023v 1 0.00237
i A 2 e % R 0.0043<v 1 0.0043>
T AAF L RO T 0.0013v 1 0.0013v
THEAREZE 8 Sy OV AR RE 25 37 2.0 2.0 2.0 20 4 2.0
ToFZ M OEDLEY 0.083%Y 1 0.083<y
TR L OEDILEY 0.13vv 1 0.13vv
DU 35 AL B 0.000237 1] 0.00023%v
1,4— %Y 0.00537 1 0.0053%Y
¢ ;\/;i ;ﬁj Jo. D%IV;VA?/U 0.0043¢Y 1| 0.00430v
A== ¥ % 0.0023<v 1 0.0023%
FhZ/unFL 0.0013~vv 1 0.0013v>
N ZanTzF1 0.0013%v 1 0.0013%
Ny B 0.0013%> 1 0.0013%
WKk DL a4 0.013<v 1 0.013<v
TNAR=Y LR OZDILEY 0.023% 1 0.023<v
g OZEDILED 0.013<v 1 0.013<v
R OZEOLED 0.013=Y 1 0.013<v
TR LR DZEDILE 17 1 17
~UH R OEDALEY 0.001 1 0.001
Wik A4 15 15 15 15 4 15
VRN &/ VN (T Y9 63 62 62 64| 4 64 62 63
KIEEEWY 204 204 205 206 | 4 206 204 205
R A A S IE A 0.023%v 1 0.023vv
A AIv 0.0000013< 1 10.0000013%>
2— AF A VRV FA— )L 0.00000137 1 10.0000013<>
AL F TS A 0.0053< 1 0.0053%
7=/ — VH 0.00053< 1| 0.00053%v
A (AR FR(TOC)D ) 0.2 0.2 0.2 02| 4 0.2
pH f& 6.7 6.6 6.8 6.7 4 6.8 6.6 6.7
BOK Rl L L L 4
FE S 0.53vv 0.53vv 0.53vv 0.53vv 4 0.53vv
WwoE 0.13%v 0.13%v 0.13%v 013w | 4 0.13%v
W OBE R OER 24 25 23 25 4 25 23 24
JE R (7T a3 -1.9 -2.0 -1.8 -1.9| 4 -1.8 -2.0 -1.9
KR 19.6 19.8 19.6 195 4 19.8 19.5 19.6
Wby 56 56 55 56| 4 56 55 56
WO 27 28 26 28| 4 28 26 27
12 £ o 3 HE e R 21 22 20 22| 4 22 20 21
VAN S 40 38 39 38| 4 40 38 39
WM A 84 1 84
TUE=T RS 0.023<v 0.023<v 0.023<v 0.023xv | 4 0.023wy
ER AR 226 224 223 223 4 226 223 224
SRR EE (E260) 0.005 0.005 0.004 0.004 | 4 0.005 0.004 0.004
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KIFEHIEK 14 B KIEH
AR A 4R 7 104 14
B 19 2 18 1 EE{ . e A% T
— & MO 13wy 3%V 3%V 13vv | 4 N
N 1.03vv 1.03vv 1.03vv LO3vv | 4 1.03vv
IR LR RZEDIEY 0.00033< 1] 0.00033%~
KERF P DILEY 0.000053<> 1| 0.0000537
TR OZEDILED 0.00137Y 1 0.0013v
DAY 0.0013< 1 0.0013<
=Y O 0.00137Y 1 0.0013v>
AV A= 2y 0.0023v 1 0.00237
i A 2 e % R 0.0043< 1 0.0043<
T AN A T R T 0.0013v 1 0.0013v
THEAREZE 8 Sy OV AR RE 25 37 3.3 3.2 3.2 32| 4 3.3 3.2 3.2
ToFZ M OEDLEY 0.083%Y 1 0.083<y
TR L OEDILEY 0.13vv 1 0.13vv
(= o 0.000237 1] 0.00023%v
1,4— %Y 0.00537 1 0.0053<
¢ ;\/;i ;ﬁj Jo. D%IV;VA?/U 0.00437 1| 0.00430
/A== 0.0023<v 1 0.0023%
FhZ/unFL 0.0013~vv 1 0.0013v>
N ZanTzF1 0.0013%v 1 0.0013%
Ny B 0.0013<v 1 0.0013<Y
WKk DL a4 0.013<v 1 0.013<v
TNAR=Y LR OZDILEY 0.023% 1 0.023<v
g OZEDILED 0.013<v 1 0.013<v
R OZEOLED 0.013=Y 1 0.013<v
TR LR DZEDILE 14 1 14
<~ B OZEDILE Y 0.0013%» 1 0.0013vv
Wik A4 15 15 14 15 4 15 14 15
VRN &/ VN (T Y9 70 67 69 68| 4 70 67 68
RBEBHREY 204 204 196 203 4 204 196 202
R A A S IE A 0.023%v 1 0.023vv
VA AIV 0.0000013< 1 10.0000013%>
2— AF A VRV FA— )L 0.00000137 1 10.0000013<>
AL F TS A 0.0053< 1 0.0053%
7=/ — VH 0.00053< 1| 0.00053%v
A (AR FR(TOC)D ) 0.23vv 0.23%v 0.23%v 0.23vv | 4 0.23%v
pH f& 6.6 6.5 6.6 6.6 4 6.6 6.5 6.6
BOK Rl L L L 4
FE S 0.53vv 0.53vv 0.53vv 0.53vv 4 0.53vv
WwoE 0.13%v 0.13%v 0.13%v 013w | 4 0.13%v
W OBE R OER 28 31 33 26 4 33 26 30
JE R (7T a3 -1.9 -2.1 -2.0 -2.0| 4 -1.9 -2.1 -2.0
KR 18.7 18.9 18.6 185 4 18.9 18.5 18.7
Wby 57 56 55 57| 4 57 55 56
WO 32 35 37 29| 4 37 29 33
12 £ o 3 HE e R 25 27 29 23| 4 29 23 26
VAN S 44 43 44 41 4 44 41 43
WM A 80 1 80
TUE=T RS 0.023<v 0.023<v 0.023<v 0.023xv | 4 0.023wy
ER AR 226 226 225 226 | 4 226 225 226
SRR EE (E260) 0.003 0.003 0.002 0.002| 4 0.003 0.002 0.002
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ARIFEHFEAK 15 KR HE

AR A 4R 7 104 14
B 12 11 12 17 B e A% T8y
— & A OB 400 5 30 1| 4 400 110
K 1B 9.8 1.0 3.0 1.0 4 9.8 1.0 3.7
IR LR RZEDIEY 0.00033< 1] 0.00033%~
KERF P DILEY 0.000053<> 1| 0.0000537
TR OZEDILEY 0.0013<v 1 0.0013v
DAY 0.0013v 1 0.0013<
=Y O 0.0013<Y 1 0.0013<
AV A= 2y 0.0023< 1 0.00237
i A 2 e % R 0.0043<v 1 0.0043<
T AAF L RO T 0.0013v 1 0.0013v
THEAREZE 8 Sy OV AR RE 25 37 2.3 2.1 2.4 20 4 2.4 2.0 2.2
ToFZ M OEDLEY 0.083%Y 1 0.083<y
TR L OEDILEY 0.13vv 1 0.13vv
(= o 0.000237 1] 0.00023%v
1,4— %Y 0.00537 1 0.0053<
¢ ;\/;i ;ﬁj Jo. D%IV;VA?/U 0.00437 1| 0.00430
A== ¥ % 0.0023%v 1 0.0023%
FhZ/unFL 0.0013~vv 1 0.0013v>
N ZanTzF1 0.0013%v 1 0.0013%
Ny B 0.0013%> 1 0.0013<Y
WKk DL a4 0.013<v 1 0.013<v
TNAR=Y LR OZDILEY 0.023% 1 0.023<v
g OZEDILED 0.013<v 1 0.013<v
R OZEOLED 0.013=Y 1 0.013<v
TR LR DZEDILE 12 1 12
~UH R OEDALEY 0.0013<v 1 0.0013<
w1 A 9 8 10 9| 4 10 8 9
VRN &/ VN (T Y9 36 34 38 33| 4 38 33 35
RBEBHREY 121 117 128 114 4 128 114 120
R A A S IE A 0.023%v 1 0.023vv
VA AIV 0.0000013< 1 10.0000013%>
2— AF A VRV FA— )L 0.00000137 1 10.0000013<>
AL F TS A 0.0053< 1 0.0053%
7=/ — VH 0.00053< 1| 0.00053%v
A (AR FR(TOC)D ) 0.3 0.23vv 0.23%v 0.23vv | 4 0.3 0.23%v 0.23%v
pH f& 6.6 6.5 6.5 6.6 4 6.6 6.5 6.6
BOK Rl L L L 4
(= S 0.6 0.53v 0.53v 0.53vv | 4 0.6 0.53% 0.53v
WwoE 0.2 0.13%v 0.13%v 013w | 4 0.2 0.13%v 0.13%v
W OBE R OER 15 18 18 13| 4 18 13 16
JE R (7T a3 -2.5 -2.7 -2.6 26| 4 -2.5 -2.7 -2.6
KR 19.1 19.2 19.2 191 4 19.2 19.1 19.2
Wby 25 24 28 25| 4 28 24 26
WO 17 21 20 15 4 21 15 18
12 £ o 3 HE e R 14 18 17 13 4 18 13 16
VAN S 24 21 25 21| 4 25 21 23
WM A 45 1 45
TUE=T RS 0.023<v 0.023<v 0.023<v 0.023xv | 4 0.023wy
ER AR 137 128 148 134 4 148 128 137
SRR EE (E260) 0.006 0.003 0.003 0.003| 4 0.006 0.003 0.004
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REHFEAK 16 FIRE KR
AR A 4R 7 104 14
B 12 11 12 17 B e A% T8y
— & A OB INe% 1 N 13ev | 4 1 132y 132y
N 1.03vv 1.03vv 1.03vv LO3vv | 4 1.03vv
HRIT LR OZEDLEY 0.00033< 1] 0.00033%~
KERF P DILEY 0.000053<> 1| 0.0000537
TR OZEDILEY 0.0013<v 1 0.0013%>
DAY 0.0013v 1 0.0013<
=Y O 0.0013<Y 1 0.0013<
AV A= 2y 0.0023< 1 0.00237
i A 2 e % R 0.0043<v 1 0.0043>
T AAF L RO T 0.0013v 1 0.0013v
THEAREZE 8 Sy OV AR RE 25 37 2.3 1.7 1.7 20| 4 2.3 1.7 1.9
ToFZ M OEDLEY 0.083%Y 1 0.083<y
TR L OEDILEY 0.13vv 1 0.13vv
DU 35 AL B 0.000237 1] 0.00023%v
1,4— %Y 0.0053<v 1 0.0053%Y
¢ ;\/;i ;ﬁj Jo. D%IV;VA?/U 0.0043¢Y 1| 0.00430v
A== ¥ % 0.0023%v 1 0.0023%
FhZ/unFL 0.0013~vv 1 0.0013v>
N ZanTzF1 0.0013%v 1 0.0013%
Ny B 0.0013%> 1 0.0013%
WKk DL a4 0.013<v 1 0.013<v
TNAR=Y LR OZDILEY 0.023% 1 0.023<v
g OZEDILED 0.013<v 1 0.013<v
R OZEOLED 0.013=Y 1 0.013<v
TR LR DZEDILE 13 1 13
~UH R OEDALEY 0.0013%> 1 0.0013%
Wik A4 11 9 10 11 4 11 9 10
VRN &/ VN (T Y9 42 39 41 42 4 42 39 41
RBEBHREY 134 128 122 117 4 134 117 125
R A A S IE A 0.023%v 1 0.023vv
A AIv 0.0000013< 1 10.0000013%>
2— AF A VRV FA— )L 0.00000137 1 10.0000013<>
AL F TS A 0.0053< 1 0.0053%
7=/ — VH 0.00053< 1| 0.00053%v
A (AR FR(TOC)D ) 0.23vv 0.23%v 0.23%v 0.23vv | 4 0.23%v
pH f& 6.6 6.7 6.7 6.6 4 6.7 6.6 6.6
BOK Rl L L L 4
FE S 0.53vv 0.53vv 0.53vv 0.53vv 4 0.53vv
WwoE 0.13%v 0.13%v 0.13%v 013w | 4 0.13%v
W OBE R OER 11 13 14 0] 4 14 10 12
JE R (7T a3 -2.4 -2.3 -2.2 23| 4 -2.2 -2.4 -2.3
KR 17.9 19.0 19.5 189 4 19.5 17.9 18.8
Wby 31 33 34 33| 4 34 31 33
WO 12 15 16 11 4 16 11 14
12 & M b B R R 10 12 13 9| 4 13 9 11
VAN S 29 27 28 28| 4 29 27 28
WM A 38 1 38
TUE=T RS 0.023<v 0.023<v 0.023<v 0.023xv | 4 0.023wy
ER AR 155 142 151 154 4 155 142 150
SRR EE (E260) 0.004 0.002 0.002 0.001| 4 0.004 0.001 0.002
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ARIEHFEAK 17 FERR SF A UR HE

AR A 4R 7 104 14
B 12 11 12 17 B e A% T8y
— & A OB 3 2 2| 4 4 2 3
N 2.0 1.03vv 1.03vv 1.03vv 4 2.0 1.03vv 1.03vv
IR LR RZEDIEY 0.00033< 1] 0.00033%~
KERF P DILEY 0.000053<> 1| 0.0000537
TR OZEDILEY 0.0013<v 1 0.0013v
DAY 0.0013v 1 0.0013<
=Y O 0.0013<Y 1 0.0013<
AV A= 2y 0.0023< 1 0.00237
i A 2 e % R 0.0043<v 1 0.0043<
T AAF L RO T 0.0013v 1 0.0013v
THEAREZE 8 Sy OV AR RE 25 37 1.9 1.2 1.6 L7 4 1.9 1.2 1.6
ToFZ M OEDLEY 0.083%Y 1 0.083<y
TR L OEDILEY 0.13vv 1 0.13vv
DU 35 AL B 0.000237 1] 0.00023%v
1,4— %Y 0.0053<v 1 0.0053<
¢ ;\/;i ;ﬁj Jo. D%IV;VA?/U 0.00437 1| 0.00430
A== ¥ % 0.0023%v 1 0.0023%
FhZ/unFL 0.0013~vv 1 0.0013v>
N ZanTzF1 0.0013%v 1 0.0013%
Ny B 0.0013%> 1 0.0013<Y
WKk DL a4 0.013<v 1 0.013<v
TNAR=Y LR OZDILEY 0.023% 1 0.023<v
g OZEDILED 0.013<v 1 0.013<v
R OZEOLED 0.013=Y 1 0.013<v
TR LR DZEDILE 13 1 13
~UH R OEDALEY 0.0013%> 1 0.0013<
w1 A 9 8 9 9| 4 9 8 9
VRN &/ VN (T Y9 44 39 51 46 [ 4 51 39 45
RBEBHREY 144 126 145 124 4 145 124 135
R A A S IE A 0.023%v 1 0.023vv
VA AIV 0.0000013< 1 10.0000013%>
2— AF A VRV FA— )L 0.00000137 1 10.0000013<>
AL F TS A 0.0053< 1 0.0053%
7=/ — VH 0.00053< 1| 0.00053%v
A (AR FR(TOC)D ) 0.2 0.23vv 0.23%v 02| 4 0.2 0.23%v 0.23%v
pH f& 6.6 6.5 6.5 6.5 4 6.6 6.5 6.5
BOK Rl L L L 4
FE S 0.53vv 0.53vv 0.53vv 0.53vv 4 0.53vv
WwoE 0.13%v 0.13%v 0.13%v 013w | 4 0.13%v
W OBE R OER 20 23 27 19| 4 27 19 22
JE R (7T a3 -2.2 -2.5 -2.2 24| 4 -2.2 -2.5 -2.3
KR 18.3 18.3 18.7 182 4 18.7 18.2 18.4
Wby 40 34 45 40| 4 45 34 40
WO 23 26 31 22 4 31 22 26
12 £ o 3 HE e R 19 21 25 18 4 25 18 21
VAN S 30 25 35 29| 4 35 25 30
WM A 46 1 46
TUE=T RS 0.023<v 0.023<v 0.023<v 0.023xv | 4 0.023wy
ER AR 157 135 173 155 4 173 135 155
SRR EE (E260) 0.008 0.004 0.004 0.003| 4 0.008 0.003 0.005
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ARIEHFEAK 18 Fr B R KR B

AR A 4R 7 104 14
B 19 2 18 1 EE{ . e A% T
— & A OB 2 1 6 3wy | 4 6 IR 2
N 1.03vv 1.03vv 1.03vv LO3vv | 4 1.03vv
HRIT LR OZEDLEY 0.00033< 1] 0.00033%~
KERF P DILEY 0.000053<> 1| 0.0000537
TLU R OFEDILAY 0.0013<v 1 0.0013%>
DAY 0.0013< 1 0.0013<
=Y O 0.00137Y 1 0.0013<
AV A= 2y 0.0023v 1 0.00237
i A 2 e % R 0.0043<v 1 0.0043>
T AAF L RO T 0.0013v 1 0.0013v
THEAREZE 8 Sy OV AR RE 25 37 1.6 1.4 1.7 L7 4 1.7 1.4 1.6
ToFZ M OEDLEY 0.083%Y 1 0.083<y
TR L OEDILEY 0.13vv 1 0.13vv
DU 35 AL B 0.000237 1] 0.00023%v
1,4— %Y 0.00537 1 0.0053%Y
¢ ;\/;i ;ﬁj Jo. D%IV;VA?/U 0.00437 1| 0.00430
A== ¥ % 0.0023<v 1 0.0023%
FhZ/unFL 0.0013~vv 1 0.0013v>
N ZanTzF1 0.0013%v 1 0.0013%
Ny B 0.0013%> 1 0.0013%
WKk DL a4 0.013<v 1 0.013<v
TNAR=Y LR OZDILEY 0.023% 1 0.023<v
g OZEDILED 0.013<v 1 0.013<v
R OZEOLED 0.013=Y 1 0.013<v
TR LR DZEDILE 9 1 9
<~ B OZEDILE Y 0.0013%» 1 0.0013vv
w1 A 8 7 7 7| 4 8 7 7
VRN &/ VN (T Y9 38 32 37 39 4 39 32 36
RBEBHREY 130 112 126 132 4 132 112 125
R A A S IE A 0.023%v 1 0.023vv
A AIv 0.0000013< 1 10.0000013%>
2— AF A VRV FA— )L 0.00000137 1 10.0000013<>
AL F TS A 0.0053< 1 0.0053%
7=/ — VH 0.00053< 1| 0.00053%v
A (AR FR(TOC)D ) 0.23vv 0.23%v 0.23%v 0.23vv | 4 0.23%v
pH f& 6.7 6.4 6.6 6.5 4 6.7 6.4 6.6
BOK Rl L L L 4
FE S 0.53vv 0.53vv 0.53vv 0.53vv 4 0.53vv
WwoE 0.13%v 0.13%v 0.1 013w | 4 0.1 0.13%v 0.13%v
W OBE R OER 13 20 18 18] 4 20 13 17
JE R (7T a3 -2.3 -2.7 -2.4 25| 4 -2.3 -2.7 -2.5
KR 18.5 18.7 18.7 182 4 18.7 18.2 18.5
Wby 34 30 33 35 4 35 30 33
WO 15 23 21 20| 4 23 15 20
12 £ o 3 HE e R 12 19 17 16| 4 19 12 16
VAN S 25 23 27 26| 4 27 23 25
WM A 55 1 55
TUE=T RS 0.023<v 0.023<v 0.023<v 0.023xv | 4 0.023wy
ER AR 136 123 133 40| 4 140 123 133
SRR EE (E260) 0.004 0.004 0.003 0.002| 4 0.004 0.002 0.003
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ARIEHFEAK 19 T IR SE/K IR HE
AR A 4R 7 104 14
B 12 1 12 17 EE{ . e A% T
— & A OB 30 6 6 16| 4 30 6 14
K 1B 9.5 1.03=v 1.0 51 4 9.5 1.03=v 3.9
HRIT LR OZEDLEY 0.00033< 1] 0.00033%~
KERF P DILEY 0.000053<> 1| 0.0000537
TR OZEDILEY 0.0013<v 1 0.0013%>
DAY 0.0013v 1 0.0013<
=Y O 0.0013<Y 1 0.0013<
AV A= 2y 0.0023< 1 0.00237
i A 2 e % R 0.0043<v 1 0.0043>
T AAF L RO T 0.0013v 1 0.0013v
THEAREZE 8 Sy OV AR RE 25 37 2.9 2.2 2.9 271 4 2.9 2.2 2.7
ToFZ M OEDLEY 0.083%Y 1 0.083<y
TR L OEDILEY 0.13vv 1 0.13vv
DU 35 AL B 0.000237 1] 0.00023%v
1,4— %Y 0.0053<v 1 0.0053%Y
¢ ;\/;i ;ﬁj Jo. D%IV;VA?/U 0.00437 1| 0.00430
A== ¥ % 0.0023%v 1 0.0023%
FhZ/unFL 0.0013~vv 1 0.0013v>
N ZanTzF1 0.0013%v 1 0.0013%
Ny B 0.0013%> 1 0.0013%
WKk DL a4 0.013<v 1 0.013<v
TNAR=Y LR OZDILEY 0.023% 1 0.023<v
g OZEDILED 0.013<v 1 0.013<v
R OZEOLED 0.013=Y 1 0.013<v
TR LR DZEDILE 14 1 14
~UH R OEDALEY 0.0013%> 1 0.0013%
Wik A4 10 9 10 10 4 10 9 10
VRN &/ VN (T Y9 51 42 50 49 4 51 42 48
RBEBHREY 157 128 154 142 4 157 128 145
R A A S IE A 0.023%v 1 0.023vv
A AIv 0.0000013< 1 10.0000013%>
2— AF A VRV FA— )L 0.00000137 1 10.0000013<>
AL F TS A 0.0053< 1 0.0053%
7=/ — VH 0.00053< 1| 0.00053%v
A (AR FR(TOC)D ) 0.23vv 0.23%v 0.23%v 0.23vv | 4 0.23%v
pH f& 6.4 6.4 6.4 6.4 4 6.4
BOK Rl L L L 4
FE S 0.53vv 0.53vv 0.53vv 0.53vv 4 0.53vv
WwoE 0.13%v 0.13%v 0.13%v 013w | 4 0.13%v
W OBE R OER 31 26 32 21 4 32 21 28
JE R (7T a3 -2.4 -2.6 -2.4 25| 4 -2.4 -2.6 -2.5
KR 19.3 20.0 19.5 193 4 20.0 19.3 19.5
Wby 36 31 36 36| 4 36 31 35
WO 35 30 36 24| 4 36 24 31
12 £ o 3 HE e R 28 25 29 20| 4 29 20 26
VAN S 34 27 33 31| 4 34 27 31
WM A 47 1 47
TUE=T RS 0.023<v 0.023<v 0.023<v 0.023xv | 4 0.023wy
ER AR 183 150 179 174 4 183 150 172
SRR EE (E260) 0.002 0.004 0.003 0.003| 4 0.004 0.002 0.003
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ARIFEHFEAK 20 R H K
AR A 4R 7 104 14
B 12 1 12 17 EE{ . e A% T
— & A OB 1 2 4 41 4 4 1 3
N 1.03vv 1.03vv 1.03vv LO3vv | 4 1.03vv
IR LR RZEDIEY 0.00033< 1] 0.00033%~
KERF P DILEY 0.000053<> 1| 0.0000537
TR OZEDILEY 0.0013<v 1 0.0013v
DAY 0.0013v 1 0.0013<
=Y O 0.0013<Y 1 0.0013v>
AV A= 2y 0.0023< 1 0.00237
i A 2 e % R 0.0043<v 1 0.0043<
T AAF L RO T 0.0013v 1 0.0013v
THEAREZE 8 Sy OV AR RE 25 37 4.4 2.8 3.8 40| 4 4.4 2.8 3.8
ToFZ M OEDLEY 0.083%Y 1 0.083<y
TR L OEDILEY 0.13vv 1 0.13vv
(= o 0.000237 1] 0.00023%v
1,4— %Y 0.00537 1 0.0053<
¢ ;\/;i ;ﬁj Jo. D%IV;VA?/U 0.0043¢Y 1| 0.00430v
/A== 0.0023%v 1 0.0023%
FhZ/unFL 0.0013~vv 1 0.0013v>
N ZanTzF1 0.0013%v 1 0.0013%
Ny B 0.0013vv 1 0.0013<Y
WKk DL a4 0.013<v 1 0.013<v
TNAR=Y LR OZDILEY 0.023% 1 0.023<v
g OZEDILED 0.013<v 1 0.013<v
R OZEOLED 0.013=Y 1 0.013<v
TR LR DZEDILE 16 1 16
~UH R OEDALEY 0.0013<v 1 0.0013<
Wik A4 13 10 12 12 4 13 10 12
VRN &/ VN (T Y9 59 48 56 57| 4 59 48 55
RBEBHREY 191 150 175 169 4 191 150 171
B A A S A 0.023vv 1 0.023vv
VA AIV 0.0000013< 1 10.0000013%>
2— AF A VRV FA— )L 0.00000137 1 10.0000013<>
AL F TS A 0.0053< 1 0.0053%
7=/ — VH 0.00053< 1| 0.00053%v
A (AR FR(TOC)D ) 0.23vv 0.23%v 0.23%v 0.23vv | 4 0.23%v
pH f& 6.4 6.4 6.4 6.5 4 6.5 6.4 6.4
BOK Rl L L L 4
FE S 0.53vv 0.53vv 0.53vv 0.53vv 4 0.53vv
WwoE 0.13%v 0.13%v 0.13%v 013w | 4 0.13%v
W OBE R OER 26 32 37 25 4 37 25 30
JE R (7T a3 -2.3 -2.5 -2.3 22| 4 -2.2 -2.5 -2.3
KR 19.7 19.7 19.8 194 4 19.8 19.4 19.6
Wby 41 34 41 42/ 4 42 34 40
WO 30 36 42 28| 4 42 28 34
12 £ o 3 HE e R 24 29 33 23| 4 33 23 27
VAN S 39 31 37 36| 4 39 31 36
WM A 52 1 52
TUE=T RS 0.023<v 0.023<v 0.023<v 0.023xv | 4 0.023wy
ER AR 215 172 206 210 4 215 172 201
SRR EE (E260) 0.002 0.004 0.003 0.003| 4 0.004 0.002 0.003
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RFEHEAK 21 BEKIEH

AR A 4R 7 104 14
B 12 11 12 17 B e A% T8y
— & A OB 45 4 3 6| 4 45 3 14
N 4.1 1.03vv 1.03vv 1.03vv 4 4.1 1.03vv 1.0
HRIT LR OZEDLEY 0.00033< 1] 0.00033%~
KERF P DILEY 0.000053<> 1| 0.0000537
TR OZEDILEY 0.0013<v 1 0.0013%>
DAY 0.0013v 1 0.0013<
=Y O 0.0013<Y 1 0.0013<
AV A= 2y 0.0023< 1 0.00237
i A 2 e % R 0.0043<v 1 0.0043>
T AAF L RO T 0.0013v 1 0.0013v
THEAREZE 8 Sy OV AR RE 25 37 1.8 1.3 1.6 1.6 4 1.8 1.3 1.6
ToFZ M OEDLEY 0.083%Y 1 0.083<y
TR L OEDILEY 0.13vv 1 0.13vv
DU 35 AL B 0.000237 1] 0.00023%v
1,4— %Y 0.0053<v 1 0.0053%Y
¢ ;\/;i ;ﬁj Jo. D%IV;VA?/U 0.00437 1| 0.00430
A== ¥ % 0.0023%v 1 0.0023%
FhZ/unFL 0.0013~vv 1 0.0013v>
N ZanTzF1 0.0013%v 1 0.0013%
Ny B 0.0013%> 1 0.0013%
WKk DL a4 0.013<v 1 0.013<v
TNAR=Y LR OZDILEY 0.023% 1 0.023<v
g OZEDILED 0.013<v 1 0.013<v
R OZEOLED 0.013=Y 1 0.013<v
TR LR DZEDILE 12 1 12
~UH R OEDALEY 0.0013%> 1 0.0013%
w1 A 8 8 8 8| 4 8
VRN &/ VN (T Y9 40 33 42 38| 4 42 33 38
RBEBHREY 133 117 129 129 4 133 117 127
R A A S IE A 0.023%v 1 0.023vv
A AIv 0.0000013< 1 10.0000013%>
2— AF A VRV FA— )L 0.00000137 1 10.0000013<>
AL F TS A 0.0053< 1 0.0053%
7=/ — VH 0.00053< 1| 0.00053%v
A (AR FR(TOC)D ) 0.3 0.23vv 0.23%v 0.23vv | 4 0.3 0.23%v 0.23%v
pH f& 6.6 6.5 6.6 6.6 4 6.6 6.5 6.6
BOK Rl L L L 4
FE S 0.53vv 0.53vv 0.53vv 0.53vv 4 0.53vv
w o 0.13%v 0.13%v 0.13%v 013w | 4 0.13%v
W OBE R OER 18 19 23 17| 4 23 17 19
JE R (7T a3 -2.3 -2.6 -2.3 24| 4 -2.3 -2.6 -2.4
KR 18.3 18.2 18.4 182 4 18.4 18.2 18.3
Wby 36 28 36 34| 4 36 28 34
WO 20 22 26 19| 4 26 19 22
12 £ o 3 HE e R 16 18 21 16| 4 21 16 18
VAN S 28 21 28 25| 4 28 21 26
WM A 46 1 46
TUE=T RS 0.023<v 0.023<v 0.023<v 0.023xv | 4 0.023wy
ER AR 144 118 148 139 4 148 118 137
SRR EE (E260) 0.003 0.005 0.003 0.003| 4 0.005 0.003 0.004
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ARIFHFAK 22 BT — AR

AR A 4R 7 104 14
B 19 26 18 11 B e A% T8y
— & A OB INS 1 10 3wy | 4 10 IR 3
Nl 1.03vv 1.03vv 1.0 1.03vv 4 1.0 1.03vv 1.03vv
HRIT LR OZEDLEY 0.00033< 1] 0.00033%~
KERF P DILEY 0.000053<> 1| 0.0000537
TLU R OFEDILAY 0.0013<v 1 0.0013%>
DAY 0.0013< 1 0.0013<
=Y O 0.001 1 0.001
AV A= 2y 0.0023v 1 0.00237
i Y Bk R %€ R 0.0043<v 1 0.0043>
T AAF L RO T 0.0013v 1 0.0013v
THEAREZE 8 Sy OV AR RE 25 37 0.9 0.4 0.7 09| 4 0.9 0.4 0.7
TR K ONEDEY 0.08 1 0.08
TR L OEDILEY 0.13vv 1 0.13vv
DU 35 AL B 0.000237 1] 0.00023%v
1,4— %Y 0.0053<Y 1 0.0053%Y
¢ ;\/;i ;ﬁj Jo. D%IV;VA?/U 0.00437 1| 0.00430
A== ¥ % 0.0023<v 1 0.0023%
FhZ/unFL 0.0013~vv 1 0.0013v>
N ZanTzF1 0.0013%v 1 0.0013%
Ny B 0.0013%> 1 0.0013%
WKk DL a4 0.013<v 1 0.013<v
TNAR=Y LR OZDILEY 0.023% 1 0.023<v
g OZEDILED 0.03 0.05 0.06 0.06 | 4 0.06 0.03 0.05
R OZEOLED 0.013=Y 1 0.013<v
TR LR DZEDILE 10 1 10
<R OEDILE 0.008 0.008 0.011 0.011| 4 0.011 0.008 0.010
w1 A 8 7 7 7| 4 8 7 7
VRN &/ VN (T Y9 47 40 46 48 4 48 40 45
KIEEEWY 128 108 130 138 4 138 108 126
R A A S IE A 0.023%v 1 0.023vv
A AIv 0.0000013< 1 10.0000013%>
2— AF A VRV FA— )L 0.00000137 1 10.0000013<>
AL F TS A 0.0053< 1 0.0053%
7=/ — VH 0.00053< 1| 0.00053%v
A (AR FR(TOC)D ) 0.23vv 0.23%v 0.23%v 0.23vv | 4 0.23%v
pH f& 7.1 6.7 6.9 6.8 4 7.1 6.7 6.9
BOK TifbkE R | b kERR| kSBR[t kKRR 4
FE S 0.53vv 0.53vv 0.53vv 0.53vv 4 0.53vv
w o 0.13%v 0.1 0.2 02| 4 0.2 0.13%v 0.1
W OBE R OER 7 12 11 1| 4 12 7 10
JE R (7T a3 -1.6 -2.1 -1.8 -1.9| 4 -1.6 -2.1 -1.8
KR 19.1 19.1 19.2 194 4 19.4 19.1 19.2
Wby 46 43 47 48| 4 48 43 46
WO 8 14 13 12| 4 14 8 12
12 & M b B R R 6 11 10 10| 4 11 6 9
Vo AN T 33 29 35 33| 4 35 29 32
WM A 44 1 44
TUE=T RS 0.023<v 0.023<v 0.023<v 0.023xv | 4 0.023wy
ER AR 150 131 147 155 4 155 131 146
SRR EE (E260) 0.004 0.004 0.004 0.003| 4 0.004 0.003 0.004
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ARIFHFEAK 23 EREFE =AKIRH
AR A 4R 7 104 14
B 19 26 18 11 B e A% T8y
— & A OB INe% 4 N 13ev | 4 4 132y 1
N 1.03vv 1.03vv 1.03vv LO3vv | 4 1.03vv
HRIT LR OZEDLEY 0.00033< 1] 0.00033%~
KERF P DILEY 0.000053<> 1| 0.0000537
TLU R OFEDILAY 0.0013<v 1 0.0013%>
DAY 0.0013< 1 0.0013<
=Y O 0.002 1 0.002
AV A= 2y 0.0023v 1 0.00237
i Y Bk R %€ R 0.0043<v 1 0.0043>
T AAF L RO T 0.0013v 1 0.0013v
THEAREZE 8 Sy OV AR RE 25 37 0.23vV 0.23v 0.23v 0.23v | 4 0.23vv
TR K ONEDEY 0.38 1 0.38
TR L OEDILEY 0.13vv 1 0.13vv
DU 35 AL B 0.000237 1] 0.00023%v
1,4— %Y 0.0053<Y 1 0.0053%Y
¢ ;\/;i ;ﬁj Jo. D%IV;VA?/U 0.00437 1| 0.00430
A== ¥ % 0.0023<v 1 0.0023%
FhZ/unFL 0.0013~vv 1 0.0013v>
N ZanTzF1 0.0013%v 1 0.0013%
Ny B 0.0013%> 1 0.0013%
WKk DL a4 0.013<v 1 0.013<v
TNAR=Y LR OZDILEY 0.023% 1 0.023<v
g OZEDILED 0.013<v 0.01 0.013<v 0.013v/ | 4 0.01 0.013<v 0.013<v
R OZEOLED 0.013=Y 1 0.013<v
TR LR DZEDILE 24 1 24
<R OEDILE 0.009 0.010 0.010 0.011| 4 0.011 0.009 0.010
w1 A 9 9 9 9| 4 9
VRN &/ VN (T Y9 51 51 50 51 4 51 50 51
RBEBHREY 141 146 150 149 4 150 141 146
R A A S IE A 0.023%v 1 0.023vv
A AIv 0.0000013< 1 10.0000013%>
2— AF A VRV FA— )L 0.00000137 1 10.0000013<>
AL F TS A 0.0053< 1 0.0053%
7=/ — VH 0.00053< 1| 0.00053%v
A (AR FR(TOC)D ) 0.23vv 0.23%v 0.23%v 0.23vv | 4 0.23%v
pH f& 8.3 8.1 8.2 8.2 4 8.3 8.1 8.2
BOK R | BLKER [MRbKRFER] R 4
FE S 0.53vv 0.53vv 0.53vv 0.53vv 4 0.53vv
w o 0.13%v 0.13%v 0.13%v 013w | 4 0.13%v
E BE RO IR 13vv 13vv IV ! 13vv
JE R (7T a3 -0.1 -0.2 -0.1 02| 4 -0.1 -0.2 -0.2
KR 22.8 23.6 23.2 223 4 23.6 22.3 23.0
Wby 81 81 81 82| 4 82 81 81
e ome B IR 13vv 13vv 13vv 4 13vv
12 & M b B R R 132y N 132y 13wy | 4 132y
VAN S 38 39 40 37| 4 40 37 38
WM A 27 1 27
TUESTHER S 0.023<v 0.023< 0.02 0.023v | 4 0.02 0.023vv 0.023<v
ER AR 207 208 207 207 4 208 207 207
SRR EE (E260) 0.002 0.002 0.001 0.001| 4 0.002 0.001 0.002
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ARIFEHFK 24 EFESF AR TR HE
AR A 4R 7 104 14
B 19 2 18 1 EE{ . e A% T
— & A OB 1 2 N 13ev | 4 2 132y 132y
N 1.03vv 1.03vv 1.03vv LO3vv | 4 1.03vv
HRIT LR OZEDLEY 0.00033< 1] 0.00033%~
KERF P DILEY 0.000053<> 1| 0.0000537
TLU R OFEDILAY 0.0013<v 1 0.0013%>
DAY 0.0013< 1 0.0013<
=Y O 0.003 1 0.003
AV A= 2y 0.0023v 1 0.00237
i A 2 e % R 0.0043<v 1 0.0043>
T AAF L RO T 0.0013v 1 0.0013v
THEAREZE 8 Sy OV AR RE 25 37 0.23vV 0.23v 0.23v 0.23v | 4 0.23vv
TR K ONEDEY 0.16 1 0.16
TR L OEDILEY 0.13vv 1 0.13vv
DU 35 AL B 0.000237 1] 0.00023%v
1,4— %Y 0.0053<Y 1 0.0053%Y
¢ ;\/;i ;ﬁj Jo. D%IV;VA?/U 0.00437 1| 0.00430
A== ¥ % 0.0023<v 1 0.0023%
FhZ/unFL 0.0013~vv 1 0.0013v>
N ZanTzF1 0.0013%v 1 0.0013%
Ny B 0.0013%> 1 0.0013%
WKk DL a4 0.013<v 1 0.013<v
TNAR=Y LR OZDILEY 0.023% 1 0.023<v
g OZEDILED 0.03 0.03 0.03 0.03| 4 0.03
R OZEOLED 0.013=Y 1 0.013<v
TR LR DZEDILE 15 1 15
<R OEDILE 0.040 0.043 0.049 0.047 | 4 0.049 0.040 0.045
w1 A 9 9 9 9| 4 9
VRN &/ VN (T Y9 82 83 85 84 4 85 82 84
KIEEEWY 136 159 150 166 | 4 166 136 153
R A A S IE A 0.023%v 1 0.023vv
A AIv 0.0000013< 1 10.0000013%>
2— AF A VRV FA— )L 0.00000137 1 10.0000013<>
AL F TS A 0.0053< 1 0.0053%
7=/ — VH 0.00053< 1| 0.00053%v
A (AR FR(TOC)D ) 0.23vv 0.23%v 0.23%v 0.23vv | 4 0.23%v
pH f& 8.0 8.0 8.0 8.0 4 8.0
B Wb ARFRE | Fifb/KER | FfbKER | FifbkER 4
FE S 0.53vv 0.53vv 0.53vv 0.53vv 4 0.53vv
w o 0.13%v 0.13%v 0.13%v 013w | 4 0.13%v
E BE RO IR 13vv 13vv IV ! 13vv
JE R (7T a3 -0.1 -0.1 -0.1 -0.1| 4 -0.1
KR 22.1 22.6 22.3 219 4 22.6 21.9 22.2
Wby 87 90 91 89| 4 91 87 89
e ome B IR 1 13vv IV ! 1 13vv IR
12 & M b B R R 132y INS 137y 13xv| 4 132y
VAN S 64 65 68 64| 4 68 64 65
WM A 31 1 31
TUE=T RS 0.04 0.05 0.04 0.04| 4 0.05 0.04 0.04
ER AR 232 236 234 233 4 236 232 234
SRR EE (E260) 0.003 0.004 0.003 0.003| 4 0.004 0.003 0.003
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ARIFEHFEK 25 EREFE AR
AR A 4R 7 104 14
B 19 2 18 1 EE{ . e A% T
— & A OB INe% 2 N 13ev | 4 2 132y 132y
N 1.03vv 1.03vv 1.03vv LO3vv | 4 1.03vv
IR LR RZEDIEY 0.00033< 1] 0.00033%~
KERF P DILEY 0.000053<> 1| 0.0000537
TR OZEDILED 0.0013<v 1 0.0013v
DAY 0.0013< 1 0.0013<
=Y O 0.002 1 0.002
AV A= 2y 0.0023v 1 0.00237
i A 2 e % R 0.0043<v 1 0.0043<
T AAF L RO T 0.0013v 1 0.0013v
THEAREZE 8 Sy OV AR RE 25 37 0.23vV 0.23v 0.23v 0.23v | 4 0.23vv
TR K ONEDEY 0.51 1 0.51
TR L OEDILEY 0.3 1 0.3
(= o 0.000237 1] 0.00023%v
1,4— %Y 0.00537 1 0.0053<
¢ ;\/;i ;ﬁj Jo. D%IV;VA?/U 0.00437 1| 0.00430
A== ¥ % 0.0023<v 1 0.0023%
FhZ/unFL 0.0013~vv 1 0.0013v>
N ZanTzF1 0.0013%v 1 0.0013%
Ny B 0.0013<v 1 0.0013<Y
WKk DL a4 0.013<v 1 0.013<v
TNAR=Y LR OZDILEY 0.023% 1 0.023<v
g OZEDILED 0.02 0.02 0.01 0.02| 4 0.02 0.01 0.02
R OZEOLED 0.013=Y 1 0.013<v
TR LR DZEDILE 78 1 78
< R OEDE Y 0.015 0.015 0.017 0.017 4 0.017 0.015 0.016
w1 A 9 9 8 8| 4 9 8 8
VRN &/ VN (T Y9 25 25 24 25 4 25 24 25
RBEBHREY 235 248 230 242 4 248 230 239
R A A S IE A 0.023%v 1 0.023vv
VA AIV 0.0000013< 1 10.0000013%>
2— AF A VRV FA— )L 0.00000137 1 10.0000013<>
AL F TS A 0.0053< 1 0.0053%
7=/ — VH 0.00053< 1| 0.00053%v
A (AR FR(TOC)D ) 0.23vv 0.23%v 0.23%v 0.23vv | 4 0.23%v
pH f& 8.4 8.3 8.4 8.2 4 8.4 8.2 8.3
BOK MR LK E R Wb kFER | MILKFER | LKER] 4
FE S 0.53vv 0.53vv 0.53vv 0.53vv 4 0.53vv
WwoE 0.13%v 0.13%v 0.13%v 013w | 4 0.13%v
E BE RO IR 13vv 13vv IV ! 13vv
JE R (7T a3 -0.1 -0.2 0.0 03| 4 0.0 -0.3 -0.2
KR 25.7 26.0 25.6 257 4 26.0 25.6 25.8
Wby 163 163 163 164 | 4 164 163 163
e ome B IR 13vv 13vv 13vv 4 13vv
12 & M b B R R 132y N 132y 13wy | 4 132y
VAN S 15 15 17 15 4 17 15 16
WM A 30 1 30
TUE=T RS 0.07 0.06 0.07 0.06 | 4 0.07 0.06 0.06
ER AR 364 364 362 365 4 365 362 364
SRR EE (E260) 0.004 0.004 0.003 0.004 | 4 0.004 0.003 0.004
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RIEHEAK 26 8 LI K TR Hh
AR A 6/ 9/ 124 3/
H A 8 7 1 1 EEA e A% 8
— & A OB INe% N 2 13ev | 4 2 132y 132y
N 1.03vv 1.03vv 1.03vv LO3vv | 4 1.03vv
HRIT LR OZEDLEY 0.00033< 1] 0.00033%~
KERF P DILEY 0.000053<> 1| 0.0000537
TLU R OFEDILAY 0.0013<v 1 0.0013%>
DAY 0.0013< 1 0.0013<
=Y O 0.001 1 0.001
AV A= 2y 0.0023v 1 0.00237
i A 2 e % R 0.0043<v 1 0.0043>
T AAF L RO T 0.0013v 1 0.0013v
THEAREZE 8 Sy OV AR RE 25 37 0.23vV 0.23v 0.2 02| 4 0.2 0.237v 0.23vV
ToFZ M OEDLEY 0.083%Y 1 0.083<y
TR L OEDILEY 0.13vv 1 0.13vv
DU 35 AL B 0.000237 1] 0.00023%v
1,4— %Y 0.0053<Y 1 0.0053%Y
¢ ;\/;i ;ﬁj Jo. D%IV;VA?/U 0.0043¢Y 1| 0.00430v
A== ¥ % 0.0023<v 1 0.0023%
FhZ/unFL 0.0013~vv 1 0.0013v>
N ZanTzF1 0.0013%v 1 0.0013%
Ny B 0.0013%> 1 0.0013%
WKk DL a4 0.013<v 1 0.013<v
TNAR=Y LR OZDILEY 0.023% 1 0.023<v
g OZEDILED 0.013<v 1 0.013<v
R OZEOLED 0.013=Y 1 0.013<v
TR LR DZEDILE 9 1 9
<~ B OZEDILE Y 0.0013%» 1 0.0013vv
w1 A 6 6 7 7| 4 7 6 6
VRN &/ VN (T Y9 26 27 28 28 4 28 26 27
KIEEEWY 79 84 86 84| 4 86 79 83
R A A S IE A 0.023%v 1 0.023vv
A AIv 0.0000013< 1 10.0000013%>
2— AF A VRV FA— )L 0.00000137 1 10.0000013<>
AL F TS A 0.0053< 1 0.0053%
7=/ — VH 0.00053< 1| 0.00053%v
A (AR FR(TOC)D ) 0.23vv 0.23%v 0.23%v 0.23vv | 4 0.23%v
pH f& 6.7 6.7 6.9 6.9 4 6.9 6.7 6.8
BOK Rl L L L 4
FE S 0.53vv 0.53vv 0.53vv 0.53vv 4 0.53vv
w o 0.13%v 0.13%v 0.13%v 013w | 4 0.13%v
W OBE R OER 14 14 14 13| 4 14 13 14
JE R (7T a3 -2.5 -2.5 -2.2 22| 4 -2.2 -2.5 -2.4
KR 17.3 17.3 17.6 178 4 17.8 17.3 17.5
Wby 30 31 32 31| 4 32 30 31
WO 16 16 16 15 4 16 15 16
12 £ o 3 HE e R 13 13 13 12 4 13 12 13
VAN S 18 16 19 19 4 19 16 18
WM A 30 1 30
TUE=T RS 0.023<v 0.023<v 0.023<v 0.023xv | 4 0.023wy
ER AR 96 100 102 104 4 104 96 100
SRR EE (E260) 0.002 0.001 0.001 0.001| 4 0.002 0.001 0.001
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ARIFEHIFEAK 27 WAL R IR HE
AR A 4R 7 104 14
B 12 1 12 17 EE{ . e A% 1
— & A OB INe% 4 1 13ev | 4 4 132y 1
Nl 1.03vv 1.03vv 1.03vv 1.03vv 4 1.03vv
HRIT LR OZEDLEY 0.00033< 1] 0.00033%~
KERF P DILEY 0.000053<> 1| 0.0000537
TR OZEDILEY 0.0013<v 1 0.0013%>
DAY 0.0013v 1 0.0013<
=Y O 0.0013<Y 1 0.0013<
VaViVA=RN(A=x7] 0.0023< 1 0.0023<
i Y Bk R %€ R 0.0043<v 1 0.0043>
T AAF L RO T 0.0013v 1 0.0013v
THEAREZE 8 Sy OV AR RE 25 37 0.23vV 0.23v 0.23v 0.23v | 4 0.23vv
TR K ONEDEY 0.17 1 0.17
TR L OEDILEY 0.13vv 1 0.13vv
DU 35 AL B 0.000237 1] 0.00023%v
1,4— %Y 0.0053<v 1 0.0053%Y
¢ ;\/;?1 ;ﬁj Jo. DZ?VA?/U 0.00437 1| 0.00430
A== ¥ % 0.0023%v 1 0.0023%
FhZ/unFL 0.0013~vv 1 0.0013v>
N ZanTzF1 0.0013%v 1 0.0013%
Ny B 0.0013%> 1 0.0013%
WKk DL a4 0.013<v 1 0.013<v
TNAR=Y LR OZDILEY 0.023% 1 0.023v>
g OZEDILED 0.013<v 1 0.013<v
R OZEOLED 0.013=Y 1 0.013v
TR LR DZEDILE 12 1 12
<R OEDILE 0.0013%> 1 0.0013%
Wik A4 10 11 10 10 4 11 10 10
VRN &/ VN (T Y9 44 43 43 46 [ 4 46 43 44
KIEEEWY 146 158 173 159 | 4 173 146 159
& A A R TGP 0.023v 1 0.023v
A AIv 0.0000013< 1 10.0000013%>
2— AF A VRV FA— )L 0.00000137 1 10.0000013<>
AL F TS A 0.0053< 1 0.0053%
7=/ — VH 0.00053< 1| 0.00053%v
A (AR FR(TOC)D ) 0.23vv 0.2 0.2 03] 4 0.3 0.23%v 0.23%v
pH f& 7.2 7.1 7.3 7.3 4 7.3 7.1 7.2
BOK Rl L L L 4
FE S 0.53vv 0.53vv 0.53vv 0.53vv 4 0.53vv
w o 0.13%v 0.13%v 0.13%v 013w | 4 0.13%v
W OBE R OER 3 2 3 2| 4 3 2 2
JE R (7T a3 -1.9 -2.0 -1.7 -1.8| 4 -1.7 -2.0 -1.8
KR 18.0 19.1 18.8 164 4 19.1 16.4 18.1
Wby 24 22 24 24| 4 24 22 24
WO 3 2 3 2| 4 3 2 2
12 & M b B R R 2 2 2 21 4 2
Vo AN T 31 29 32 31| 4 32 29 31
WM A 66 1 66
TUE=T RS 0.023<v 0.023<v 0.023<v 0.023xv | 4 0.023wy
ER AR 167 166 165 166 | 4 167 165 166
SRR EE (E260) 0.002 0.001 0.003 0.002| 4 0.003 0.001 0.002
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ARIFHFEK 28 ZINE KT H
AR A 4R 7 104 14
B 12 1 12 17 EE . B A% DA
— & MO 13wy 3%V 3%V 13vv | 4 N
Nl 1.03vv 1.03vv 1.03vv 1.03vv 4 1.03vv
HRIT LR OZEDLEY 0.00033< 1] 0.00033%~
KERF P DILEY 0.000053<> 1| 0.0000537
TR OZEDILEY 0.0013<v 1 0.0013%>
DAY 0.0013v 1 0.0013<
=Y O 0.0013<Y 1 0.0013<
VaViVA=RN(A=x7] 0.0023< 1 0.0023<
i Y Bk R %€ R 0.0043<v 1 0.0043>
T AAF L RO T 0.0013v 1 0.0013v
THEAREZE 8 Sy OV AR RE 25 37 0.3 0.3 0.3 03| 4 0.3
TR K ONEDEY 0.21 1 0.21
TR L OEDILEY 0.13vv 1 0.13vv
DU 35 AL B 0.000237 1] 0.00023%v
1,4— %Y 0.0053<v 1 0.0053%Y
¢ ;\/;?1 ;ﬁj Jo. DZ?VA?/U 0.00437 1| 0.00430
A== ¥ % 0.0023%v 1 0.0023%
FhZ/unFL 0.0013~vv 1 0.0013v>
N ZanTzF1 0.0013%v 1 0.0013%
Ny B 0.0013%> 1 0.0013%
WKk DL a4 0.013<v 1 0.013<v
TNAR=Y LR OZDILEY 0.023% 1 0.023v>
g OZEDILED 0.013<v 1 0.013<v
R OZEOLED 0.013=Y 1 0.013v
TR LR DZEDILE 14 1 14
<R OEDILE 0.0013%> 1 0.0013%
Wik A4 15 14 14 14 4 15 14 14
VRN &/ VN (T Y9 45 43 42 47 4 47 42 44
KIEEEWY 155 166 176 171 4 176 155 167
& A A R TGP 0.023v 1 0.023v
A AIv 0.0000013< 1 10.0000013%>
2— AF A VRV FA— )L 0.00000137 1 10.0000013<>
AL F TS A 0.0053< 1 0.0053%
7=/ — VH 0.00053< 1| 0.00053%v
A (AR FR(TOC)D ) 0.2 0.2 0.2 0.23vv | 4 0.2 0.23%v 0.23%v
pH f& 7.0 7.0 7.1 7.1 4 7.1 7.0 7.0
BOK Rl L L L 4
FE S 0.53vv 0.53vv 0.53vv 0.53vv 4 0.53vv
w o 0.13%v 0.13%v 0.13%v 013w | 4 0.13%v
W OBE R OER 4 3 4 3] 4 4 3 4
JE R (7T a3 -2.1 -2.2 -2.0 2.1 4 -2.0 -2.2 -2.1
KR 18.5 18.5 18.4 182 4 18.5 18.2 18.4
Wby 21 21 20 20| 4 21 20 20
WO 4 3 4 3] 4 4 3 4
12 & M b B R R 2 3 2| 4 3 2 2
Vo AN T 29 26 31 29| 4 31 26 29
WM A 66 1 66
TUE=T RS 0.023<v 0.023<v 0.023<v 0.023xv | 4 0.023wy
ER AR 178 175 174 177 4 178 174 176
SRR EE (E260) 0.002 0.001 0.003 0.002| 4 0.003 0.001 0.002
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ARIFEHFEAK 29 BLS O KIRH

AR A 4R 7 104 14
B 12 1 12 17 EE{ . e A% T
— & A OB 1 3 9 41 4 9 1 4
Nl 1.03vv 1.03vv 1.0 1.03vv 4 1.0 1.03vv 1.03vv
HRIT LR OZEDLEY 0.00033< 1] 0.00033%~
KERF P DILEY 0.000053<> 1| 0.0000537
TR OZEDILEY 0.0013<v 1 0.0013%>
DAY 0.0013v 1 0.0013<
=Y O 0.0013<Y 1 0.0013<
AV A= 2y 0.0023< 1 0.00237
i A 2 e % R 0.0043<v 1 0.0043>
T AAF L RO T 0.0013v 1 0.0013v
THEAREZE 8 Sy OV AR RE 25 37 0.3 0.2 0.23v 03| 4 0.3 0.237v 0.2
TR K ONEDEY 0.34 1 0.34
TR L OEDILEY 0.13vv 1 0.13vv
DU 35 AL B 0.000237 1] 0.00023%v
1,4— %Y 0.0053<v 1 0.0053%Y
¢ ;\/;i ;ﬁj Jo. D%IV;VA?/U 0.00437 1| 0.00430
A== ¥ % 0.0023%v 1 0.0023%
FhZ/unFL 0.0013~vv 1 0.0013v>
N ZanTzF1 0.0013%v 1 0.0013%
Ny B 0.0013%> 1 0.0013%
WKk DL a4 0.013<v 1 0.013<v
TNAR=Y LR OZDILEY 0.023% 1 0.023<v
g OZEDILED 0.013<v 1 0.013<v
R OZEOLED 0.013=Y 1 0.013<v
TR LR DZEDILE 14 1 14
<R OEDILE 0.0013%> 1 0.0013%
Wik A4 16 14 14 15 4 16 14 15
VRN &/ VN (T Y9 50 47 45 51 4 51 45 48
RBEBHREY 149 147 162 150 | 4 162 147 152
R A A S IE A 0.023%v 1 0.023vv
A AIv 0.0000013< 1 10.0000013%>
2— AF A VRV FA— )L 0.00000137 1 10.0000013<>
AL F TS A 0.0053< 1 0.0053%
7=/ — VH 0.00053< 1| 0.00053%v
A (AR FR(TOC)D ) 0.3 0.3 0.2 02| 4 0.3 0.2 0.2
pH f& 6.8 6.7 6.6 7.0 4 7.0 6.6 6.8
BOK Rl L L L 4
FE S 0.53vv 0.53vv 0.53vv 0.53vv 4 0.53vv
w o 0.13%v 0.13%v 0.13%v 013w | 4 0.13%v
W OBE R OER 4 6 4 3] 4 6 3 4
JE R (7T a3 -2.4 -2.5 -2.7 23| 4 -2.3 -2.7 -2.5
KR 16.3 17.6 17.0 55| 4 17.6 15.5 16.6
Wby 18 20 17 16| 4 20 16 18
WO 5 7 5 3] 4 7 3 5
12 & M b B R R 4 6 4 3| 4 6 3 4
VAN S 31 28 29 28| 4 31 28 29
WM A 48 1 48
TUE=T RS 0.023<v 0.023<v 0.023<v 0.023xv | 4 0.023wy
ER AR 193 179 178 184 4 193 178 184
SRR EE (E260) 0.003 0.004 0.004 0.004 | 4 0.004 0.003 0.004
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ARIFEHFEAK 30 ] B KR

AR A 4R 7 104 14
B 12 1 12 17 EE{ . e A% T
— & A OB INe% 2 N 13ev | 4 2 132y 137y
N 1.03vv 1.03vv 1.03vv LO3vv | 4 1.03vv
HRIT LR OZEDLEY 0.00033< 1] 0.00033%~
KERF P DILEY 0.000053<> 1| 0.0000537
TR OZEDILEY 0.0013<v 1 0.0013%>
DAY 0.0013v 1 0.0013<
=Y O 0.002 1 0.002
AV A= 2y 0.0023< 1 0.00237
i Y Bk R %€ R 0.0043<v 1 0.0043>
T AAF L RO T 0.0013v 1 0.0013v
THEAREZE 8 Sy OV AR RE 25 37 1.3 1.5 1.7 15| 4 1.7 1.3 1.5
TR K ONEDEY 0.44 1 0.44
TR L OEDILEY 0.13vv 1 0.13vv
DU 35 AL B 0.000237 1] 0.00023%v
1,4— %Y 0.0053<v 1 0.0053%Y
¢ ;\/;i ;ﬁj Jo. D%IV;VA?/U 0.00437 1| 0.00430
A== ¥ % 0.0023%v 1 0.0023%
FhZ/unFL 0.0013~vv 1 0.0013v>
N ZanTzF1 0.0013%v 1 0.0013%
Ny B 0.0013%> 1 0.0013%
WKk DL a4 0.013<v 1 0.013<v
TNAR=Y LR OZDILEY 0.023% 1 0.023<v
g OZEDILED 0.013<v 1 0.013<v
R OZEOLED 0.013=Y 1 0.013<v
TR LR DZEDILE 15 1 15
<R OEDILE 0.0013%> 1 0.0013%
Wik A4 19 18 17 18 4 19 17 18
VRN &/ VN (T Y9 77 73 71 75 4 77 71 74
RBEBHREY 220 225 220 216 | 4 225 216 220
R A A S IE A 0.023%v 1 0.023vv
A AIv 0.0000013< 1 10.0000013%>
2— AF A VRV FA— )L 0.00000137 1 10.0000013<>
AL F TS A 0.0053< 1 0.0053%
7=/ — VH 0.00053< 1| 0.00053%v
A (AR FR(TOC)D ) 0.2 0.2 0.23vv 02| 4 0.2 0.23%v 0.23%v
pH f& 6.5 6.6 6.5 6.6 4 6.6 6.5 6.6
BOK Rl L L L 4
FE S 0.53vv 0.53vv 0.53vv 0.53vv 4 0.53vv
w o 0.13%v 0.13%v 0.13%v 013w | 4 0.13%v
W OBE R OER 11 8 9 8| 4 11 8 9
JE R (7T a3 -2.4 -2.4 -2.5 23| 4 -2.3 -2.5 -2.4
KR 17.8 19.2 17.8 174 4 19.2 17.4 18.0
Wby 20 18 19 20| 4 20 18 19
WO 12 9 10 9| 4 12 9 10
12 & M b B R R 10 8 8 8| 4 10 8 8
VAN S 54 50 53 53| 4 54 50 52
WM A 68 1 68
TUE=T RS 0.023<v 0.023<v 0.023<v 0.023xv | 4 0.023wy
ER AR 259 249 246 253 4 259 246 252
SRR EE (E260) 0.002 0.002 0.004 0.003| 4 0.004 0.002 0.003
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RTEHEAK 31 B T 7K I

AR A 4R 7 104 14
B 12 1 12 17 EE{ . e A% T
— & A OB INe% N N 21 4 2 132y 132y
N 1.03vv 1.03vv 1.03vv LO3vv | 4 1.03vv
HRIT LR OZEDLEY 0.00033< 1] 0.00033%~
KERF P DILEY 0.000053<> 1| 0.0000537
TR OZEDILEY 0.0013<v 1 0.0013%>
DAY 0.0013v 1 0.0013<
=Y O 0.003 1 0.003
AV A= 2y 0.0023< 1 0.00237
i A 2 e % R 0.0043<v 1 0.0043>
T AAF L RO T 0.0013v 1 0.0013v
THEAREZE 8 Sy OV AR RE 25 37 0.8 0.7 0.8 08| 4 0.8 0.7 0.8
TR K ONEDEY 0.38 1 0.38
TR L OEDILEY 0.13vv 1 0.13vv
DU 35 AL B 0.000237 1] 0.00023%v
1,4— %Y 0.0053<v 1 0.0053%Y
¢ ;\/;i ;ﬁj Jo. D%IV;VA?/U 0.00437 1| 0.00430
A== ¥ % 0.0023%v 1 0.0023%
FhZ/unFL 0.0013~vv 1 0.0013v>
N ZanTzF1 0.0013%v 1 0.0013%
Ny B 0.0013%> 1 0.0013%
WKk DL a4 0.013<v 1 0.013<v
TNAR=Y LR OZDILEY 0.023% 1 0.023<v
g OZEDILED 0.013<v 1 0.013<v
R OZEOLED 0.013=Y 1 0.013<v
TR LR DZEDILE 19 1 19
~UH R OEDALEY 0.0013%> 1 0.0013%
Wik A4 21 22 20 20 4 22 20 21
VRN &/ VN (T Y9 100 102 97 100 4 102 97 100
KIEEEWY 236 256 263 249 [ 4 263 236 251
R A A S IE A 0.023%v 1 0.023vv
A AIv 0.0000013< 1 10.0000013%>
2— AF A VRV FA— )L 0.00000137 1 10.0000013<>
AL F TS A 0.0053< 1 0.0053%
7=/ — VH 0.00053< 1| 0.00053%v
A (AR FR(TOC)D ) 0.3 0.23vv 0.23%v 02| 4 0.3 0.23%v 0.23%v
pH f& 6.3 6.2 6.2 6.2 4 6.3 6.2 6.2
BOK Rl L L L 4
FE S 0.53vv 0.53vv 0.53vv 0.53vv 4 0.53vv
WwoE 0.13%v 0.13%v 0.13%v 013w | 4 0.13%v
W OBE R OER 35 37 33 33| 4 37 33 34
JE R (7T a3 -2.3 -2.3 -2.4 24| 4 -2.3 -2.4 -2.4
KR 16.7 16.8 16.4 163 4 16.8 16.3 16.6
Wby 35 39 36 35 4 39 35 36
WO 40 42 37 37 4 42 37 39
12 £ o 3 HE e R 33 34 30 30| 4 34 30 32
VAN S 72 73 72 72| 4 73 72 72
WM A 67 1 67
TUE=T RS 0.023<v 0.023<v 0.023<v 0.023xv | 4 0.023wy
ER AR 307 315 305 306 | 4 315 305 308
SRR EE (E260) 0.001 0.001 0.003 0.002| 4 0.003 0.001 0.002
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ARIEHFA 32 AREE— KR
AR A 4R 7 104 14
B 12 1 12 17 EE{ . e A% 1
— & A OB INe% 2 N 3 4 3 132y 1
Nl 1.03vv 1.03vv 1.03vv 1.03vv 4 1.03vv
HRIT LR OZEDLEY 0.00033< 1] 0.00033%~
KERF P DILEY 0.000053<> 1| 0.0000537
TR OZEDILEY 0.0013<v 1 0.0013%>
DAY 0.0013v 1 0.0013<
=Y O 0.001 1 0.001
VaViVA=RN(A=x7] 0.0023< 1 0.0023<
i Y Bk R %€ R 0.0043<v 1 0.0043>
T AAF L RO T 0.0013v 1 0.0013v
THEAREZE 8 Sy OV AR RE 25 37 1.4 1.5 1.3 1.3 4 1.5 1.3 1.4
TR K ONEDEY 0.23 1 0.23
TR L OEDILEY 0.13vv 1 0.13vv
DU 35 AL B 0.000237 1] 0.00023%v
1,4— %Y 0.0053<v 1 0.0053%Y
¢ ;\/;?1 ;ﬁj Jo. DZ?VA?/U 0.0043¢Y 1| 0.00430v
A== ¥ % 0.0023%v 1 0.0023%
FhZ/unFL 0.0013~vv 1 0.0013v>
N ZanTzF1 0.0013%v 1 0.0013%
Ny B 0.0013%> 1 0.0013%
WKk DL a4 0.013<v 1 0.013<v
TNAR=Y LR OZDILEY 0.023% 1 0.023<v
g OZEDILED 0.013<v 1 0.013<v
R OZEOLED 0.013=Y 1 0.013<v
TR LR DZEDILE 18 1 18
<R OEDILE 0.0013%> 1 0.0013%
Wik A4 23 22 22 22 4 23 22 22
VRN &/ VN (T Y9 78 74 74 75 4 78 74 75
RBEBHREY 206 218 235 217 4 235 206 219
EA A S A 0.023vv 1 0.023vv
A AIv 0.0000013< 1 10.0000013%>
2— AF A VRV FA— )L 0.00000137 1 10.0000013<>
AL F TS A 0.0053< 1 0.0053%
7=/ — VH 0.00053< 1| 0.00053%v
A (AR FR(TOC)D ) 0.2 0.23vv 0.23%v 02| 4 0.2 0.23%v 0.23%v
pH f& 7.0 7.0 7.1 7.0 4 7.1 7.0 7.0
BOK Rl L L L 4
FE S 0.53vv 0.53vv 0.53vv 0.53vv 4 0.53vv
w o 0.13%v 0.13%v 0.13%v 013w | 4 0.13%v
W OBE R OER 4 4 4 4| 4 4
JE R (7T a3 -1.9 -1.9 -1.8 -1.9| 4 -1.8 -1.9 -1.9
KR 17.5 17.8 17.5 173 4 17.8 17.3 17.5
Wby 21 21 21 21| 4 21
WO 4 4 4 4| 4 4
12 & M b B R R 3 3 4 3
VAN S 56 55 60 57| 4 60 55 57
WM A 67 1 67
TUE=T RS 0.023<v 0.023<v 0.023<v 0.023xv | 4 0.023wy
ER AR 260 258 257 258 | 4 260 257 258
SRR EE (E260) 0.002 0.001 0.003 0.003| 4 0.003 0.001 0.002
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KIFEHE K 33 ZAREE KR M
AR A 4R 7 104 14
B 12 1 12 17 EE{ . e A% 1
— & A OB 1 2 N 21 4 2 IR 1
Nl 1.03vv 1.03vv 1.03vv 1.03vv 4 1.03vv
HRIT LR OZEDLEY 0.00033< 1] 0.00033%~
KERF P DILEY 0.000053<> 1| 0.0000537
TR OZEDILEY 0.0013<v 1 0.0013%>
DAY 0.0013v 1 0.0013<
=Y O 0.001 1 0.001
VaViVA=RN(A=x7] 0.0023< 1 0.0023<
i Y Bk R %€ R 0.0043<v 1 0.0043>
T AAF L RO T 0.0013v 1 0.0013v
THEAREZE 8 Sy OV AR RE 25 37 1.0 1.1 0.9 09| 4 1.1 0.9 1.0
TR K ONEDEY 0.21 1 0.21
TR L OEDILEY 0.13vv 1 0.13vv
DU 35 AL B 0.000237 1] 0.00023%v
1,4— %Y 0.0053<v 1 0.0053%Y
¢ ;\/;?1 ;ﬁj Jo. DZ?VA?/U 0.00437 1| 0.00430
A== ¥ % 0.0023%v 1 0.0023%
FhZ/unFL 0.0013~vv 1 0.0013v>
N ZanTzF1 0.0013%v 1 0.0013%
Ny B 0.0013%> 1 0.0013%
WKk DL a4 0.013<v 1 0.013<v
TNAR=Y LR OZDILEY 0.023% 1 0.023<v
g OZEDILED 0.013<v 1 0.013<v
R OZEOLED 0.013=Y 1 0.013<v
TR LR DZEDILE 20 1 20
<R OEDILE 0.0013%> 1 0.0013%
w1 A 33 31 32 32| 4 33 31 32
VRN &/ VN (T Y9 85 83 85 86| 4 86 83 85
RBEBHREY 227 251 263 237 4 263 227 244
EA A S A 0.023vv 1 0.023vv
A AIv 0.0000013< 1 10.0000013%>
2— AF A VRV FA— )L 0.00000137 1 10.0000013<>
AL F TS A 0.0053< 1 0.0053%
7=/ — VH 0.00053< 1| 0.00053%v
A (AR FR(TOC)D ) 0.23vv 0.23%v 0.23%v 02| 4 0.2 0.23%v 0.23%v
pH f& 7.0 7.0 7.0 7.0 4 7.0
BOK Rl L L L 4
FE S 0.53vv 0.53vv 0.53vv 0.53vv 4 0.53vv
w o 0.13%v 0.13%v 0.13%v 013w | 4 0.13%v
W OBE R OER 4 3 3 3] 4 4 3 3
JE R (7T a3 -1.9 -2.0 -1.9 -1.9| 4 -1.9 -2.0 -1.9
KR 17.3 17.6 17.4 75| 4 17.6 17.3 17.4
Wby 18 17 17 17| 4 18 17 17
WO 4 3 3 3] 4 4 3 3
12 & M b B R R 3 3 3 4 3
Vo AN T 64 60 65 67| 4 67 60 64
WM A 66 1 66
TUE=T RS 0.023<v 0.023<v 0.023<v 0.023xv | 4 0.023wy
ER AR 303 291 300 303 4 303 291 299
SRR EE (E260) 0.002 0.001 0.003 0.003| 4 0.003 0.001 0.002
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ARIFHFK 34 FREF 55 — K IF b

AR A 4R 7 104 14
B 12 1 12 17 EE{ . e A% T
— & A OB 2 4 11 41 4 11 2 5
N 1.03vv 1.03vv 1.03vv LO3vv | 4 1.03vv
IR LR RZEDIEY 0.00033< 1] 0.00033%~
KERF P DILEY 0.000053<> 1| 0.0000537
TR OZEDILEY 0.0013<v 1 0.0013v
DAY 0.0013v 1 0.0013<
=Y O 0.002 1 0.002
AV A= 2y 0.0023< 1 0.00237
i A 2 e % R 0.0043<v 1 0.0043<
T AAF L RO T 0.0013v 1 0.0013v
THEAREZE 8 Sy OV AR RE 25 37 1.0 1.3 1.2 1.2 4 1.3 1.0 1.2
TR K ONEDEY 0.23 1 0.23
TR L OEDILEY 0.13vv 1 0.13vv
(= o 0.000237 1] 0.00023%v
1,4— %Y 0.00537 1 0.0053<
¢ ;\/;i ;ﬁj Jo. D%IV;VA?/U 0.00437 1| 0.00430
/A== 0.0023%v 1 0.0023%
FhZ/unFL 0.0013~vv 1 0.0013v>
N ZanTzF1 0.0013%v 1 0.0013%
Ny B 0.0013vv 1 0.0013<Y
WKk DL a4 0.013<v 1 0.013<v
TNAR=Y LR OZDILEY 0.023% 1 0.023<v
g OZEDILED 0.013<v 0.013<v 0.013<v 0.013vv | 4 0.013<v
R OZEOLED 0.013=Y 1 0.013<v
TR LR DZEDILE 20 1 20
<R OEDILE 0.001 0.003 0.003 0.001| 4 0.003 0.001 0.002
Wik A4 23 17 17 19 4 23 17 19
VRN &/ VN (T Y9 84 79 78 81| 4 84 78 80
RBEBHREY 242 245 257 241 4 257 241 246
R A A S IE A 0.023%v 1 0.023vv
VA AIV 0.0000013< 1 10.0000013%>
2— AF A VRV FA— )L 0.00000137 1 10.0000013<>
AL F TS A 0.0053< 1 0.0053%
7=/ — VH 0.00053< 1| 0.00053%v
A (AR FR(TOC)D ) 0.23vv 0.23%v 0.2 02| 4 0.2 0.23%v 0.23%v
pH f& 6.3 6.4 6.4 6.4 4 6.4 6.3 6.4
BOK Rl L L L 4
FE S 0.53vv 0.53vv 0.53vv 0.53vv 4 0.53vv
WwoE 0.13%v 0.13%v 0.13%v 013w | 4 0.13%v
W OBE R OER 30 28 30 22| 4 30 22 28
JE R (7T a3 -2.3 -2.2 -2.2 22| 4 -2.2 -2.3 -2.2
KR 18.6 19.2 18.8 187 4 19.2 18.6 18.8
Wby 36 36 35 35 4 36 35 36
WO 34 32 34 25 4 34 25 31
12 £ o 3 HE e R 28 26 28 21| 4 28 21 26
VAN S 61 59 62 60| 4 62 59 60
WM A 83 1 83
TUE=T RS 0.023<v 0.023<v 0.023<v 0.023xv | 4 0.023wy
ER AR 294 269 272 275 4 294 269 278
SRR EE (E260) 0.002 0.002 0.004 0.003| 4 0.004 0.002 0.003
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ARIFHFEK 35 BEEFEE — KIR
AR A 4R 7 104 14
B 12 1 12 17 EE{ . e A% T
— & A OB 4 N N 21 4 4 132y 2
N 1.03vv 1.03vv 1.03vv LO3vv | 4 1.03vv
IR LR RZEDIEY 0.00033< 1] 0.00033%~
KERF P DILEY 0.000053<> 1| 0.0000537
TR OZEDILEY 0.0013<v 1 0.0013v
DAY 0.0013v 1 0.0013<
=Y O 0.002 1 0.002
AV A= 2y 0.0023< 1 0.00237
i A 2 e % R 0.0043<v 1 0.0043<
T AAF L RO T 0.0013v 1 0.0013v
THEAREZE 8 Sy OV AR RE 25 37 0.6 0.6 0.5 05| 4 0.6 0.5 0.6
TR K ONEDEY 0.24 1 0.24
TR L OEDILEY 0.13vv 1 0.13vv
DU 35 AL B 0.000237 1] 0.00023%v
1,4— %Y 0.00537 1 0.0053<
¢ ;\/;i ;ﬁj Jo. D%IV;VA?/U 0.00437 1| 0.00430
A== ¥ % 0.0023%v 1 0.0023%
FhZ/unFL 0.0013~vv 1 0.0013v>
N ZanTzF1 0.0013%v 1 0.0013%
Ny B 0.0013%> 1 0.0013<Y
WKk DL a4 0.013<v 1 0.013<v
TNAR=Y LR OZDILEY 0.023% 1 0.023<v
g OZEDILED 0.013<v 0.013<v 0.013<v 0.013v/ | 4 0.013<v
R OZEOLED 0.013=Y 1 0.013<v
TR LR DZEDILE 21 1 21
<R OEDILE 0.001 0.0013vv 0.0013<v 0.0013vv | 4 0.001 0.0013< 0.0013<
Wik A4 20 21 20 19 4 21 19 20
VRN &/ VN (T Y9 80 78 77 79| 4 80 77 78
RBEBHREY 235 239 242 231 4 242 231 237
R A A S IE A 0.023%v 1 0.023vv
VA AIV 0.0000013< 1 10.0000013%>
2— AF A VRV FA— )L 0.00000137 1 10.0000013<>
AL F TS A 0.0053< 1 0.0053%
7=/ — VH 0.00053< 1| 0.00053%v
A (AR FR(TOC)D ) 0.23vv 0.23%v 0.23%v 03] 4 0.3 0.23%v 0.23%v
pH f& 6.4 6.4 6.4 6.4 4 6.4
BOK Rl L L L 4
FE S 0.53vv 0.53vv 0.53vv 0.53vv 4 0.53vv
WwoE 0.13%v 0.13%v 0.13%v 013w | 4 0.13%v
W OBE R OER 39 40 41 38| 4 41 38 40
JE R (7T a3 -2.1 -2.1 -2.1 2.1 4 -2.1
KR 18.1 19.3 18.8 179 4 19.3 17.9 18.5
Wby 54 52 50 54| 4 54 50 52
WO 44 45 47 43 4 47 43 45
12 £ o 3 HE e R 34 35 37 34| 4 37 34 35
VAN S 56 54 57 55| 4 57 54 56
WM A 83 1 83
TUE=T RS 0.023<v 0.023<v 0.023<v 0.023xv | 4 0.023wy
ER AR 276 276 276 273 4 276 273 275
SRR EE (E260) 0.002 0.001 0.003 0.003| 4 0.003 0.001 0.002
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RIEHEAK 36 [ i Rty @b
AR A 4R 7 104 14
B 12 11 12 17 B e A% T8y
— & A OB INS 2 8 2| 4 8 IR 3
N 1.03vv 1.03vv 1.03vv LO3vv | 4 1.03vv
IR LR RZEDIEY 0.00033< 1] 0.00033%~
KERF P DILEY 0.000053<> 1| 0.0000537
TR OZEDILEY 0.0013<v 1 0.0013v
DAY 0.0013v 1 0.0013<
=Y O 0.003 1 0.003
AV A= 2y 0.0023< 1 0.00237
i A 2 e % R 0.0043<v 1 0.0043<
T AAF L RO T 0.0013v 1 0.0013v
THEAREZE 8 Sy OV AR RE 25 37 0.5 0.5 0.5 05| 4 0.5
TR K ONEDEY 0.41 1 0.41
TR L OEDILEY 0.13vv 1 0.13vv
DU 35 AL B 0.000237 1] 0.00023%v
1,4— %Y 0.00537 1 0.0053<
¢ ;\/;i ;ﬁj Jo. D%IV;VA?/U 0.00437 1| 0.00430
A== ¥ % 0.0023%v 1 0.0023%
FhZ/unFL 0.0013~vv 1 0.0013v>
N ZanTzF1 0.0013%v 1 0.0013%
Ny B 0.0013%> 1 0.0013<Y
WKk DL a4 0.013<v 1 0.013<v
TNAR=Y LR OZDILEY 0.023% 1 0.023<v
g OZEDILED 0.013<v 1 0.013<v
R OZEOLED 0.013=Y 1 0.013<v
TR LR DZEDILE 21 1 21
~UH R OEDALEY 0.0013<v 1 0.0013<
Wik A4 27 26 26 25 4 27 25 26
VRN &/ VN (T Y9 130 129 128 130 4 130 128 129
KIEEEWY 301 306 308 2098 | 4 308 298 303
B A A S A 0.023vv 1 0.023vv
VA AIV 0.0000013< 1 10.0000013%>
2— AF A VRV FA— )L 0.00000137 1 10.0000013<>
AL F TS A 0.0053< 1 0.0053%
7=/ — VH 0.00053< 1| 0.00053%v
A (AR FR(TOC)D ) 0.23vv 0.23%v 0.23%v 02| 4 0.2 0.23%v 0.23%v
pH f& 6.1 6.1 6.1 6.2 4 6.2 6.1 6.1
BOK Rl L L L 4
FE S 0.53vv 0.53vv 0.53vv 0.53vv 4 0.53vv
WwoE 0.13%v 0.13%v 0.13%v 013w | 4 0.13%v
W OBE R OER 106 99 104 9| 4 106 99 102
JE R (7T a3 -2.0 -2.0 -2.0 -1.9| 4 -1.9 -2.0 -2.0
KR 18.3 18.7 18.6 183 4 18.7 18.3 18.5
Wby 74 74 71 73] 4 74 71 73
WO 120 113 118 113 4 120 113 116
12 £ o 3 HE e R 73 70 74 70| 4 74 70 72
VAN S 100 102 105 105 4 105 100 103
WM A 88 1 88
TUE=T RS 0.023<v 0.023<v 0.023<v 0.023xv | 4 0.023wy
ER AR 369 364 366 363 4 369 363 366
SRR EE (E260) 0.002 0.001 0.003 0.003| 4 0.003 0.001 0.002
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ARIFHFEAK 37 BB —KIRHE
AR A 4R 7 104 14
B 12 11 12 17 B e A% T8y
— & A OB INe% 2 N 13ev | 4 2 132y 132y
N 1.03vv 1.03vv 1.03vv LO3vv | 4 1.03vv
IR LR RZEDIEY 0.00033< 1] 0.00033%~
KERF P DILEY 0.000053<> 1| 0.0000537
TR OZEDILEY 0.0013<v 1 0.0013v
DAY 0.0013v 1 0.0013<
=Y O 0.002 1 0.002
AV A= 2y 0.0023< 1 0.00237
i A 2 e % R 0.0043<v 1 0.0043<
T AAF L RO T 0.0013v 1 0.0013v
THEAREZE 8 Sy OV AR RE 25 37 0.4 0.5 0.5 05| 4 0.5 0.4 0.5
TR K ONEDEY 0.19 1 0.19
TR L OEDILEY 0.13vv 1 0.13vv
(= o 0.000237 1] 0.00023%v
1,4— %Y 0.00537 1 0.0053<
¢ ;\/;i ;ﬁj Jo. D%IV;VA?/U 0.00437 1| 0.00430
/A== 0.0023%v 1 0.0023%
FhZ/unFL 0.0013~vv 1 0.0013v>
N ZanTzF1 0.0013%v 1 0.0013%
Ny B 0.0013vv 1 0.0013<Y
WKk DL a4 0.013<v 1 0.013<v
TNAR=Y LR OZDILEY 0.023% 1 0.023<v
g OZEDILED 0.013<v 1 0.013<v
R OZEOLED 0.013=Y 1 0.013<v
TR LR DZEDILE 19 1 19
~UH R OEDALEY 0.0013<v 1 0.0013<
Wik A4 10 12 12 12 4 12 10 12
VRN &/ VN (T Y9 59 61 60 60 4 61 59 60
RBEBHREY 184 209 216 202 4 216 184 203
R A A S IE A 0.023%v 1 0.023vv
VA AIV 0.0000013< 1 10.0000013%>
2— AF A VRV FA— )L 0.00000137 1 10.0000013<>
AL F TS A 0.0053< 1 0.0053%
7=/ — VH 0.00053< 1| 0.00053%v
A (AR FR(TOC)D ) 0.23vv 0.23%v 0.23%v 0.23vv | 4 0.23%v
pH f& 6.5 6.4 6.4 6.5 4 6.5 6.4 6.4
BOK Rl L L L 4
FE S 0.53vv 0.53vv 0.53vv 0.53vv 4 0.53vv
WwoE 0.13%v 0.13%v 0.13%v 013w | 4 0.13%v
W OBE R OER 19 25 26 24 4 26 19 24
JE R (7T a3 -2.2 -2.2 -2.2 2.1 4 -2.1 -2.2 -2.2
KR 18.5 19.3 18.9 183 4 19.3 18.3 18.8
Wby 35 44 43 44| 4 44 35 42
WO 22 28 29 21| 4 29 22 26
12 £ o 3 HE e R 18 23 23 22| 4 23 18 22
VAN S 44 46 46 46| 4 46 44 46
WM A 77 1 77
TUE=T RS 0.023<v 0.023<v 0.023<v 0.023xv | 4 0.023wy
ER AR 201 220 221 220 | 4 221 201 216
SRR EE (E260) 0.002 0.001 0.003 0.003| 4 0.003 0.001 0.002
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FRIEHEAK 38 & Bp KPR Hh
AR A 5/ 8/ 114 2/
B 24 16 15 13 EE{ . e A% 1
— & A OB 1 2 4 7| 4 7 1 4
Nl 1.03vv 1.03vv 1.03vv 1.03vv 4 1.03vv
HRIT LR OZEDLEY 0.00033< 1] 0.00033%~
KERF P DILEY 0.000053<> 1| 0.0000537
TLU R OFEDILAY 0.0013<v 1 0.0013%>
DAY 0.0013< 1 0.0013<
=Y O 0.001 1 0.001
VaViVA=RN(A=x7] 0.0023< 1 0.0023<
i Y Bk R %€ R 0.0043<v 1 0.0043>
T AAF L RO T 0.0013v 1 0.0013v
THEAREZE 8 Sy OV AR RE 25 37 0.23vV 0.23v 0.23v 0.23v | 4 0.23vv
ToFZ M OEDLEY 0.083%Y 1 0.083<y
TR L OEDILEY 0.13vv 1 0.13vv
DU 35 AL B 0.000237 1] 0.00023%v
1,4— %Y 0.0053<Y 1 0.0053%Y
¢ ;\/;?1 ;ﬁj Jo. DZ?VA?/U 0.0043¢Y 1| 0.00430v
A== ¥ % 0.0023<v 1 0.0023%
FhZ/unFL 0.0013~vv 1 0.0013v>
N ZanTzF1 0.0013%v 1 0.0013%
Ny B 0.0013%> 1 0.0013%
WKk DL a4 0.013<v 1 0.013<v
TNAR=Y LR OZDILEY 0.023% 1 0.023<v
g OZEDILED 0.013<v 1 0.013<v
R OZEOLED 0.013=Y 1 0.013<v
TR LR DZEDILE 8 1 8
<~ B OZEDILE Y 0.0013%» 1 0.0013vv
w1 A 7 7 7 7| 4 7
VRN &/ VN (T Y9 31 33 32 32| 4 33 31 32
RBEBHREY 146 122 143 134 4 146 122 136
& A A R TGP 0.023v 1 0.023v
A AIv 0.0000013< 1 10.0000013%>
2= AFNAVRILFA— L 0.00000137 1 10.0000013<>
AL F TS A 0.0053< 1 0.0053%
7=/ — VH 0.00053< 1| 0.00053%v
A (AR FR(TOC)D ) 0.23vv 0.23%v 0.23%v 0.23vv | 4 0.23%v
pH f& 7.0 7.0 7.1 7.0 4 7.1 7.0 7.0
BOK Rl L L L 4
FE S 0.53vv 0.53vv 0.53vv 0.53vv 4 0.53vv
w o 0.13%v 0.13%v 0.13%v 013w | 4 0.13%v
W OBE R OER 9 7 5 7| 4 9 5 7
JE R (7T a3 -2.0 -2.0 -2.0 2.0 4 -2.0
KR 17.4 18.2 17.1 172 4 18.2 17.1 17.5
Wby 38 40 38 40| 4 40 38 39
WO 10 8 6 8| 4 10 6 8
12 & M b B R R 8 6 5 6| 4 8 5 6
VAN S 21 20 20 21| 4 21 20 20
WM A 72 1 72
TUE=T RS 0.023<v 0.023<v 0.023<v 0.023xv | 4 0.023wy
ER AR 115 111 110 1| 4 115 110 112
SRR EE (E260) 0.001 0.001 0.001 0.002| 4 0.002 0.001 0.001
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ARIEHFEAK 39 ZIRAKIR
AR A 5/ 8/ 114 2/
H A 16 9 8 7 EEA e A% oy
— & A OB 1 2 2 3wy | 4 2 IR 1
Nl 1.03vv 1.03vv 1.03vv 1.03vv 4 1.03vv
HRIT LR OZEDLEY 0.00033< 1] 0.00033%~
KERF P DILEY 0.000053<> 1| 0.0000537
TR OZEDILEY 0.0013<v 1 0.0013%>
DAY 0.0013v 1 0.0013<
=Y O 0.0013<Y 1 0.0013<
VaViVA=RN(A=x7] 0.0023< 1 0.0023<
i Y Bk R %€ R 0.0043<v 1 0.0043>
T AAF L RO T 0.0013v 1 0.0013v
THEAREZE 8 Sy OV AR RE 25 37 0.8 0.8 0.8 08| 4 0.8
ToFZ M OEDLEY 0.083%Y 1 0.083<y
TR L OEDILEY 0.13vv 1 0.13vv
DU 35 AL B 0.000237 1] 0.00023%v
1,4— %Y 0.0053<v 1 0.0053%Y
¢ ;\/;?1 ;ﬁj Jo. DZ?VA?/U 0.00437 1| 0.00430
A== ¥ % 0.0023%v 1 0.0023%
FhZ/unFL 0.0013~vv 1 0.0013v>
N ZanTzF1 0.0013%v 1 0.0013%
Ny B 0.0013%> 1 0.0013%
WKk DL a4 0.013<v 1 0.013<v
TNAR=Y LR OZDILEY 0.023% 1 0.023<v
g OZEDILED 0.013<v 1 0.013<v
R OZEOLED 0.013=Y 1 0.013<v
TR LR DZEDILE 8 1 8
<R OEDILE 0.0013%> 1 0.0013%
w1 A 7 7 7 7| 4 7
VRN &/ VN (T Y9 48 52 48 50 4 52 48 50
RBEBHREY 116 121 118 120] 4 121 116 119
& A A R TGP 0.023v 1 0.023v
A AIv 0.0000013< 1 10.0000013%>
2— AF A VRV FA— )L 0.00000137 1 10.0000013<>
AL F TS A 0.0053< 1 0.0053%
7=/ — VH 0.00053< 1| 0.00053%v
A (AR FR(TOC)D ) 0.23vv 0.23%v 0.23%v 0.23vv | 4 0.23%v
pH f& 7.0 6.9 7.0 7.1 4 7.1 6.9 7.0
BOK Rl L L L 4
FE S 0.53vv 0.53vv 0.53vv 0.53vv 4 0.53vv
w o 0.13%v 0.13%v 0.13%v 013w | 4 0.13%v
W OBE R OER 11 12 11 0] 4 12 10 11
JE R (7T a3 -1.7 -1.9 -1.8 -1.7] 4 -1.7 -1.9 -1.8
KR 17.2 18.6 17.0 167 4 18.6 16.7 17.4
Wby 53 50 51 53] 4 53 50 52
WO 12 14 12 11 4 14 11 12
12 & M b B R R 9 11 9 8| 4 11 8 9
Vo AN T 30 29 29 29| 4 30 29 29
WM A 45 1 45
TUE=T RS 0.023<v 0.023<v 0.023<v 0.023xv | 4 0.023wy
ER AR 144 137 135 40| 4 144 135 139
SRR EE (E260) 0.001 0.001 0.001 0.001| 4 0.001
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ARIFHFEAK 40 FLie L K IR e
AR A 5/ 8/ 114 2/
H A 16 9 8 7 A e A% oy
— & MO 13wy 3%V 3%V 13vv | 4 N
Nl 1.03vv 1.03vv 1.03vv 1.03vv 4 1.03vv
HRIT LR OZEDLEY 0.00033< 1] 0.00033%~
KERF P DILEY 0.000053<> 1| 0.0000537
TR OZEDILEY 0.0013<v 1 0.0013%>
DAY 0.0013v 1 0.0013<
=Y O 0.0013<Y 1 0.0013<
VaViVA=RN(A=x7] 0.0023< 1 0.0023<
i Y Bk R %€ R 0.0043<v 1 0.0043>
T AAF L RO T 0.0013v 1 0.0013v
THEAREZE 8 Sy OV AR RE 25 37 0.23vV 0.23v 0.23v 0.23v | 4 0.23vv
ToFZ M OEDLEY 0.083%Y 1 0.083<y
TR L OEDILEY 0.13vv 1 0.13vv
DU 35 AL B 0.000237 1] 0.00023%v
1,4— %Y 0.0053<v 1 0.0053%Y
¢ ;\/;?1 ;ﬁj Jo. DZ?VA?/U 0.00437 1| 0.00430
A== ¥ % 0.0023%v 1 0.0023%
FhZ/unFL 0.0013~vv 1 0.0013v>
N ZanTzF1 0.0013%v 1 0.0013%
Ny B 0.0013%> 1 0.0013%
WKk DL a4 0.013<v 1 0.013<v
TNAR=Y LR OZDILEY 0.023% 1 0.023v>
g OZEDILED 0.013<v 1 0.013<v
R OZEOLED 0.013v 1 0.013v
TR LR DZEDILE 7 1 7
<R OEDILE 0.0013%> 1 0.0013%
w1 A 5 6 6 50 4 6 5 6
VRN &/ VN (T Y9 25 29 30 31| 4 31 25 29
KIEEEWY 68 77 90 82| 4 90 68 79
& A A R TGP 0.023v 1 0.023v
A AIv 0.0000013< 1 10.0000013%>
2— AF A VRV FA— )L 0.00000137 1 10.0000013<>
AL F TS A 0.0053< 1 0.0053%
7=/ — VH 0.00053< 1| 0.00053%v
A (AR FR(TOC)D ) 0.23vv 0.23%v 0.23%v 0.23vv | 4 0.23%v
pH f& 7.0 6.9 7.2 7.0 4 7.2 6.9 7.0
BOK Rl L L L 4
FE S 0.53vv 0.53vv 0.53vv 0.53vv 4 0.53vv
w o 0.13%v 0.13%v 0.13%v 013w | 4 0.13%v
W OBE R OER 8 7 5 7| 4 8 5 7
JE R (7T a3 -2.2 -2.3 -1.9 2.1 4 -1.9 -2.3 -2.1
KR 16.4 16.1 16.3 160 4 16.4 16.0 16.2
W7o hY R 29 31 35 36| 4 36 29 33
WO 9 8 6 8| 4 9 6 8
12 & M b B R R 7 7 5 6| 4 7 5 6
Vo AN T 18 18 20 20| 4 20 18 19
WM A 30 1 30
TUE=T RS 0.023<v 0.023<v 0.023<v 0.023xv | 4 0.023wy
ER AR 87 92 95 98| 4 98 87 93
SRR EE (E260) 0.001 0.001 0.001 0.001| 4 0.001
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RTEHEAK 41 L KR A
AR A 5/ 8/ 114 2/
B 24 16 15 13 EE{ . e A% T
— & MO 13wy 3%V 3%V 13vv | 4 N
N 1.03vv 1.03vv 1.03vv LO3vv | 4 1.03vv
IR LR RZEDIEY 0.00033< 1] 0.00033%~
KERF P DILEY 0.000053<> 1| 0.0000537
TR OZEDILED 0.0013<v 1 0.0013v
DAY 0.0013< 1 0.0013<
=Y O 0.001 1 0.001
AV A= 2y 0.0023v 1 0.00237
i A 2 e % R 0.0043<v 1 0.0043<
T AN A T R T 0.0013v 1 0.0013v
THEAREZE 8 Sy OV AR RE 25 37 0.3 0.2 0.3 03| 4 0.3 0.2 0.3
ToFZ M OEDLEY 0.083%Y 1 0.083<y
TR L OEDILEY 0.13vv 1 0.13vv
(= o 0.000237 1] 0.00023%v
1,4— %Y 0.00537 1 0.0053<
¢ ;\/;i ;ﬁj ;;D%IV;&U 0.0043¢Y 1| 0.00430v
/A== 0.0023<v 1 0.0023%
FhZ/unFL 0.0013~vv 1 0.0013v>
N ZanTzF1 0.0013%v 1 0.0013%
Ny B 0.0013<v 1 0.0013<Y
WKk DL a4 0.013<v 1 0.013<v
TNAR=Y LR OZDILEY 0.023% 1 0.023<v
g OZEDILED 0.013<v 1 0.013<v
R OZEOLED 0.013=Y 1 0.013<v
TR LR DZEDILE 9 1 9
<~ B OZEDILE Y 0.0013%» 1 0.0013vv
w1 A 6 6 6 6| 4 6
VRN &/ VN (T Y9 28 31 29 29 4 31 28 29
RBEBHREY 147 132 140 142 4 147 132 140
R A A S IE A 0.023%v 1 0.023vv
VA AIV 0.0000013< 1 10.0000013%>
2— AF A VRV FA— )L 0.00000137 1 10.0000013<>
AL F TS A 0.0053< 1 0.0053%
7=/ — VH 0.00053< 1| 0.00053%v
A (AR FR(TOC)D ) 0.23vv 0.23%v 0.23%v 0.23vv | 4 0.23%v
pH f& 6.7 6.8 6.7 6.8 4 6.8 6.7 6.8
BOK Rl L L L 4
FE S 0.53vv 0.53vv 0.53vv 0.53vv 4 0.53vv
WwoE 0.13%v 0.13%v 0.13%v 013w | 4 0.13%v
W OBE R OER 15 14 16 16| 4 16 14 15
JE R (7T a3 -2.4 -2.3 -2.4 23| 4 -2.3 -2.4 -2.4
KR 17.1 18.2 17.7 177 4 18.2 17.1 17.7
Wby 38 40 39 41 4 41 38 40
WO 17 16 18 18] 4 18 16 17
12 £ o 3 HE e R 14 13 15 15 4 15 13 14
VAN S 19 18 19 18 4 19 18 18
WM A 80 1 80
TUE=T RS 0.023<v 0.023<v 0.023<v 0.023xv | 4 0.023wy
ER AR 115 112 110 13| 4 115 110 112
SRR EE (E260) 0.001 0.001 0.001 0.001| 4 0.001
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ARIFHFK 42 FGE K A
AR A 5/ 8/ 114 2/
H A 16 9 8 7 EEA e A% 8
— & MO 13wy 3%V 3%V 13vv | 4 N
N 1.03vv 1.03vv 1.03vv LO3vv | 4 1.03vv
HRIT LR OZEDLEY 0.00033< 1] 0.00033%~
KERF P DILEY 0.000053<> 1| 0.0000537
TR OZEDILEY 0.0013<v 1 0.0013%>
DAY 0.0013v 1 0.0013<
=Y O 0.011 0.011 0.011 0.011| 4 0.011
AV A= 2y 0.0023< 1 0.00237
i Y Bk R %€ R 0.0043<v 1 0.0043>
T AAF L RO T 0.0013v 1 0.0013v
THEAREZE 8 Sy OV AR RE 25 37 0.23vV 0.23v 0.23v 0.23v | 4 0.23vv
ToFZ M OEDLEY 0.083%Y 1 0.083<y
TR L OEDILEY 0.13vv 1 0.13vv
DU 35 AL B 0.000237 1] 0.00023%v
1,4— %Y 0.0053<v 1 0.0053%Y
¢ ;\/;i ;ﬁj Jo. D%IV;VA?/U 0.00437 1| 0.00430
A== ¥ % 0.0023%v 1 0.0023%
FhZ/unFL 0.0013~vv 1 0.0013v>
N ZanTzF1 0.0013%v 1 0.0013%
Ny B 0.0013%> 1 0.0013%
WKk DL a4 0.013<v 1 0.013<v
TNAR=Y LR OZDILEY 0.023% 1 0.023v>
g OZEDILED 0.013<v 1 0.013<v
R OZEOLED 0.013=Y 1 0.013v
TR LR DZEDILE 9 1 9
<R OEDILE 0.0013%> 1 0.0013%
w1 A 6 6 6 6| 4 6
VRN &/ VN (T Y9 24 24 24 24| 4 24
RBEBHREY 114 118 117 117 4 118 114 116
R A A S IE A 0.023%v 1 0.023vv
A AIv 0.0000013< 1 10.0000013%>
2— AF A VRV FA— )L 0.00000137 1 10.0000013<>
AL F TS A 0.0053< 1 0.0053%
7=/ — VH 0.00053< 1| 0.00053%v
A (AR FR(TOC)D ) 0.23vv 0.23%v 0.23%v 0.23vv | 4 0.23%v
pH f& 7.6 7.6 7.8 7.8 4 7.8 7.6 7.7
BOK Rl L L L 4
FE S 0.53vv 0.53vv 0.53vv 0.53vv 4 0.53vv
w o 0.13%v 0.13%v 0.13%v 013w | 4 0.13%v
W OBE R OER 2 2 I 13w | 4 2 IR 1
JE R (7T a3 -1.6 -1.6 -1.4 -1.4] 4 -1.4 -1.6 -1.5
KR 19.5 19.3 19.3 192 4 19.5 19.2 19.3
Wby 33 32 33 34| 4 34 32 33
WO 2 2 1 1| 4 2 1 2
12 & M b B R R 2 2 N 13wy | 4 2 132y 1
RN | S 14 14 14 14| 4 14
WM A 64 1 64
TUE=T RS 0.023<v 0.023<v 0.023<v 0.023xv | 4 0.023wy
ER AR 96 93 93 93| 4 96 93 94
SRR EE (E260) 0.001 0.001 0.001 0.001| 4 0.001
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KIFHEAK 43 BAKIEH
AR A 5/ 8/ 114 2/
H A 16 9 8 7 EEA e A% 8
— & MO 13wy 3%V 3%V 13vv | 4 N
N 1.03vv 1.03vv 1.03vv LO3vv | 4 1.03vv
HRIT LR OZEDLEY 0.00033< 1] 0.00033%~
KERF P DILEY 0.000053<> 1| 0.0000537
TR OZEDILEY 0.0013<v 1 0.0013%>
DAY 0.0013v 1 0.0013<
=Y O 0.0013<Y 1 0.0013<
AV A= 2y 0.0023< 1 0.00237
i A 2 e % R 0.0043<v 1 0.0043>
T AAF L RO T 0.0013v 1 0.0013v
THEAREZE 8 Sy OV AR RE 25 37 1.3 1.1 1.2 1.3 4 1.3 1.1 1.2
ToFZ M OEDLEY 0.083%Y 1 0.083<y
TR L OEDILEY 0.13vv 1 0.13vv
DU 35 AL B 0.000237 1] 0.00023%v
1,4— %Y 0.0053<v 1 0.0053%Y
¢ ;\/;i ;ﬁj Jo. D%IV;VA?/U 0.00437 1| 0.00430
A== ¥ % 0.0023%v 1 0.0023%
FhZ/unFL 0.0013~vv 1 0.0013v>
N ZanTzF1 0.0013%v 1 0.0013%
Ny B 0.0013%> 1 0.0013%
WKk DL a4 0.013<v 1 0.013<v
TNAR=Y LR OZDILEY 0.023% 1 0.023<v
g OZEDILED 0.013<v 1 0.013<v
R OZEOLED 0.013=Y 1 0.013<v
TR LR DZEDILE 9 1 9
~UH R OEDALEY 0.0013%> 1 0.0013%
w1 A 8 8 8 8| 4 8
VRN &/ VN (T Y9 43 43 45 44 4 45 43 44
RBEBHREY 130 146 142 138 4 146 130 139
B A A S A 0.023vv 1 0.023vv
A AIv 0.0000013< 1 10.0000013%>
2— AF A VRV FA— )L 0.00000137 1 10.0000013<>
AL F TS A 0.0053< 1 0.0053%
7=/ — VH 0.00053< 1| 0.00053%v
A (AR FR(TOC)D ) 0.23vv 0.23%v 0.23%v 0.23vv | 4 0.23%v
pH f& 6.8 6.8 6.8 6.8 4 6.8
BOK Rl L L L 4
FE S 0.53vv 0.53vv 0.53vv 0.53vv 4 0.53vv
w o 0.13%v 0.13%v 0.13%v 013w | 4 0.13%v
W OBE R OER 16 14 20 17| 4 20 14 17
JE R (7T a3 -2.1 -2.0 -2.0 -2.0| 4 -2.0 -2.1 -2.0
KR 17.8 18.6 18.9 186 4 18.9 17.8 18.5
Wby 44 44 47 48| 4 48 44 46
WO 18 16 23 19| 4 23 16 19
12 £ o 3 HE e R 14 13 18 15 4 18 13 15
VAN S 27 27 28 29| 4 29 27 28
WM A 67 1 67
TUE=T RS 0.023<v 0.023<v 0.023<v 0.023xv | 4 0.023wy
ER AR 147 139 144 47| 4 147 139 144
SRR EE (E260) 0.001 0.002 0.002 0.002| 4 0.002 0.001 0.002
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REHEAK 44 B o ALK JR HE
AR A 5/ 8/ 114 2/
B 24 16 15 13 EE{ . e A% T
— & MO 13wy 3%V 3%V 13vv | 4 N
N 1.03vv 1.03vv 1.03vv LO3vv | 4 1.03vv
IR LR RZEDIEY 0.00033< 1] 0.00033%~
KERF P DILEY 0.000053<> 1| 0.0000537
TR OZEDILED 0.00137Y 1 0.0013v
DAY 0.0013< 1 0.0013<
=Y O 0.001 1 0.001
AV A= 2y 0.0023v 1 0.00237
i A 2 e % R 0.0043< 1 0.0043<
T AN A T R T 0.0013v 1 0.0013v
THEAREZE 8 Sy OV AR RE 25 37 4.3 4.4 4.4 42| 4 4.4 4.2 4.3
ToFZ M OEDLEY 0.083%Y 1 0.083<y
TR L OEDILEY 0.13vv 1 0.13vv
(= o 0.000237 1] 0.00023%v
1,4— %Y 0.00537 1 0.0053<
¢ ;\/;i ;ﬁj Jo. D%IV;VA?/U 0.0043¢Y 1| 0.00430v
/A== 0.0023<v 1 0.0023%
FhZ/unFL 0.0013~vv 1 0.0013v>
N ZanTzF1 0.0013%v 1 0.0013%
Ny B 0.0013<v 1 0.0013<Y
WKk DL a4 0.013<v 1 0.013<v
TNAR=Y LR OZDILEY 0.023% 1 0.023<v
g OZEDILED 0.01 1 0.01
R OZEOLED 0.013=Y 1 0.013<v
TR LR DZEDILE 13 1 13
<~ B OZEDILE Y 0.0013%» 1 0.0013vv
Wik A4 11 11 12 11 4 12 11 11
VRN &/ VN (T Y9 46 48 48 50 4 50 46 48
RBEBHREY 194 194 193 194 4 194 193 194
R A A S IE A 0.023%v 1 0.023vv
VA AIV 0.0000013< 1 10.0000013%>
2— AF A VRV FA— )L 0.00000137 1 10.0000013<>
AL F TS A 0.0053< 1 0.0053%
7=/ — VH 0.00053< 1| 0.00053%v
A (AR FR(TOC)D ) 0.23vv 0.23%v 0.23%v 0.23vv | 4 0.23%v
pH f& 6.7 6.6 6.6 6.7 4 6.7 6.6 6.6
BOK Rl L L L 4
FE S 0.53vv 0.53vv 0.53vv 0.53vv 4 0.53vv
WwoE 0.13%v 0.13%v 0.13%v 013w | 4 0.13%v
W OBE R OER 15 18 18 15| 4 18 15 16
JE R (7T a3 -2.2 -2.3 -2.3 22| 4 -2.2 -2.3 -2.2
KR 19.1 19.9 19.1 184 4 19.9 18.4 19.1
Wby 33 34 34 35 4 35 33 34
WO 17 20 20 17| 4 20 17 18
12 £ o 3 HE e R 14 16 16 14| 4 16 14 15
VAN S 32 31 32 34| 4 34 31 32
WM A 86 1 86
TUE=T RS 0.023<v 0.023<v 0.023<v 0.023xv | 4 0.023wy
ER AR 178 173 174 178 4 178 173 176
SRR EE (E260) 0.002 0.002 0.003 0.002| 4 0.003 0.002 0.002
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ARIFHFEK 45 B3R T KR HE
AR A 5/ 8/ 114 2/
H A 16 9 8 7 A e A% oy
— & MO 13wy 3%V 3%V 13vv | 4 N
Nl 1.03vv 1.03vv 1.03vv 1.03vv 4 1.03vv
HRIT LR OZEDLEY 0.00033< 1] 0.00033%~
KERF P DILEY 0.000053<> 1| 0.0000537
TR OZEDILEY 0.0013<v 1 0.0013%>
DAY 0.0013v 1 0.0013<
=Y O 0.0013<Y 1 0.0013<
VaViVA=RN(A=x7] 0.0023< 1 0.0023<
i Y Bk R %€ R 0.0043<v 1 0.0043>
T AAF L RO T 0.0013v 1 0.0013v
THEAREZE 8 Sy OV AR RE 25 37 0.7 0.6 0.6 06| 4 0.7 0.6 0.6
ToFZ M OEDLEY 0.083%Y 1 0.083<y
TR L OEDILEY 0.13vv 1 0.13vv
DU 35 AL B 0.000237 1] 0.00023%v
1,4— %Y 0.0053<v 1 0.0053%Y
¢ ;\/;?1 ;ﬁj Jo. DZ?VA?/U 0.00437 1| 0.00430
A== ¥ % 0.0023%v 1 0.0023%
FhZ/unFL 0.0013~vv 1 0.0013v>
N ZanTzF1 0.0013%v 1 0.0013%
Ny B 0.0013%> 1 0.0013%
WKk DL a4 0.013<v 1 0.013<v
TNAR=Y LR OZDILEY 0.023% 1 0.023v>
g OZEDILED 0.013<v 1 0.013<v
R OZEOLED 0.013=Y 1 0.013v
TR LR DZEDILE 9 1 9
<R OEDILE 0.0013%> 1 0.0013%
w1 A 8 8 8 7| 4 8 7 8
VRN &/ VN (T Y9 33 34 33 33| 4 34 33 33
RBEBHREY 129 131 148 129 4 148 129 134
& A A R TGP 0.023v 1 0.023v
A AIv 0.0000013< 1 10.0000013%>
2— AF A VRV FA— )L 0.00000137 1 10.0000013<>
AL F TS A 0.0053< 1 0.0053%
7=/ — VH 0.00053< 1| 0.00053%v
A (AR FR(TOC)D ) 0.23vv 0.23%v 0.23%v 0.23vv | 4 0.23%v
pH f& 7.1 7.1 7.2 7.2 4 7.2 7.1 7.2
BOK Rl L L L 4
FE S 0.53vv 0.53vv 0.53vv 0.53vv 4 0.53vv
w o 0.13%v 0.13%v 0.13%v 013w | 4 0.13%v
W OBE R OER 7 6 5 5| 4 7 5 6
JE R (7T a3 -1.9 -1.9 -1.8 -1.8| 4 -1.8 -1.9 -1.8
KR 17.6 18.1 17.2 169 4 18.1 16.9 17.4
Wby 40 38 39 39| 4 40 38 39
WO 8 7 6 6| 4 8 6 7
12 & M b B R R 6 6 5 5| 4 6 5 6
Vo AN T 22 21 21 21| 4 22 21 21
WM A 67 1 67
TUE=T RS 0.023<v 0.023<v 0.023<v 0.023xv | 4 0.023wy
ER AR 125 119 118 19| 4 125 118 120
SRR EE (E260) 0.001 0.001 0.001 0.001| 4 0.001
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KIFEHFAK 46 2 AL 5 — K IR
AR A 5/ 8/ 114 2/
H A 16 9 8 7 A e A% oy
— & MO 13wy 3%V 3%V 13vv | 4 N
Nl 1.03vv 1.03vv 1.03vv 1.03vv 4 1.03vv
HRIT LR OZEDLEY 0.00033< 1] 0.00033%~
KERF P DILEY 0.000053<> 1| 0.0000537
TR OZEDILEY 0.0013<v 1 0.0013%>
DAY 0.0013v 1 0.0013<
=Y O 0.001 1 0.001
VaViVA=RN(A=x7] 0.0023< 1 0.0023<
i Y Bk R %€ R 0.0043<v 1 0.0043>
T AAF L RO T 0.0013v 1 0.0013v
THEAREZE 8 Sy OV AR RE 25 37 0.5 0.5 0.4 05| 4 0.5 0.4 0.5
ToFZ M OEDLEY 0.083%Y 1 0.083<y
TR L OEDILEY 0.13vv 1 0.13vv
DU 35 AL B 0.000237 1] 0.00023%v
1,4— %Y 0.0053<v 1 0.0053%Y
¢ ;\/;?1 ;ﬁj Jo. DZ?VA?/U 0.00437 1| 0.00430
A== ¥ % 0.0023%v 1 0.0023%
FhZ/unFL 0.0013~vv 1 0.0013v>
N ZanTzF1 0.0013%v 1 0.0013%
Ny B 0.0013%> 1 0.0013%
WKk DL a4 0.013<v 1 0.013<v
TNAR=Y LR OZDILEY 0.023% 1 0.023<v
g OZEDILED 0.013<v 1 0.013<v
R OZEOLED 0.013=Y 1 0.013<v
TR LR DZEDILE 8 1 8
<R OEDILE 0.0013%> 1 0.0013%
w1 A 7 7 7 7| 4 7
VRN &/ VN (T Y9 38 38 38 38| 4 38
RBEBHREY 122 125 141 138 4 141 122 132
EA A S A 0.023vv 1 0.023vv
A AIv 0.0000013< 1 10.0000013%>
2— AF A VRV FA— )L 0.00000137 1 10.0000013<>
AL F TS A 0.0053< 1 0.0053%
7=/ — VH 0.00053< 1| 0.00053%v
A (AR FR(TOC)D ) 0.23vv 0.23%v 0.23%v 0.23vv | 4 0.23%v
pH f& 7.3 7.3 7.3 7.3 4 7.3
BOK Rl L L L 4
FE S 0.53vv 0.53vv 0.53vv 0.53vv 4 0.53vv
w o 0.13%v 0.13%v 0.13%v 013w | 4 0.13%v
W OBE R OER 4 4 5 4| 4 5 4 4
JE R (7T a3 -1.6 -1.6 -1.6 -1.6| 4 -1.6
KR 17.9 18.0 18.2 171 4 18.2 17.1 17.8
Wby 44 46 44 44| 4 46 44 44
WO 5 5 6 5| 4 6 5
12 & M b B R R 4 4 5 41 4 5 4 4
RN | S 23 23 23 23 4 23
WM A 62 1 62
TUE=T RS 0.023<v 0.023<v 0.023<v 0.023xv | 4 0.023wy
ER AR 130 126 120 125 4 130 120 125
SRR EE (E260) 0.001 0.001 0.001 0.001| 4 0.001
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IKIFHEAK 47 22 4L 1) 85 — KR H
AR A 5/ 8/ 114 2/
H A 16 9 8 7 A e A% oy
— & MO 13wy 3%V 3%V 13vv | 4 N
Nl 1.03vv 1.03vv 1.03vv 1.03vv 4 1.03vv
HRIT LR OZEDLEY 0.00033< 1] 0.00033%~
KERF P DILEY 0.000053<> 1| 0.0000537
TR OZEDILEY 0.0013<v 1 0.0013%>
DAY 0.0013v 1 0.0013<
=Y O 0.002 1 0.002
VaViVA=RN(A=x7] 0.0023< 1 0.0023<
i Y Bk R %€ R 0.0043<v 1 0.0043>
T AAF L RO T 0.0013v 1 0.0013v
THEAREZE 8 Sy OV AR RE 25 37 0.2 0.3 0.3 02| 4 0.3 0.2 0.2
ToFZ M OEDLEY 0.083%Y 1 0.083<y
TR L OEDILEY 0.13vv 1 0.13vv
DU 35 AL B 0.000237 1] 0.00023%v
1,4— %Y 0.0053<v 1 0.0053%Y
¢ ;\/;?1 ;ﬁj Jo. DZ?VA?/U 0.00437 1| 0.00430
A== ¥ % 0.0023%v 1 0.0023%
FhZ/unFL 0.0013~vv 1 0.0013v>
N ZanTzF1 0.0013%v 1 0.0013%
Ny B 0.0013%> 1 0.0013%
WKk DL a4 0.013<v 1 0.013<v
TNAR=Y LR OZDILEY 0.023% 1 0.023<v
g OZEDILED 0.013<v 1 0.013<v
R OZEOLED 0.013=Y 1 0.013<v
TR LR DZEDILE 9 1 9
<R OEDILE 0.0013%> 1 0.0013%
w1 A 6 6 6 6| 4 6
VRN &/ VN (T Y9 35 36 35 35| 4 36 35 35
RBEBHREY 113 129 127 127 4 129 113 124
EA A S A 0.023vv 1 0.023vv
A AIv 0.0000013< 1 10.0000013%>
2— AF A VRV FA— )L 0.00000137 1 10.0000013<>
AL F TS A 0.0053< 1 0.0053%
7=/ — VH 0.00053< 1| 0.00053%v
A (AR FR(TOC)D ) 0.23vv 0.23%v 0.23%v 0.23vv | 4 0.23%v
pH f& 7.7 7.5 7.6 7.7 4 7.7 7.5 7.6
BOK Rl L L L 4
FE S 0.53vv 0.53vv 0.53vv 0.53vv 4 0.53vv
w o 0.13%v 0.13%v 0.13%v 013w | 4 0.13%v
W OBE R OER 3 4 3 3] 4 4 3 3
JE R (7T a3 -1.2 -1.4 -1.3 -1.3] 4 -1.2 -1.4 -1.3
KR 18.2 18.3 18.2 179 4 18.3 17.9 18.2
Wby 44 44 44 44| 4 44
WO 3 4 3 3] 4 4 3 3
12 & M b B R R 2 3 2 2| 4 3 2 2
Vo AN T 23 22 22 21| 4 23 21 22
WM A 59 1 59
TUE=T RS 0.023<v 0.023<v 0.023<v 0.023xv | 4 0.023wy
ER AR 116 116 114 114 4 116 114 115
SRR EE (E260) 0.001 0.001 0.001 0.001| 4 0.001
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KIFEHEAK 48 22 4L 5 = KR H
AR A 5/ 8/ 114 2/
H A 16 9 8 7 A e A% oy
— & MO 13wy 3%V 3%V 13vv | 4 N
Nl 1.03vv 1.03vv 1.03vv 1.03vv 4 1.03vv
HRIT LR OZEDLEY 0.00033< 1] 0.00033%~
KERF P DILEY 0.000053<> 1| 0.0000537
TR OZEDILEY 0.0013<v 1 0.0013%>
DAY 0.0013v 1 0.0013<
=Y O 0.002 1 0.002
VaViVA=RN(A=x7] 0.0023< 1 0.0023<
i Y Bk R %€ R 0.0043<v 1 0.0043>
T AAF L RO T 0.0013v 1 0.0013v
THEAREZE 8 Sy OV AR RE 25 37 0.2 0.2 0.2 02| 4 0.2
ToFZ M OEDLEY 0.083%Y 1 0.083<y
TR L OEDILEY 0.13vv 1 0.13vv
DU 35 AL B 0.000237 1] 0.00023%v
1,4— %Y 0.0053<v 1 0.0053%Y
¢ ;\/;?1 ;ﬁj Jo. DZ?VA?/U 0.00437 1| 0.00430
A== ¥ % 0.0023%v 1 0.0023%
FhZ/unFL 0.0013~vv 1 0.0013v>
N ZanTzF1 0.0013%v 1 0.0013%
Ny B 0.0013%> 1 0.0013%
WKk DL a4 0.013<v 1 0.013<v
TNAR=Y LR OZDILEY 0.023% 1 0.023v>
g OZEDILED 0.013<v 1 0.013<v
R OZEOLED 0.013=Y 1 0.013v
TR LR DZEDILE 8 1 8
<R OEDILE 0.0013%> 1 0.0013%
w1 A 6 6 6 6| 4 6
VRN &/ VN (T Y9 33 34 34 33| 4 34 33 34
RBEBHREY 112 114 121 116 4 121 112 116
& A A R TGP 0.023v 1 0.023v
A AIv 0.0000013< 1 10.0000013%>
2— AF A VRV FA— )L 0.00000137 1 10.0000013<>
AL F TS A 0.0053< 1 0.0053%
7=/ — VH 0.00053< 1| 0.00053%v
A (AR FR(TOC)D ) 0.23vv 0.23%v 0.23%v 0.23vv | 4 0.23%v
pH f& 7.6 7.5 7.5 7.6 4 7.6 7.5 7.6
BOK Rl L L L 4
FE S 0.53vv 0.53vv 0.53vv 0.53vv 4 0.53vv
w o 0.13%v 0.13%v 0.13%v 013w | 4 0.13%v
W OBE R OER 3 3 3 3 4 3
JE R (7T a3 -1.4 -1.5 -1.5 -1.4] 4 -1.4 -1.5 -1.4
KR 18.9 18.9 18.8 184 4 18.9 18.4 18.8
Wby 41 41 41 43| 4 43 41 42
WO 3 3 3 3 4 3
12 & M b B R R 2 2 2 21 4 2
Vo AN T 21 21 20 20| 4 21 20 20
WM A 60 1 60
TUE=T RS 0.023<v 0.023<v 0.023<v 0.023xv | 4 0.023wy
ER AR 115 112 110 13| 4 115 110 112
SRR EE (E260) 0.001 0.001 0.001 0.001| 4 0.001
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ARIFHFEAK 49 R — KR i
AR A 5/ 8/ 114 2/
H A 16 9 8 7 EEA e A% 8
— % M 9 2 4 9 2 5
K 1B 1.03=v 1.0 1.0 20| 4 2.0 1.03=v 1.0
HRIT LR OZEDLEY 0.00033< 1] 0.00033%~
KERF P DILEY 0.000053<> 1| 0.0000537
TR OZEDILEY 0.0013<v 1 0.0013%>
DAY 0.0013v 1 0.0013<
=Y O 0.0013<Y 1 0.0013<
AV A= 2y 0.0023< 1 0.00237
i A 2 e % R 0.0043<v 1 0.0043>
T AAF L RO T 0.0013v 1 0.0013v
THEAREZE 8 Sy OV AR RE 25 37 0.3 0.3 0.2 03| 4 0.3 0.2 0.3
ToFZ M OEDLEY 0.083%Y 1 0.083<y
TR L OEDILEY 0.13vv 1 0.13vv
DU 35 AL B 0.000237 1] 0.00023%v
1,4— %Y 0.0053<v 1 0.0053%Y
¢ ;\/;i ;ﬁj Jo. D%IV;VA?/U 0.00437 1| 0.00430
A== ¥ % 0.0023%v 1 0.0023%
FhZ/unFL 0.0013~vv 1 0.0013v>
N ZanTzF1 0.0013%v 1 0.0013%
Ny B 0.0013%> 1 0.0013%
WKk DL a4 0.013<v 1 0.013<v
TNAR=Y LR OZDILEY 0.023% 1 0.023<v
g OZEDILED 0.013<v 1 0.013<v
R OZEOLED 0.013=Y 1 0.013<v
TR LR DZEDILE 9 1 9
~UH R OEDALEY 0.0013%> 1 0.0013%
w1 A 6 6 6 6| 4 6
VRN &/ VN (T Y9 23 23 23 23| 4 23
RBEBHREY 108 118 122 100 4 122 100 112
R A A S IE A 0.023%v 1 0.023vv
A AIv 0.0000013< 1 10.0000013%>
2— AF A VRV FA— )L 0.00000137 1 10.0000013<>
AL F TS A 0.0053< 1 0.0053%
7=/ — VH 0.00053< 1| 0.00053%v
A (AR FR(TOC)D ) 0.2 0.23vv 0.23%v 0.23vv | 4 0.2 0.23%v 0.23%v
pH f& 6.4 6.5 6.4 6.3 4 6.5 6.3 6.4
BOK Rl L L L 4
FE S 0.53vv 0.53vv 0.53vv 0.53vv 4 0.53vv
WwoE 0.13%v 0.13%v 0.13%v 013w | 4 0.13%v
W OBE R OER 21 24 20 23 4 24 20 22
JE R (7T a3 -2.9 -2.8 -2.9 -3.0| 4 -2.8 -3.0 -2.9
KR 17.3 17.5 16.6 172 4 17.5 16.6 17.2
Wby 31 32 32 32 4 32 31 32
WO 24 27 23 2| 4 27 23 25
12 £ o 3 HE e R 20 22 19 21| 4 22 19 20
VAN S 14 14 14 13 4 14 13 14
WM A 71 1 71
TUE=T RS 0.023<v 0.023<v 0.023<v 0.023xv | 4 0.023wy
ER AR 93 97 99 98| 4 99 93 97
SRR EE (E260) 0.003 0.002 0.003 0.002| 4 0.003 0.002 0.002
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ARIFEHFEAK 50 WIS —KIR M

AR A 5/ 8/ 114 2/
H A 16 9 8 7 EEA e A% 8
— & A OB 5 4 4 5 2
K 1B 8.4 1.03=v 1.03=v 20| 4 8.4 1.03=v 2.6
HRIT LR OZEDLEY 0.00033< 1] 0.00033%~
KERF P DILEY 0.000053<> 1| 0.0000537
TR OZEDILEY 0.0013<v 1 0.0013%>
DAY 0.0013v 1 0.0013<
=Y O 0.0013<Y 1 0.0013<
AV A= 2y 0.0023< 1 0.00237
i A 2 e % R 0.0043<v 1 0.0043>
T AAF L RO T 0.0013v 1 0.0013v
THEAREZE 8 Sy OV AR RE 25 37 0.3 0.2 0.2 02| 4 0.3 0.2 0.2
ToFZ M OEDLEY 0.083%Y 1 0.083<y
TR L OEDILEY 0.13vv 1 0.13vv
DU 35 AL B 0.000237 1] 0.00023%v
1,4— %Y 0.0053<v 1 0.0053%Y
¢ ;\/;i ;ﬁj Jo. D%IV;VA?/U 0.00437 1| 0.00430
A== ¥ % 0.0023%v 1 0.0023%
FhZ/unFL 0.0013~vv 1 0.0013v>
N ZanTzF1 0.0013%v 1 0.0013%
Ny B 0.0013%> 1 0.0013%
WKk DL a4 0.013<v 1 0.013<v
TNAR=Y LR OZDILEY 0.023% 1 0.023<v
g OZEDILED 0.013<v 1 0.013<v
R OZEOLED 0.013=Y 1 0.013<v
TR LR DZEDILE 9 1 9
~UH R OEDALEY 0.0013%> 1 0.0013%
w1 A 5 5 5 50 4 5
VRN &/ VN (T Y9 18 20 23 21 4 23 18 20
KIEEEWY 77 94 103 107 4 107 77 95
R A A S IE A 0.023%v 1 0.023vv
A AIv 0.0000013< 1 10.0000013%>
2— AF A VRV FA— )L 0.00000137 1 10.0000013<>
AL F TS A 0.0053< 1 0.0053%
7=/ — VH 0.00053< 1| 0.00053%v
A (AR FR(TOC)D ) 0.23vv 0.23%v 0.23%v 0.23vv | 4 0.23%v
pH f& 6.5 6.7 6.5 6.5 4 6.7 6.5 6.6
BOK Rl L L L 4
(= S 0.6 0.53v 0.53v 0.53vv | 4 0.6 0.53% 0.53v
WwoE 0.1 0.13%v 0.13%v 013w | 4 0.1 0.13%v 0.13%v
W OBE R OER 15 16 14 14| 4 16 14 15
JE R (7T a3 -3.0 -2.7 -2.8 29| 4 -2.7 -3.0 -2.8
KR 17.3 17.8 17.4 168 4 17.8 16.8 17.3
Wby 24 28 31 27| 4 31 24 28
WO 17 18 16 16| 4 18 16 17
12 £ o 3 HE e R 14 15 13 13 4 15 13 14
VAN S 12 13 14 12 4 14 12 13
WM A 59 1 59
TUE=T RS 0.023<v 0.023<v 0.023<v 0.023xv | 4 0.023wy
ER AR 78 86 94 88| 4 94 78 86
SRR EE (E260) 0.003 0.002 0.002 0.003| 4 0.003 0.002 0.002
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RFEHFEAK 51 R ILEE =K IR M
AR A 5/ 8/ 114 2/

H A 16 9 8 7 EEA e A% oy
— & A OB 24 8 3| 4 24 3 10
N 1.0 1.03vv 1.03vv 1.03vv 4 1.0 1.03vv 1.03vv
HRIT LR OZEDLEY 0.00033< 1] 0.00033%~

KERF P DILEY 0.000053<> 1| 0.0000537

TR OZEDILEY 0.0013<v 1 0.0013%>

DAY 0.0013v 1 0.0013<

=Y O 0.0013<Y 1 0.0013<

VaViVA=RN(A=x7] 0.0023< 1 0.0023<

i Y Bk R %€ R 0.0043<v 1 0.0043>

T AAF L RO T 0.0013v 1 0.0013v

THEAREZE 8 Sy OV AR RE 25 37 1.6 1.5 1.6 15| 4 1.6 1.5 1.6
ToFZ M OEDLEY 0.083%Y 1 0.083<y

TR L OEDILEY 0.13vv 1 0.13vv

DU 35 AL B 0.000237 1] 0.00023%v

1,4— %Y 0.0053<v 1 0.0053%Y

¢ ;\/;?1 ;ﬁj Jo. DZ?VA?/U 0.00437 1| 0.00430

A== ¥ % 0.0023%v 1 0.0023%

FhZ/unFL 0.0013~vv 1 0.0013v>

N ZanTzF1 0.0013%v 1 0.0013%

Ny B 0.0013%> 1 0.0013%

WKk DL a4 0.013<v 1 0.013<v

TNAR=Y LR OZDILEY 0.023% 1 0.023<v

g OZEDILED 0.013<v 1 0.013<v

R OZEOLED 0.013=Y 1 0.013<v

TR LR DZEDILE 10 1 10

<R OEDILE 0.0013%> 1 0.0013%

w1 A 7 7 7 6| 4 7 6 7
VRN &/ VN (T Y9 30 30 30 31| 4 31 30 30
RBEBHREY 141 145 154 146 | 4 154 141 146
& A A R TGP 0.023v 1 0.023v

A AIv 0.0000013< 1 10.0000013%>

2— AF A VRV FA— )L 0.00000137 1 10.0000013<>

AL F TS A 0.0053< 1 0.0053%

7=/ — VH 0.00053< 1| 0.00053%v

A (AR FR(TOC)D ) 0.23vv 0.23%v 0.23%v 02| 4 0.2 0.23%v 0.23%v
pH f& 6.5 6.5 6.6 6.4 4 6.6 6.4 6.5
BOK Rl L L L 4

FE S 0.53vv 0.53vv 0.53vv 0.53vv 4 0.53vv

w o 0.1 0.13%v 0.13%v 013w | 4 0.1 0.13%v 0.13%v
W OBE R OER 19 20 19 23 4 23 19 20
JE R (7T a3 -2.6 -2.6 -2.5 27| 4 -2.5 -2.7 -2.6
KR 18.1 18.5 18.0 171 4 18.5 17.1 17.9
Wby 36 37 36 36| 4 37 36 36
WO 22 23 22 2| 4 26 22 23
12 £ o 3 HE e R 18 19 18 21| 4 21 18 19
VAN S 18 18 19 18 4 19 18 18
WM A 80 1 80

TUE=T RS 0.023<v 0.023<v 0.023<v 0.023xv | 4 0.023wy

ER AR 127 126 127 127 4 127 126 127
SRR EE (E260) 0.002 0.001 0.002 0.002| 4 0.002 0.001 0.002
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ARIFHFK 52 THEARKIE HE

AR A 5/ 8/ 114 2/
H A 16 9 8 7 EEA e A% 8
— & A OB 2 N 13ev | 4 3 132y 1
N 1.0 1.03vv 1.03vv 1.03vv 4 1.0 1.03vv 1.03vv
HRIT LR OZEDLEY 0.00033< 1] 0.00033%~
KERF P DILEY 0.000053<> 1| 0.0000537
TR OZEDILEY 0.0013<v 1 0.0013%>
DAY 0.0013v 1 0.0013<
=Y O 0.0013<Y 1 0.0013<
AV A= 2y 0.0023< 1 0.00237
i Y Bk R %€ R 0.0043<v 1 0.0043>
T AAF L RO T 0.0013v 1 0.0013v
THEAREZE 8 Sy OV AR RE 25 37 1.4 1.4 1.5 14| 4 1.5 1.4 1.4
ToFZ M OEDLEY 0.083%Y 1 0.083<y
TR L OEDILEY 0.13vv 1 0.13vv
DU 35 AL B 0.000237 1] 0.00023%v
1,4— %Y 0.0053<v 1 0.0053%Y
¢ ;\/;i ;ﬁj Jo. D%IV;VA?/U 0.00437 1| 0.00430
A== ¥ % 0.0023%v 1 0.0023%
FhZ/unFL 0.0013~vv 1 0.0013v>
N ZanTzF1 0.0013%v 1 0.0013%
Ny B 0.0013%> 1 0.0013%
WKk DL a4 0.013<v 1 0.013<v
TNAR=Y LR OZDILEY 0.023% 1 0.023<v
g OZEDILED 0.013<v 1 0.013<v
R OZEOLED 0.013=Y 1 0.013<v
TR LR DZEDILE 12 1 12
<R OEDILE 0.0013%> 1 0.0013%
w1 A 7 7 7 6| 4 7 6 7
VRN &/ VN (T Y9 37 37 38 39 4 39 37 38
KIEEEWY 159 161 168 169 | 4 169 159 164
R A A S IE A 0.023%v 1 0.023vv
A AIv 0.0000013< 1 10.0000013%>
2— AF A VRV FA— )L 0.00000137 1 10.0000013<>
AL F TS A 0.0053< 1 0.0053%
7=/ — VH 0.00053< 1| 0.00053%v
A (AR FR(TOC)D ) 0.2 0.23vv 0.23%v 0.23vv | 4 0.2 0.23%v 0.23%v
pH f& 6.3 6.5 6.3 6.3 4 6.5 6.3 6.4
BOK Rl L L L 4
FE S 0.53vv 0.53vv 0.53vv 0.53vv 4 0.53vv
w o 0.13%v 0.13%v 0.13%v 013w | 4 0.13%v
W OBE R OER 30 29 37 37| 4 37 29 33
JE R (7T a3 -2.6 -2.4 -2.6 26| 4 -2.4 -2.6 -2.6
KR 18.1 18.6 18.0 180 4 18.6 18.0 18.2
Wby 43 43 44 43| 4 44 43 43
WO 34 33 42 42 4 42 33 38
12 £ o 3 HE e R 27 27 33 33| 4 33 27 30
VAN S 23 25 25 23| 4 25 23 24
WM A 83 1 83
TUE=T RS 0.023<v 0.023<v 0.023<v 0.023xv | 4 0.023wy
ER AR 146 143 147 47| 4 147 143 146
SRR EE (E260) 0.001 0.002 0.002 0.002| 4 0.002 0.001 0.002
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ARIFHFEK 53 A B —KIRH
AR A 5/ 8/ 114 2/
H A 16 9 8 7 EEA e A% oy
— & A OB 6 N N 13ev | 4 6 132y 2
Nl 1.03vv 1.03vv 1.03vv 1.03vv 4 1.03vv
HRIT LR OZEDLEY 0.00033< 1] 0.00033%~
KERF P DILEY 0.000053<> 1| 0.0000537
TR OZEDILEY 0.0013<v 1 0.0013%>
DAY 0.0013v 1 0.0013<
=Y O 0.002 1 0.002
VaViVA=RN(A=x7] 0.0023< 1 0.0023<
i Y Bk R %€ R 0.0043<v 1 0.0043>
T AAF L RO T 0.0013v 1 0.0013v
THEAREZE 8 Sy OV AR RE 25 37 0.23vV 0.23v 0.23v 0.23v | 4 0.23vv
TR K ONEDEY 0.14 1 0.14
TR L OEDILEY 0.13vv 1 0.13vv
DU 35 AL B 0.000237 1] 0.00023%v
1,4— %Y 0.0053<v 1 0.0053%Y
¢ ;\/;?1 ;ﬁj Jo. DZ?VA?/U 0.00437 1| 0.00430
A== ¥ % 0.0023%v 1 0.0023%
FhZ/unFL 0.0013~vv 1 0.0013v>
N ZanTzF1 0.0013%v 1 0.0013%
Ny B 0.0013%> 1 0.0013%
WKk DL a4 0.013<v 1 0.013<v
TNAR=Y LR OZDILEY 0.023% 1 0.023<v
g OZEDILED 0.013<v 1 0.013<v
R OZEOLED 0.013=Y 1 0.013<v
TR LR DZEDILE 11 1 11
<R OEDILE 0.0013%> 1 0.0013%
w1 A 6 6 6 50 4 6 5 6
VRN &/ VN (T Y9 30 30 30 30| 4 30
RBEBHREY 126 139 133 127 4 139 126 131
EA A S A 0.023vv 1 0.023vv
A AIv 0.0000013< 1 10.0000013%>
2— AF A VRV FA— )L 0.00000137 1 10.0000013<>
AL F TS A 0.0053< 1 0.0053%
7=/ — VH 0.00053< 1| 0.00053%v
A (AR FR(TOC)D ) 0.23vv 0.23%v 0.23%v 0.23vv | 4 0.23%v
pH f& 7.9 8.0 8.0 7.9 4 8.0 7.9 8.0
BOK Rl L L L 4
FE S 0.53vv 0.53vv 0.53vv 0.53vv 4 0.53vv
w o 0.13%v 0.13%v 0.13%v 013w | 4 0.13%v
E BE RO IR 13vv 13vv IV ! 13vv
JE R (7T a3 -1.2 -1.1 -1.1 -1.2| 4 -1.1 -1.2 -1.2
KR 21.1 21.2 21.0 209 4 21.2 20.9 21.0
Wby 40 41 40 40| 4 41 40 40
e ome B 1 13vv 13vv 13vv 4 1 13vv IR
12 & M b B R R 132y N 137y 13wy | 4 132y
Vo AN T 15 15 15 14| 4 15 14 15
WM A 73 1 73
TUE=T RS 0.023<v 0.023<v 0.023<v 0.023xv | 4 0.023wy
ER AR 116 117 117 17| 4 117 116 117
SRR EE (E260) 0.001 0.001 0.001 0.001| 4 0.001
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ARIFHFK 54 VA B KR
AR A 5/ 8/ 114 2/
H A 16 9 8 7 EEA e A% oy
— & A OB INe% 1 N 13ev | 4 1 132y 137y
Nl 1.03vv 1.03vv 1.03vv 1.03vv 4 1.03vv
HRIT LR OZEDLEY 0.00033< 1] 0.00033%~
KERF P DILEY 0.000053<> 1| 0.0000537
TR OZEDILEY 0.0013<v 1 0.0013%>
DAY 0.0013v 1 0.0013<
=Y O 0.001 1 0.001
VaViVA=RN(A=x7] 0.0023< 1 0.0023<
i Y Bk R %€ R 0.0043<v 1 0.0043>
T AAF L RO T 0.0013v 1 0.0013v
THEAREZE 8 Sy OV AR RE 25 37 0.23vV 0.23v 0.23v 0.23v | 4 0.23vv
TR K ONEDEY 0.13 1 0.13
TR L OEDILEY 0.13vv 1 0.13vv
DU 35 AL B 0.000237 1] 0.00023%v
1,4— %Y 0.0053<v 1 0.0053%Y
¢ ;\/;?1 ;ﬁj Jo. DZ?VA?/U 0.00437 1| 0.00430
A== ¥ % 0.0023%v 1 0.0023%
FhZ/unFL 0.0013~vv 1 0.0013v>
N ZanTzF1 0.0013%v 1 0.0013%
Ny B 0.0013%> 1 0.0013%
WKk DL a4 0.013<v 1 0.013<v
TNAR=Y LR OZDILEY 0.023% 1 0.023<v
g OZEDILED 0.013<v 1 0.013<v
R OZEOLED 0.013=Y 1 0.013<v
TR LR DZEDILE 11 1 11
<R OEDILE 0.0013%> 1 0.0013%
w1 A 6 6 6 6| 4 6
VRN &/ VN (T Y9 34 33 33 34| 4 34 33 34
RBEBHREY 141 136 145 136 4 145 136 140
& A A R TGP 0.023v 1 0.023v
A AIv 0.0000013< 1 10.0000013%>
2— AF A VRV FA— )L 0.00000137 1 10.0000013<>
AL F TS A 0.0053< 1 0.0053%
7=/ — VH 0.00053< 1| 0.00053%v
A (AR FR(TOC)D ) 0.23vv 0.23%v 0.23%v 0.23vv | 4 0.23%v
pH f& 8.0 8.0 8.1 8.0 4 8.1 8.0 8.0
BOK Rl L L L 4
FE S 0.53vv 0.53vv 0.53vv 0.53vv 4 0.53vv
w o 0.13%v 0.13%v 0.13%v 013w | 4 0.13%v
E BE RO IR 13vv 13vv IV ! 13vv
JE R (7T a3 -1.0 -0.9 -0.9 -1.0| 4 -0.9 -1.0 -1.0
KR 21.6 21.6 21.5 216 4 21.6 21.5 21.6
Wby 46 46 45 44| 4 46 44 45
e ome B 1 13vv 13vv 1 4 1 13vv IR
12 & M b B R R 132y N 137y 13wy | 4 132y
Vo AN T 18 19 18 18 4 19 18 18
WM A 71 1 71
TUE=T RS 0.023<v 0.023<v 0.023<v 0.023xv | 4 0.023wy
ER AR 123 124 122 124 4 124 122 123
SRR EE (E260) 0.001 0.001 0.001 0.001| 4 0.001
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AKIFHFEK 55 AR ILEE — KR
AR A 5/ 8/ 114 2/

H A 16 9 8 7 EEA e A% oy
— & A OB 25 14 N 21 4 25 IR 10
Nl 1.03vv 1.03vv 1.03vv 1.03vv 4 1.03vv

HRIT LR OZEDLEY 0.00033< 1] 0.00033%~

KERF P DILEY 0.000053<> 1| 0.0000537

TR OZEDILEY 0.0013<v 1 0.0013%>

DAY 0.0013v 1 0.0013<

=Y O 0.002 1 0.002

VaViVA=RN(A=x7] 0.0023< 1 0.0023<

i Y Bk R %€ R 0.0043<v 1 0.0043>

T AAF L RO T 0.0013v 1 0.0013v

THEAREZE 8 Sy OV AR RE 25 37 0.2 0.2 0.23%v 02| 4 0.2 0.23%v 0.23vV
TR K ONEDEY 0.20 1 0.20

TR L OEDILEY 0.13vv 1 0.13vv

DU 35 AL B 0.000237 1] 0.00023%v

1,4— %Y 0.0053<v 1 0.0053%Y

¢ ;\/;?1 ;ﬁj Jo. DZ?VA?/U 0.00437 1| 0.00430

A== ¥ % 0.0023%v 1 0.0023%

FhZ/unFL 0.0013~vv 1 0.0013v>

N ZanTzF1 0.0013%v 1 0.0013%

Ny B 0.0013%> 1 0.0013%

WKk DL a4 0.013<v 1 0.013<v

TNAR=Y LR OZDILEY 0.023% 1 0.023v>

g OZEDILED 0.01 0.02 0.02 0.02| 4 0.02 0.01 0.02
R OZEOLED 0.013=Y 1 0.013v

TR LR DZEDILE 16 1 16

< R OEDE Y 0.017 0.018 0.019 0.018 4 0.019 0.017 0.018
w1 A 7 7 7 6| 4 7 6 7
VRN &/ VN (T Y9 27 27 27 27| 4 27

KIEEEWY 143 147 160 169 | 4 169 143 155
& A A R TGP 0.023v 1 0.023v

A AIv 0.0000013< 1 10.0000013%>

2— AF A VRV FA— )L 0.00000137 1 10.0000013<>

AL F TS A 0.0053< 1 0.0053%

7=/ — VH 0.00053< 1| 0.00053%v

A (AR FR(TOC)D ) 0.23vv 0.23%v 0.23%v 0.23vv | 4 0.23%v

pH f& 7.1 7.3 7.1 7.0 4 7.3 7.0 7.1
"R WAL KE R Wb kFER | MILKFER | FiLKFER | 4

FE S 0.53vv 0.53vv 0.53vv 0.53vv 4 0.53vv

w o 0.13%v 0.13%v 0.13%v 013w | 4 0.13%v

W OBE R OER 7 6 7 7| 4 7 6 7
JE R (7T a3 -2.0 -1.7 -1.9 2.1 4 -1.7 -2.1 -1.9
KR 20.2 21.0 20.2 203 4 21.0 20.2 20.4
Wby 50 50 50 49| 4 50 49 50
WO 8 7 8 8| 4 8 7 8
12 & M b B R R 6 5 6 6| 4 6 5 6
Vo AN T 14 15 15 14| 4 15 14 14
WM A 82 1 82

TUE=T RS 0.05 0.05 0.07 0.06 | 4 0.07 0.05 0.06
ER AR 135 135 130 136 4 136 130 134
SRR EE (E260) 0.001 0.001 0.002 0.002| 4 0.002 0.001 0.002
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RIEHFEAK 56 TARES — KR Hh

AR A 5/ 8/ 114 2/
B 16 15 7 7 m| & @ e A% T8y
— & A OB 17 N N 21 4 17 IR 5
N 1.03vv 1.03vv 1.03vv LO3vv | 4 1.03vv
HRIT LR OZEDLEY 0.00033< 1] 0.00033%~
KERF P DILEY 0.000053<> 1| 0.0000537
TR OZEDILEY 0.0013<v 1 0.0013%>
R OEDILAE Y 0.0013<v 1 0.0013%
=Y O 0.001 1 0.001
AV A= 2y 0.0023< 1 0.00237
i A 2 e % R 0.0043<v 1 0.0043>
T AAF L RO T 0.0013v 1 0.0013v
THEAREZE 8 ) OV AR RE 28 57 1.3 1.2 1.2 03| 4 1.3 0.3 1.0
ToFZ M OEDLEY 0.083%Y 1 0.083<y
TR L OEDILEY 0.13vv 1 0.13vv
DU 35 AL B 0.000237 1] 0.00023%v
1,4— %Y 0.0053<v 1 0.0053%Y
¢ ;\/;i ;ﬁj Jo. D%IV;VA?/U 0.00437 1| 0.00430
A== ¥ % 0.0023%v 1 0.0023%
FhZ/unFL 0.0013~vv 1 0.0013v>
N ZanTzF1 0.0013%v 1 0.0013%
Ny B 0.0013%> 1 0.0013%
WKk DL a4 0.02 1 0.02
TNAR=Y LR OZDILEY 0.023% 1 0.023<v
g OZEDILED 0.31 0.25 0.24 0.13| 4 0.31 0.13 0.23
R OZEOLED 0.013=Y 1 0.013<v
TR LR DZEDILE 12 1 12
<R OEDILE 0.036 0.037 0.034 0.072| 4 0.072 0.034 0.045
w1 A 8 8 8 6| 4 8 6 8
VRN &/ VN (T Y9 33 33 33 19 4 33 19 30
KIEEEWY 155 177 169 162 4 177 155 166
R A A S IE A 0.023%v 1 0.023vv
A AIv 0.0000013< 1 10.0000013%>
2— AF A VRV FA— )L 0.00000137 1 10.0000013<>
AL F TS A 0.0053< 1 0.0053%
7=/ — VH 0.00053< 1| 0.00053%v
A (AR FR(TOC)D ) 0.2 0.23vv 0.23%v 0.23vv | 4 0.2 0.23%v 0.23%v
pH f& 6.6 6.5 6.6 7.2 4 7.2 6.5 6.7
BOK AR A SR B LK S8 R bR B R bk ER | 4
(= S 2.4 1.7 1.4 1.1 4 2.4 1.1 1.6
o 1.4 0.9 0.7 04| 4 1.4 0.4 0.8
W OBE R OER 17 21 16 9| 4 21 9 16
JE R (7T a3 -2.4 -2.5 -2.4 -1.9| 4 -1.9 -2.5 -2.3
KR 19.1 19.2 19.0 218 4 21.8 19.0 19.8
Wby 37 38 38 55| 4 55 37 42
WO 19 24 18 10| 4 24 10 18
12 & M b B R R 16 20 15 8| 4 20 8 15
VAN S 20 20 20 1l 4 20 11 18
WM A 85 1 85
TUE=T RS 0.02 0.023<v 0.023<v 0.10| 4 0.10 0.023<v 0.03
ER AR 138 139 137 151 4 151 137 141
SRR EE (E260) 0.011 0.009 0.007 0.009 | 4 0.011 0.007 0.009
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ARIFHFEAK 57 RE B —KIFH
AR A 5/ 8/ 114 2/
B 24 16 15 13 B e A% 8
— & A OB 2 2 1 3wy | 4 2 IR 1
Nl 1.03vv 1.03vv 1.03vv 1.03vv 4 1.03vv
HRIT LR OZEDLEY 0.00033< 1] 0.00033%~
KERF P DILEY 0.000053<> 1| 0.0000537
TLU R OFEDILAY 0.0013<v 1 0.0013%>
DAY 0.0013< 1 0.0013<
=Y O 0.001 1 0.001
VaViVA=RN(A=x7] 0.0023< 1 0.0023<
i Y Bk R %€ R 0.0043<v 1 0.0043>
T AAF L RO T 0.0013v 1 0.0013v
THEAREZE 8 Sy OV AR RE 25 37 0.5 0.5 0.5 05| 4 0.5
TR K ONEDEY 0.19 1 0.19
TR L OEDILEY 0.13vv 1 0.13vv
DU 35 AL B 0.000237 1] 0.00023%v
1,4— %Y 0.0053<Y 1 0.0053%Y
¢ ;\/;?1 ;ﬁj Jo. DZ?VA?/U 0.00437 1| 0.00430
A== ¥ % 0.0023<v 1 0.0023%
FhZ/unFL 0.0013~vv 1 0.0013v>
N ZanTzF1 0.0013%v 1 0.0013%
Ny B 0.0013%> 1 0.0013%
WKk DL a4 0.013<v 1 0.013<v
TNAR=Y LR OZDILEY 0.023% 1 0.023<v
g OZEDILED 0.013<v 0.013<v 0.013<v 0.013v/ | 4 0.013<v
R OZEOLED 0.013=Y 1 0.013<v
TR LR DZEDILE 16 1 16
<R OEDILE 0.022 0.017 0.040 0.039| 4 0.040 0.017 0.030
w1 A 8 7 8 8| 4 8 7 8
VRN &/ VN (T Y9 61 62 61 61| 4 62 61 61
RBEBHREY 144 145 143 142 4 145 142 144
& A A R TGP 0.023v 1 0.023v
A AIv 0.0000013< 1 10.0000013%>
2= AFNAVRILFA— L 0.00000137 1 10.0000013<>
AL F TS A 0.0053< 1 0.0053%
7=/ — VH 0.00053< 1| 0.00053%v
A (AR FR(TOC)D ) 0.23vv 0.23%v 0.23%v 0.23vv | 4 0.23%v
pH f& 8.0 7.9 8.0 7.8 4 8.0 7.8 7.9
BOK Rl L L L 4
FE S 0.53vv 0.53vv 0.53vv 0.53vv 4 0.53vv
w o 0.13%v 0.13%v 0.13%v 013w | 4 0.13%v
W OBE R OER I 2 2 13w | 4 2 IR 1
JE R (7T a3 -0.3 -0.4 -0.3 05| 4 -0.3 -0.5 -0.4
KR 21.6 21.6 21.1 212 4 21.6 21.1 21.4
Wby 75 73 74 73] 4 75 73 74
WO 1 2 2 1| 4 2 1 2
12 & M b B R R 132y INS 137y 13xv| 4 132y
VAN S 48 49 49 47| 4 49 47 48
WM A 35 1 35
TUE=T RS 0.023<v 0.023<v 0.023<v 0.023xv | 4 0.023wy
ER AR 201 195 201 201 4 201 195 200
SRR EE (E260) 0.001 0.001 0.001 0.001| 4 0.001
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RIEHEAK 58 EE & KT H
AR A 5/ 8/ 114 2/
B 24 16 15 13 EE{ . e A% 1
— & MO 5 1 2 41 4 5 1 3
K 5 1.03vv 1.03vv 1.03vv 1.03vv 4 1.03vv
HRIY L PZEDLEY 0.00033v 1| 0.00033%v
KRR OZFDALE W 0.000053v 1| 0.000053%
LR OZEDILED 0.00137> 1 0.0013v
SR OEDILAEY 0.0013< 1 0.0013%
ER R OZEDLEY 0.002 1 0.002
VA=Y (#=X7)] 0.0023% 1 0.0023v
i fil B e %= 0.016 1 0.016
T AAF L RO T 0.0013vv 1 0.0013<
THFEREZE 2 S VIR FRRE SR R 0.3 0.3 0.3 0.3 4 0.3
TR NEDILEY 0.26 1 0.26
FUHE M OEDILEY 0.13vv 1 0.137v
M M AL R 0.000237 1| 0.00023%v
1,4— VA% 0.0053% 1 0.0053v
¢ ;\/;?1 ;ﬁj Jo. DZ?VA?/U 0.00437 1| 0.00430
D A=R= % 4 0.0023< 1 0.00237
FhIr/ooFL 0.0013~v> 1 0.0013vv
[NPZ=I=EC S 0.0013% 1 0.0013%
A 0.0013% 1 0.0013v
Mgh & O DILA 0.013vv 1 0.013v
TAI=T LR OEDILEY) 0.023v 1 0.023v>
L OEDILEY 0.013v 0.01 0.013vv 0.013%v | 4 0.01 0.013v 0.013vv
SR OEDILAEY 0.013v 1 0.013v
FTRIT AR OEDLAEY 17 1 17
<A R OZEDILED 0.019 0.019 0.016 0.017 4 0.019 0.016 0.018
AL A A v 9 8 9 8| 4 9 8 8
VAT RN/ SVAVFNE (1 i) 53 54 54 54 4 54 53 54
KEEBEEY 115 127 117 128 4 128 115 122
A A TS A 0.023%v 1 0.023%v
Vet AIv 0.0000013v> 1 10.0000013%>
2— AF AR I — L 0.0000013v 1 10.0000013%
A A PTG R 0.0053< 1 0.00537
7 > /) — VI 0.00053v 1| 0.00053%v
) (AR FE(TOC)D &) 0.23%v 0.23vv 0.23vv 0.23vv | 4 0.23vv
pH fi 8.1 8.1 8.2 8.1 4 8.2 8.1 8.1
BOR WL |BRARLKSER|  BERL RERL 4
@ E 0.53vv 0.53vv 0.53vv 0.53vv 4 0.53vv
& 0.13vv 0.13vv 0.13vv 0.13v/ | 4 0.13vv
E BE RO IR 13vv 13vv 13vv 4 13vv
&t (S VT HER) -0.3 -0.3 -0.2 04| 4 -0.2 -0.4 -0.3
KR 22.0 21.7 21.4 21.3| 4 22.0 21.3 21.6
BT Y 66 65 66 64 4 66 64 65
o IR 13vv 13vv 13vv 4 13vv
12 & M b BE IR 132y INS 137y 13xv| 4 I
TV LR E 42 41 42 41 4 42 41 42
B A R 26 1 26
TUE=THEER 0.023vY 0.023vY 0.023vY 0.023vY 4 0.023%
R R 191 191 191 191 4 191
O (E260) 0.001 0.002 0.001 0.002| 4 0.002 0.001 0.002

—244—




ARIFHFEAK 59 WBE = KIFRM
AR A 5/ 8/ 114 2/
B 24 16 15 13 B e A% T8y
— & A OB INe% 2 N 21 4 2 132y 1
N 1.03vv 1.03vv 1.03vv LO3vv | 4 1.03vv
HRIT LR OZEDLEY 0.00033< 1] 0.00033%~
KERF P DILEY 0.000053<> 1| 0.0000537
TLU R OFEDILAY 0.0013<v 1 0.0013%>
DAY 0.0013< 1 0.0013<
=Y O 0.003 1 0.003
AV A= 2y 0.0023v 1 0.00237
i A 2 e % R 0.0043<v 1 0.0043>
T AAF L RO T 0.0013v 1 0.0013v
THEAREZE 8 Sy OV AR RE 25 37 0.5 0.5 0.6 05| 4 0.6 0.5 0.5
ToFZ M OEDLEY 0.083%Y 1 0.083<y
TR L OEDILEY 0.13vv 1 0.13vv
DU 35 AL B 0.000237 1] 0.00023%v
1,4— %Y 0.0053<Y 1 0.0053%Y
¢ ;\/;i ;ﬁj Jo. D%IV;VA?/U 0.0043¢Y 1| 0.00430v
A== ¥ % 0.0023<v 1 0.0023%
FhZ/unFL 0.0013~vv 1 0.0013v>
N ZanTzF1 0.0013%v 1 0.0013%
Ny B 0.0013%> 1 0.0013%
WKk DL a4 0.013<v 1 0.013<v
TNAR=Y LR OZDILEY 0.023% 1 0.023<v
g OZEDILED 0.013<v 0.013<v 0.013<v 0.01| 4 0.01 0.013<v 0.013<v
R OZEOLED 0.013=Y 1 0.013<v
TR LR DZEDILE 15 1 15
<R OEDILE 0.004 0.004 0.004 0.004 | 4 0.004
w1 A 8 7 8 8| 4 8 7 8
VRN &/ VN (T Y9 44 44 43 45 4 45 43 44
RBEBHREY 124 123 119 133 4 133 119 125
R A A S IE A 0.023%v 1 0.023vv
A AIv 0.0000013< 1 10.0000013%>
2— AF A VRV FA— )L 0.00000137 1 10.0000013<>
AL F TS A 0.0053< 1 0.0053%
7=/ — VH 0.00053< 1| 0.00053%v
A (AR FR(TOC)D ) 0.23vv 0.23%v 0.23%v 0.23vv | 4 0.23%v
pH f& 8.1 7.9 8.1 7.8 4 8.1 7.8 8.0
BOK Rl L L L 4
FE S 0.53vv 0.53vv 0.53vv 0.53vv 4 0.53vv
w o 0.13%v 0.13%v 0.13%v 013w | 4 0.13%v
E BE RO IR 13vv 13vv IV ! 13vv
JE R (7T a3 -0.4 -0.6 -0.4 -0.7] 4 -0.4 -0.7 -0.5
KR 22.9 22.8 22.3 220 4 22.9 22.0 22.5
Wby 60 58 58 55| 4 60 55 58
e ome B IR 13vv 1 13vv 4 1 13vv IR
12 & M b B R R 132y N 132y 13wy | 4 132y
VAN S 38 37 38 38| 4 38 37 38
WM A 37 1 37
TUE=T RS 0.023<v 0.023<v 0.023<v 0.023xv | 4 0.023wy
ER AR 160 161 160 165 4 165 160 162
SRR EE (E260) 0.001 0.002 0.001 0.001| 4 0.002 0.001 0.001
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KIFEHFEAK 60 JRE 5 DU K IR
AR A 5/ 8/ 114 2/
B 24 16 15 13 B e A% T8y
— & A OB INe% N 2 13ev | 4 2 132y 132y
N 1.03vv 1.03vv 1.03vv LO3vv | 4 1.03vv
HRIT LR OZEDLEY 0.00033< 1] 0.00033%~
KERF P DILEY 0.000053<> 1| 0.0000537
TLU R OFEDILAY 0.0013<v 1 0.0013%>
DAY 0.0013< 1 0.0013<
=Y O 0.001 1 0.001
AV A= 2y 0.0023v 1 0.00237
i A 2 e % R 0.0043<v 1 0.0043>
T AAF L RO T 0.0013v 1 0.0013v
THEAREZE 8 Sy OV AR RE 25 37 1.4 1.4 1.5 14| 4 1.5 1.4 1.4
TR K ONEDEY 0.28 1 0.28
TR L OEDILEY 0.13vv 1 0.13vv
DU 35 AL B 0.000237 1] 0.00023%v
1,4— %Y 0.0053<Y 1 0.0053%Y
¢ ;\/;i ;ﬁj Jo. D%IV;VA?/U 0.00437 1| 0.00430
A== ¥ % 0.0023<v 1 0.0023%
FhZ/unFL 0.0013~vv 1 0.0013v>
N ZanTzF1 0.0013%v 1 0.0013%
Ny B 0.0013%> 1 0.0013%
WKk DL a4 0.013<v 1 0.013<v
TNAR=Y LR OZDILEY 0.023% 1 0.023<v
g OZEDILED 0.013<v 0.013<v 0.013<v 0.013v/ | 4 0.013<v
R OZEOLED 0.013=Y 1 0.013<v
TR LR DZEDILE 14 1 14
<R OEDILE 0.0013<v 0.0013%> 0.0013%> 0.0013vv | 4 0.0013%
w1 A 8 8 8 8| 4 8
VRN &/ VN (T Y9 59 59 59 60 4 60 59 59
RBEBHREY 125 142 144 163 4 163 125 144
R A A S IE A 0.023%v 1 0.023vv
A AIv 0.0000013< 1 10.0000013%>
2— AF A VRV FA— )L 0.00000137 1 10.0000013<>
AL F TS A 0.0053< 1 0.0053%
7=/ — VH 0.00053< 1| 0.00053%v
A (AR FR(TOC)D ) 0.23vv 0.23%v 0.23%v 0.23vv | 4 0.23%v
pH f& 7.9 7.8 8.0 7.9 4 8.0 7.8 7.9
BOK Rl L L L 4
FE S 0.53vv 0.53vv 0.53vv 0.53vv 4 0.53vv
w o 0.13%v 0.13%v 0.13%v 013w | 4 0.13%v
E BE RO IR 13vv 13vv IV ! 13vv
JE R (7T a3 -0.5 -0.7 -0.5 06| 4 -0.5 -0.7 -0.6
KR 21.7 20.5 20.5 205 4 21.7 20.5 20.8
Wby 66 64 64 64| 4 66 64 64
WO 1 I 1 1| 4 1 IR I
12 & M b B R R 132y N 132y 13wy | 4 132y
VAN S 42 40 43 42 4 43 40 42
WM A 42 1 42
TUE=T RS 0.023<v 0.023<v 0.023<v 0.023xv | 4 0.023wy
ER AR 185 184 188 187 4 188 184 186
SRR EE (E260) 0.001 0.002 0.001 0.001| 4 0.002 0.001 0.001
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RFEHEAK 61 A DB — AR LT A
AR A 5/ 8/ 114 2/
B 24 16 15 13 EE{ . e A% 1
— & A OB INe% N 2 3 4 3 132y 1
Nl 1.03vv 1.03vv 1.03vv 1.03vv 4 1.03vv
HRIT LR OZEDLEY 0.00033< 1] 0.00033%~
KERF P DILEY 0.000053<> 1| 0.0000537
TLU R OFEDILAY 0.0013<v 1 0.0013%>
DAY 0.0013< 1 0.0013<
=Y O 0.002 1 0.002
VaViVA=RN(A=x7] 0.0023< 1 0.0023<
i Y Bk R %€ R 0.0043<v 1 0.0043>
T AAF L RO T 0.0013v 1 0.0013v
THEAREZE 8 Sy OV AR RE 25 37 0.23vV 0.23v 0.5 03| 4 0.5 0.23%v 0.2
TR K ONEDEY 0.16 1 0.16
TR L OEDILEY 0.13vv 1 0.13vv
DU 35 AL B 0.000237 1] 0.00023%v
1,4— %Y 0.0053<Y 1 0.0053%Y
¢ ;\/;?1 ;ﬁj Jo. DZ?VA?/U 0.00437 1| 0.00430
A== ¥ % 0.0023<v 1 0.0023%
FhZ/unFL 0.0013~vv 1 0.0013v>
N ZanTzF1 0.0013%v 1 0.0013%
Ny B 0.0013%> 1 0.0013%
WKk DL a4 0.013<v 1 0.013<v
TNAR=Y LR OZDILEY 0.023% 1 0.023<v
g OZEDILED 0.013<v 0.013<v 0.013<v 0.013v/ | 4 0.013<v
R OZEOLED 0.013=Y 1 0.013<v
TR LR DZEDILE 20 1 20
<R OEDILE 0.008 0.007 0.010 0.007 | 4 0.010 0.007 0.008
w1 A 6 6 7 6| 4 7 6 6
VRN &/ VN (T Y9 45 45 37 41 4 45 37 42
RBEBHREY 137 135 140 134 4 140 134 136
& A A R TGP 0.023v 1 0.023v
A AIv 0.0000013< 1 10.0000013%>
2= AFNAVRILFA— L 0.00000137 1 10.0000013<>
AL F TS A 0.0053< 1 0.0053%
7=/ — VH 0.00053< 1| 0.00053%v
A (AR FR(TOC)D ) 0.23vv 0.23%v 0.23%v 0.23vv | 4 0.23%v
pH f& 7.9 7.9 7.7 7.7 4 7.9 7.7 7.8
BOK WL | bKER| BEL L 4
FE S 0.53vv 0.53vv 0.53vv 0.53vv 4 0.53vv
w o 0.13%v 0.13%v 0.13%v 013w | 4 0.13%v
E BE RO IR 13vv 2 IV ! 2 13vv IR
JE R (7T a3 -0.5 -0.5 -1.0 08| 4 -0.5 -1.0 -0.7
KR 23.6 23.2 21.7 248 4 24.8 21.7 23.3
Wby 80 76 59 67| 4 80 59 70
WO 1 I 2 1| 4 2 IR 1
12 & M b B R R 132y N 132y 13wy | 4 132y
VAN S 35 35 27 30| 4 35 27 32
WM A 40 1 40
TUE=T RS 0.023<v 0.023<v 0.023<v 0.023xv | 4 0.023wy
ER AR 180 178 152 165 4 180 152 169
SRR EE (E260) 0.001 0.003 0.001 0.001| 4 0.003 0.001 0.002
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ARIFHFEK 62 A DB — KRS 2H T K
AR A 5/ 8/ 114 2/
B 24 16 15 13 EE{ . e A% T
— & A OB INe% 2 N 13ev | 4 2 132y 132y
N 1.03vv 1.03vv 1.03vv LO3vv | 4 1.03vv
HRIT LR OZEDLEY 0.00033< 1] 0.00033%~
KERF P DILEY 0.000053<> 1| 0.0000537
TLU R OFEDILAY 0.0013<v 1 0.0013%>
DAY 0.0013< 1 0.0013<
=Y O 0.001 1 0.001
AV A= 2y 0.0023v 1 0.00237
i A 2 e % R 0.0043<v 1 0.0043>
T AAF L RO T 0.0013v 1 0.0013v
THEAREZE 8 Sy OV AR RE 25 37 0.23vV 0.23v 0.23v 0.23v | 4 0.23vv
TR K ONEDEY 0.15 1 0.15
TR L OEDILEY 0.13vv 1 0.13vv
DU 35 AL B 0.000237 1] 0.00023%v
1,4— %Y 0.00537 1 0.0053%Y
¢ ;\/;i ;ﬁj Jo. D%IV;VA?/U 0.00437 1| 0.00430
A== ¥ % 0.0023<v 1 0.0023%
FhZ/unFL 0.0013~vv 1 0.0013v>
N ZanTzF1 0.0013%v 1 0.0013%
Ny B 0.0013%> 1 0.0013%
WKk DL a4 0.013<v 1 0.013<v
TNAR=Y LR OZDILEY 0.023% 1 0.023<v
g OZEDILED 0.02 0.01 0.02 0.02| 4 0.02 0.01 0.02
R OZEOLED 0.013=Y 1 0.013<v
TR LR DZEDILE 24 1 24
<R OEDILE 0.007 0.008 0.007 0.007 | 4 0.008 0.007 0.007
w1 A 6 6 6 6| 4 6
VRN &/ VN (T Y9 39 38 37 36| 4 39 36 38
RBEBHREY 132 135 120 132 4 135 120 130
R A A S IE A 0.023%v 1 0.023vv
A AIv 0.0000013< 1 10.0000013%>
2— AF A VRV FA— )L 0.00000137 1 10.0000013<>
AL F TS A 0.0053< 1 0.0053%
7=/ — VH 0.00053< 1| 0.00053%v
A (AR FR(TOC)D ) 0.23vv 0.23%v 0.23%v 0.23vv | 4 0.23%v
pH f& 8.2 8.2 8.2 8.2 4 8.2
B Wb ARFRE | Fifb/KER | FfbKER | FifbkER 4
FE S 0.53vv 0.53vv 0.53vv 0.53vv 4 0.53vv
WwoE 0.13%v 0.13%v 0.13%v 013w | 4 0.13%v
E BE RO IR 13vv 13vv IV ! 13vv
JE R (7T a3 -0.2 -0.2 -0.2 03| 4 -0.2 -0.3 -0.2
KR 25.0 24.8 25.0 223 4 25.0 22.3 24.3
Wby 86 79 84 79 4 86 79 82
e ome B IR 13vv 13vv IV ! 13vv
12 & M b B R R 132y N 132y 13wy | 4 132y
VAN S 30 31 31 30| 4 31 30 30
WM A 27 1 27
TUE=T RS 0.04 0.03 0.05 0.04| 4 0.05 0.03 0.04
ER AR 188 181 187 189 4 189 181 186
SRR EE (E260) 0.002 0.003 0.001 0.001| 4 0.003 0.001 0.002
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ARIFHFEK 63 A0 ZARIERE 1T A

AR A 5/ 8/ 114 2/
B 24 16 15 13 EE{ . e A% T
— & A OB 16 40 N 6 4 40 IR 16
N 1.03vv 1.03vv 1.03vv LO3vv | 4 1.03vv
HRIT LR OZEDLEY 0.00033< 1] 0.00033%~
KERF P DILEY 0.000053<> 1| 0.0000537
TLU R OFEDILAY 0.0013<v 1 0.0013%>
DAY 0.0013< 1 0.0013<
=Y O 0.002 1 0.002
AV A= 2y 0.0023v 1 0.00237
i A 2 e % R 0.0043<v 1 0.0043>
T AAF L RO T 0.0013v 1 0.0013v
THEAREZE 8 Sy OV AR RE 25 37 0.7 1.1 2.9 03| 4 2.9 0.3 1.2
TR K ONEDEY 0.16 1 0.16
TR L OEDILEY 0.13vv 1 0.13vv
DU 35 AL B 0.000237 1] 0.00023%v
1,4— %Y 0.0053<Y 1 0.0053%Y
¢ ;\/;i ;ﬁj Jo. D%IV;VA?/U 0.0043¢Y 1| 0.00430v
A== ¥ % 0.0023<v 1 0.0023%
FhZ/unFL 0.0013~vv 1 0.0013v>
N ZanTzF1 0.0013%v 1 0.0013%
Ny B 0.0013%> 1 0.0013%
WKk DL a4 0.013<v 1 0.013<v
TNAR=Y LR OZDILEY 0.023% 1 0.023<v
g OZEDILED 0.013<v 0.013<v 0.013<v 0.01| 4 0.01 0.013<v 0.013<v
R OZEOLED 0.013=Y 1 0.013<v
TR LR DZEDILE 24 1 24
< R OEDE Y 0.018 0.017 0.010 0.012 4 0.018 0.010 0.014
Wik A4 7 7 11 7 4 11 7 8
VRN &/ VN (T Y9 54 54 52 54| 4 54 52 54
KIEEEWY 150 165 175 145 4 175 145 159
R A A S IE A 0.023%v 1 0.023vv
A AIv 0.0000013< 1 10.0000013%>
2— AF A VRV FA— )L 0.00000137 1 10.0000013<>
AL F TS A 0.0053< 1 0.0053%
7=/ — VH 0.00053< 1| 0.00053%v
A (AR FR(TOC)D ) 0.23vv 0.23%v 0.23%v 0.23vv | 4 0.23%v
pH f& 7.8 7.7 7.4 7.9 4 7.9 7.4 7.7
BOK R |MELKFER| RERL  [MEEkER] 4
FE S 0.53vv 0.53vv 0.53vv 0.53vv 4 0.53vv
w o 0.13%v 0.13%v 0.13%v 013w | 4 0.13%v
E BE RO IR 13vv 5 IV ! 5 13vv 1
JE R (7T a3 -0.5 -0.7 -1.2 04| 4 -0.4 -1.2 -0.7
KR 22.8 21.7 21.0 225 4 22.8 21.0 22.0
Wby 88 80 70 90| 4 90 70 82
WO 1 1 6 1| 4 6 1 2
12 & M b B R R 132y N 3 13wy | 4 3 132y 132y
VAN S 41 37 31 40| 4 41 31 37
WM A 43 1 43
TUE=T RS 0.023<v 0.023<v 0.023<v 0.023xv | 4 0.023wy
ER AR 211 208 208 211 4 211 208 210
SRR EE (E260) 0.001 0.003 0.002 0.001| 4 0.003 0.001 0.002
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ARIFHFEK 64 L0 ZARIRRIEE 2 H T A
AR A 5/ 8/ 114 2/
B 24 16 15 13 EE{ . e A% T
— & A OB 70 2 N 3wy | 4 70 IR 18
N 1.03vv 1.03vv 1.03vv LO3vv | 4 1.03vv
HRIT LR OZEDLEY 0.00033< 1] 0.00033%~
KERF P DILEY 0.000053<> 1| 0.0000537
TLU R OFEDILAY 0.0013<v 1 0.0013%>
DAY 0.0013< 1 0.0013<
=Y O 0.002 1 0.002
AV A= 2y 0.0023v 1 0.00237
i A 2 e % R 0.0043<v 1 0.0043>
T AAF L RO T 0.0013v 1 0.0013v
THEAREZE 8 Sy OV AR RE 25 37 0.2 0.23v 0.23v 0.23vv | 4 0.2 0.23vV 0.23vV
TR K ONEDEY 0.13 1 0.13
TR L OEDILEY 0.13vv 1 0.13vv
DU 35 AL B 0.000237 1] 0.00023%v
1,4— %Y 0.00537 1 0.0053%Y
¢ ;\/;i ;ﬁj Jo. D%IV;VA?/U 0.0043¢Y 1| 0.00430v
A== ¥ % 0.0023<v 1 0.0023%
FhZ/unFL 0.0013~vv 1 0.0013v>
N ZanTzF1 0.0013%v 1 0.0013%
Ny B 0.0013<v 1 0.0013%
WKk DL a4 0.013<v 1 0.013<v
TNAR=Y LR OZDILEY 0.023% 1 0.023<v
g OZEDILED 0.04 0.02 0.01 0.03| 4 0.04 0.01 0.02
R OZEOLED 0.013=Y 1 0.013<v
TR LR DZEDILE 24 1 24
<R OEDILE 0.038 0.036 0.034 0.037| 4 0.038 0.034 0.036
w1 A 6 6 6 6| 4 6
VRN &/ VN (T Y9 56 56 56 57| 4 57 56 56
KIEEEWY 168 156 135 155 | 4 168 135 154
R A A S IE A 0.023%v 1 0.023vv
A AIv 0.0000013< 1 10.0000013%>
2— AF A VRV FA— )L 0.00000137 1 10.0000013<>
AL F TS A 0.0053< 1 0.0053%
7=/ — VH 0.00053< 1| 0.00053%v
A (AR FR(TOC)D ) 0.23vv 0.23%v 0.23%v 0.23vv | 4 0.23%v
pH f& 8.0 8.0 8.2 8.1 4 8.2 8.0 8.1
BOK el | BAKER [ kR R milbkER [ 4
FE S 0.53vv 0.53vv 0.53vv 0.53vv 4 0.53vv
WwoE 0.13%v 0.13%v 0.13%v 013w | 4 0.13%v
E BE RO IR 13vv 13vv IV ! 13vv
JE R (7T a3 -0.3 -0.2 0.0 -0.1| 4 0.0 -0.3 -0.2
KR 23.4 24.2 23.9 233 4 24.2 23.3 23.7
Wby 96 96 98 9% | 4 98 96 96
e ome B 1 13vv 13vv 1 4 1 13vv IR
12 & M b B R R 132y N 132y 13wy | 4 132y
RN | S 42 42 42 42 4 42
WM A 28 1 28
TUE=T RS 0.04 0.05 0.05 0.04| 4 0.05 0.04 0.04
ER AR 215 216 215 215 4 216 215 215
SRR EE (E260) 0.003 0.003 0.001 0.002| 4 0.003 0.001 0.002
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AKIFHFEK 65 ADE—KIR
AR A 5/ 8/ 114 2/
B 23 15 14 14 EE{ . e A% T
— & A OB 24 N N 13ev | 4 24 132y 6
N 1.03vv 1.03vv 1.03vv LO3vv | 4 1.03vv
HRIT LR OZEDLEY 0.00033< 1] 0.00033%~
KERF P DILEY 0.000053<> 1| 0.0000537
TLU R OFEDILAY 0.0013<v 1 0.0013%>
DAY 0.0013< 1 0.0013<
=Y O 0.00137Y 1 0.0013<
AV A= 2y 0.0023v 1 0.00237
i Y Bk R %€ R 0.0043<v 1 0.0043>
T AAF L RO T 0.0013v 1 0.0013v
THEAREZE 8 Sy OV AR RE 25 37 0.5 0.4 0.5 04| 4 0.5 0.4 0.4
TR K ONEDEY 0.10 1 0.10
TR L OEDILEY 0.13vv 1 0.13vv
DU 35 AL B 0.000237 1] 0.00023%v
1,4— %Y 0.0053<Y 1 0.0053%Y
¢ ;\/;i ;ﬁj Jo. D%IV;VA?/U 0.0043¢Y 1| 0.00430v
A== ¥ % 0.0023<v 1 0.0023%
FhZ/unFL 0.0013~vv 1 0.0013v>
N ZanTzF1 0.0013%v 1 0.0013%
Ny B 0.0013%> 1 0.0013%
WKk DL a4 0.013<v 1 0.013<v
TNAR=Y LR OZDILEY 0.023% 1 0.023v>
g OZEDILED 0.013<v 0.013<v 0.013<v 0.013v/ | 4 0.013<v
R OZEOLED 0.013=Y 1 0.013v
TR LR DZEDILE 12 1 12
<R OEDILE 0.009 0.009 0.011 0.009 | 4 0.011 0.009 0.010
Wik A4 14 14 15 14 4 15 14 14
VRN &/ VN (T Y9 91 92 90 91| 4 92 90 91
KIEEEWY 154 178 166 169 | 4 178 154 167
R A A S IE A 0.023%v 1 0.023vv
A AIv 0.0000013< 1 10.0000013%>
2— AF A VRV FA— )L 0.00000137 1 10.0000013<>
AL F TS A 0.0053< 1 0.0053%
7=/ — VH 0.00053< 1| 0.00053%v
A (AR FR(TOC)D ) 0.23vv 0.23%v 0.23%v 0.23vv | 4 0.23%v
pH f& 7.6 7.5 7.6 7.6 4 7.6 7.5 7.6
BOK Rl L L L 4
FE S 0.53vv 0.53vv 0.53vv 0.53vv 4 0.53vv
w o 0.13%v 0.13%v 0.13%v 013w | 4 0.13%v
W OBE R OER 4 4 4 4| 4 4
JE R (7T a3 -0.6 -0.7 -0.6 06| 4 -0.6 -0.7 -0.6
KR 20.2 20.2 20.1 201 4 20.2 20.1 20.2
Wby 85 84 84 84| 4 85 84 84
WO 4 4 4 5| 4 5 4 4
12 & M b B R R 2 2 3| 4 3 2
Vo AN T 65 64 63 62| 4 65 62 64
WM A 41 1 41
TUE=T RS 0.023<v 0.023<v 0.023<v 0.023xv | 4 0.023wy
ER AR 241 241 241 240 | 4 241 240 241
SRR EE (E260) 0.003 0.001 0.001 0.001| 4 0.003 0.001 0.002
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RIEHFEAK 66 AAE _KIRM

AR A 5/ 8/ 114 2/
B 23 15 14 14 B e A% T8y
— & A OB 1 N N 13ev | 4 1 132y 137y
N 1.03vv 1.03vv 1.03vv LO3vv | 4 1.03vv
HRIT LR OZEDLEY 0.00033< 1] 0.00033%~
KERF P DILEY 0.000053<> 1| 0.0000537
TLU R OFEDILAY 0.0013<v 1 0.0013%>
DAY 0.0013< 1 0.0013<
=Y O 0.00137Y 1 0.0013<
AV A= 2y 0.0023v 1 0.00237
i A 2 e % R 0.0043<v 1 0.0043>
T AAF L RO T 0.0013v 1 0.0013v
THEAREZE 8 Sy OV AR RE 25 37 0.23vV 0.23v 0.23v 0.23v | 4 0.23vv
TR K ONEDEY 0.25 1 0.25
TR L OEDILEY 0.13vv 1 0.13vv
DU 35 AL B 0.000237 1] 0.00023%v
1,4— %Y 0.0053<Y 1 0.0053%Y
¢ ;\/;i ;ﬁj Jo. D%IV;VA?/U 0.00437 1| 0.00430
A== ¥ % 0.0023<v 1 0.0023%
FhZ/unFL 0.0013~vv 1 0.0013v>
N ZanTzF1 0.0013%v 1 0.0013%
Ny B 0.0013%> 1 0.0013%
WKk DL a4 0.013<v 1 0.013<v
TNAR=Y LR OZDILEY 0.023% 1 0.023<v
g OZEDILED 0.20 0.20 0.20 021 4 0.21 0.20 0.20
R OZEOLED 0.013=Y 1 0.013<v
TR LR DZEDILE 16 1 16
<R OEDILE 0.065 0.065 0.066 0.070 | 4 0.070 0.065 0.066
Wik A4 12 12 12 11 4 12 11 12
VRN &/ VN (T Y9 94 96 97 95 4 97 94 96
KIEEEWY 179 186 186 187 4 187 179 184
R A A S IE A 0.023%v 1 0.023vv
A AIv 0.0000013< 1 10.0000013%>
2— AF A VRV FA— )L 0.00000137 1 10.0000013<>
AL F TS A 0.0053< 1 0.0053%
7=/ — VH 0.00053< 1| 0.00053%v
A (AR FR(TOC)D ) 0.23vv 0.23%v 0.23%v 0.23vv | 4 0.23%v
pH f& 7.8 7.8 7.8 7.8 4 7.8
B Wb ARFRE | Fifb/KER | FfbKER | FifbkER 4
(= S 2.5 2.5 2.4 2.2 4 2.5 2.2 2.4
w o 0.13%v 0.13%v 0.13%v 013w | 4 0.13%v
W OBE R OER 4 3 4 3] 4 4 3 4
JE R (7T a3 -0.2 -0.2 -0.2 0.2 4 -0.2
KR 20.9 21.0 20.9 208 4 21.0 20.8 20.9
Wby 94 95 97 97| 4 97 94 96
WO 4 3 4 3] 4 4 3 4
12 & M b B R R 1 137y 1 13wy | 4 1 132y 132y
VAN S 79 77 77 75 4 79 75 77
WM A 43 1 43
TUE=T RS 0.07 0.06 0.08 0.08 4 0.08 0.06 0.07
ER AR 262 263 264 262 4 264 262 263
SRR EE (E260) 0.019 0.017 0.017 0.016 | 4 0.019 0.016 0.017
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ARIFHFEK 67 AAE =K
AR A 5/ 8/ 114 2/
B 23 15 14 14 EE{ . e A% T
— & A OB 2 N N 13ev | 4 2 132y 132y
N 1.03vv 1.03vv 1.03vv LO3vv | 4 1.03vv
IR LR RZEDIEY 0.00033< 1] 0.00033%~
KERF P DILEY 0.000053<> 1| 0.0000537
TLU R OFEDILAY 0.0013<v 1 0.0013v
DAY 0.0013< 1 0.0013<
=Y O 0.00137Y 1 0.0013<
AV A= 2y 0.0023v 1 0.00237
i A 2 e % R 0.0043<v 1 0.0043<
T AAF L RO T 0.0013v 1 0.0013v
THEAREZE 8 Sy OV AR RE 25 37 0.23vV 0.23v 0.23v 0.23v | 4 0.23vv
TR K ONEDEY 0.27 1 0.27
TR L OEDILEY 0.1 1 0.1
(= o 0.000237 1] 0.00023%v
1,4— %Y 0.00537 1 0.0053<
¢ ;\/;i ;ﬁj Jo. D%IV;VA?/U 0.00437 1| 0.00430
A== ¥ % 0.0023<v 1 0.0023%
FhZ/unFL 0.0013~vv 1 0.0013v>
N ZanTzF1 0.0013%v 1 0.0013%
Ny B 0.0013<v 1 0.0013<Y
WKk DL a4 0.013<v 1 0.013<v
TNAR=Y LR OZDILEY 0.023% 1 0.023<v
g OZEDILED 0.02 0.02 0.02 0.02| 4 0.02
R OZEOLED 0.013=Y 1 0.013<v
TR LR DZEDILE 14 1 14
<R OEDILE 0.045 0.044 0.043 0.046 | 4 0.046 0.043 0.044
w1 A 9 9 9 8| 4 9 8 9
VRN &/ VN (T Y9 73 73 73 73| 4 73
RBEBHREY 142 150 153 146 | 4 153 142 148
R A A S IE A 0.023%v 1 0.023vv
VA AIV 0.0000013< 1 10.0000013%>
2— AF A VRV FA— )L 0.00000137 1 10.0000013<>
AL F TS A 0.0053< 1 0.0053%
7=/ — VH 0.00053< 1| 0.00053%v
A (AR FR(TOC)D ) 0.23vv 0.23%v 0.23%v 0.23vv | 4 0.23%v
pH f& 8.0 7.9 8.0 8.0 4 8.0 7.9 8.0
BOK PARAb A SR B LK S8 R LK 8 R LK R R 4
FE S 0.53vv 0.53vv 0.53vv 0.53vv 4 0.53vv
WwoE 0.13%v 0.13%v 0.13%v 013w | 4 0.13%v
E BE RO IR 13vv 2 IV ! 2 13vv IR
JE R (7T a3 -0.2 -0.3 -0.2 02| 4 -0.2 -0.3 -0.2
KR 20.9 21.0 20.8 207 4 21.0 20.7 20.8
Wby 79 80 81 79 4 81 79 80
WO I 1 2 1| 4 2 IR 1
12 & M b B R R 132y INS 137y 13xv| 4 132y
VAN S 60 58 58 57| 4 60 57 58
WM A 36 1 36
TUE=T RS 0.03 0.02 0.04 0.03 4 0.04 0.02 0.03
ER AR 211 215 212 211 4 215 211 212
SRR EE (E260) 0.005 0.002 0.003 0.003| 4 0.005 0.002 0.003
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ARIFHFEK 68 JrRE— KR

AR A 5/ 8/ 114 2/
B 23 15 14 14 EE{ . e A% T
— & A OB 3 N N 13ev | 4 3 132y 137y
N 1.03vv 1.03vv 1.03vv LO3vv | 4 1.03vv
HRIT LR OZEDLEY 0.00033< 1] 0.00033%~
KERF P DILEY 0.000053<> 1| 0.0000537
TLU R OFEDILAY 0.0013<v 1 0.0013%>
DAY 0.0013< 1 0.0013<
=Y O 0.00137Y 1 0.0013<
AV A= 2y 0.0023v 1 0.00237
i Y Bk R %€ R 0.0043<v 1 0.0043>
T AAF L RO T 0.0013v 1 0.0013v
THEAREZE 8 Sy OV AR RE 25 37 2.8 2.7 2.8 21| 4 2.8 2.1 2.6
TR K ONEDEY 0.13 1 0.13
TR L OEDILEY 0.13vv 1 0.13vv
DU 35 AL B 0.000237 1] 0.00023%v
1,4— %Y 0.0053<Y 1 0.0053%Y
¢ ;\/;i ;ﬁj Jo. D%IV;VA?/U 0.0043¢Y 1| 0.00430v
A== ¥ % 0.0023<v 1 0.0023%
FhZ/unFL 0.0013~vv 1 0.0013v>
N ZanTzF1 0.0013%v 1 0.0013%
Ny B 0.0013%> 1 0.0013%
WKk DL a4 0.02 1 0.02
TNAR=Y LR OZDILEY 0.023% 1 0.023v>
g OZEDILED 0.013<v 0.013<v 0.013<v 0.013v/ | 4 0.013<v
R OZEOLED 0.013=Y 1 0.013v
TR LR DZEDILE 14 1 14
<R OEDILE 0.032 0.030 0.029 0.036 | 4 0.036 0.029 0.032
Wik A4 11 11 12 11 4 12 11 11
VRN &/ VN (T Y9 89 89 90 92| 4 92 89 90
KIEEEWY 182 185 182 179 4 185 179 182
R A A S IE A 0.023%v 1 0.023vv
A AIv 0.0000013< 1 10.0000013%>
2— AF A VRV FA— )L 0.00000137 1 10.0000013<>
AL F TS A 0.0053< 1 0.0053%
7=/ — VH 0.00053< 1| 0.00053%v
A (AR FR(TOC)D ) 0.2 0.23vv 0.23%v 0.23vv | 4 0.2 0.23%v 0.23%v
pH f& 7.2 7.3 7.3 7.3 4 7.3 7.2 7.3
BOK Rl L L L 4
FE S 0.53vv 0.53vv 0.53vv 0.53vv 4 0.53vv
w o 0.13%v 0.13%v 0.13%v 013w | 4 0.13%v
W OBE R OER 8 9 8 7| 4 9 7 8
JE R (7T a3 -0.9 -0.8 -0.8 08| 4 -0.8 -0.9 -0.8
KR 23.0 23.4 23.4 229 4 23.4 22.9 23.2
Wby 80 79 77 80| 4 80 77 79
WO 9 10 9 8| 4 10 8 9
12 & M b B R R 6 7 6 5| 4 7 5 6
VAN S 69 67 68 68| 4 69 67 68
WM A 44 1 44
TUE=T RS 0.023<v 0.023<v 0.023<v 0.023xv | 4 0.023wy
ER AR 250 248 250 244 | 4 250 244 248
SRR EE (E260) 0.004 0.001 0.002 0.002| 4 0.004 0.001 0.002
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ARIFHFEK 69 PTEEE —KIR M

AR A 5/ 8/ 114 2/
B 23 15 14 14 EE{ . e A% T
— & A OB 2 N N 13ev | 4 2 132y 137y
N 1.03vv 1.03vv 1.03vv LO3vv | 4 1.03vv
HRIT LR OZEDLEY 0.00033< 1] 0.00033%~
KERF P DILEY 0.000053<> 1| 0.0000537
TLU R OFEDILAY 0.0013<v 1 0.0013%>
DAY 0.0013< 1 0.0013<
=Y O 0.004 0.004 0.004 0.004 | 4 0.004
AV A= 2y 0.0023v 1 0.00237
i Y Bk R %€ R 0.0043<v 1 0.0043>
T AAF L RO T 0.0013v 1 0.0013v
THEAREZE 8 Sy OV AR RE 25 37 0.23vV 0.23v 0.23v 0.23v | 4 0.23vv
TR K ONEDEY 0.11 1 0.11
TR L OEDILEY 0.13vv 1 0.13vv
DU 35 AL B 0.000237 1] 0.00023%v
1,4— %Y 0.0053<Y 1 0.0053%Y
¢ ;\/;i ;ﬁj Jo. D%IV;VA?/U 0.00437 1| 0.00430
A== ¥ % 0.0023<v 1 0.0023%
FhZ/unFL 0.0013~vv 1 0.0013v>
N ZanTzF1 0.0013%v 1 0.0013%
Ny B 0.0013%> 1 0.0013%
WKk DL a4 0.013<v 1 0.013<v
TNAR=Y LR OZDILEY 0.023% 1 0.023v>
g OZEDILED 0.14 0.13 0.14 0.13| 4 0.14 0.13 0.14
R OZEOLED 0.013=Y 1 0.013v
TR LR DZEDILE 11 1 11
<R OEDILE 0.041 0.039 0.041 0.041| 4 0.041 0.039 0.040
Wik A4 10 10 10 9 4 10 9 10
VRN &/ VN (T Y9 89 87 88 89 4 89 87 88
KIEEEWY 153 159 163 157 4 163 153 158
R A A S IE A 0.023%v 1 0.023vv
A AIv 0.0000013< 1 10.0000013%>
2— AF A VRV FA— )L 0.00000137 1 10.0000013<>
AL F TS A 0.0053< 1 0.0053%
7=/ — VH 0.00053< 1| 0.00053%v
A (AR FR(TOC)D ) 0.23vv 0.23%v 0.23%v 0.23vv | 4 0.23%v
pH f& 7.9 7.9 8.0 8.0 4 8.0 7.9 8.0
B Wb ARFRE | Fifb/KER | FfbKER | FifbkER 4
(= S 1.3 1.3 1.2 1.2 4 1.3 1.2 1.2
w o 0.13%v 0.13%v 0.13%v 013w | 4 0.13%v
W OBE R OER I 2 2 13w | 4 2 IR 1
JE R (7T a3 -0.2 -0.3 -0.2 02| 4 -0.2 -0.3 -0.2
KR 21.3 21.2 21.1 212 4 21.3 21.1 21.2
Wby 81 80 80 81| 4 81 80 80
WO 1 2 2 1| 4 2 1 2
12 & M b B R R 132y INS 137y 13xv| 4 132y
VAN S 71 66 66 67| 4 71 66 68
WM A 33 1 33
TUE=T RS 0.04 0.04 0.05 0.06 | 4 0.06 0.04 0.05
ER AR 229 229 231 229 | 4 231 229 230
SRR EE (E260) 0.011 0.009 0.010 0.010 | 4 0.011 0.009 0.010
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ARIFHFEAK 70 PR = KIFHIEE 1 # T K
AR A 5/ 7 114 2/
B 24 2 15 13 EE{ . e A% T
— & A OB INS 2 1 80 4 80 IR 21
N 1.03vv 1.03vv 1.03vv LO3vv | 4 1.03vv
IR LR RZEDIEY 0.00033< 1] 0.00033%~
KERF P DILEY 0.000053<> 1| 0.0000537
TR OZEDILED 0.0013<v 1 0.0013v
DAY 0.0013< 1 0.0013<
=Y O 0.003 0.003 0.004 0.004 | 4 0.004 0.003 0.004
AV A= 2y 0.0023v 1 0.00237
i A 2 e % R 0.0043<v 1 0.0043<
T AAF L RO T 0.0013v 1 0.0013v
THEAREZE 8 Sy OV AR RE 25 37 0.23vV 0.23v 0.23v 0.23v | 4 0.23vv
TR K ONEDEY 0.20 1 0.20
TR L OEDILEY 0.13vv 1 0.13vv
(= o 0.000237 1] 0.00023%v
1,4— %Y 0.00537 1 0.0053<
¢ ;\/;i ;ﬁj Jo. D%IV;VA?/U 0.0043¢Y 1| 0.00430v
/A== 0.0023<v 1 0.0023%
FhZ/unFL 0.0013~vv 1 0.0013v>
N ZanTzF1 0.0013%v 1 0.0013%
Ny B 0.0013<v 1 0.0013<Y
WKk DL a4 0.013<v 1 0.013<v
TNAR=Y LR OZDILEY 0.023% 1 0.023<v
g OZEDILED 0.05 0.04 0.09 0.07| 4 0.09 0.04 0.06
R OZEOLED 0.013=Y 1 0.013<v
TR LR DZEDILE 12 1 12
<R OEDILE 0.010 0.009 0.011 0.010 | 4 0.011 0.009 0.010
w1 A 9 9 9 9| 4 9
VRN &/ VN (T Y9 78 78 81 81| 4 81 78 80
RBEBHREY 152 143 135 140 4 152 135 142
R A A S IE A 0.023%v 1 0.023vv
VA AIV 0.0000013< 1 10.0000013%>
2— AF A VRV FA— )L 0.00000137 1 10.0000013<>
AL F TS A 0.0053< 1 0.0053%
7=/ — VH 0.00053< 1| 0.00053%v
A (AR FR(TOC)D ) 0.23vv 0.23%v 0.23%v 0.23vv | 4 0.23%v
pH f& 8.0 8.0 8.0 8.0 4 8.0
BOK WifbkER | WL | kER | fikER | 4
(= S 0.53v 0.53v 0.9 06| 4 0.9 0.53% 0.53v
WwoE 0.13%v 0.13%v 0.13%v 013w | 4 0.13%v
E BE RO IR 13vv 13vv IV ! 13vv
JE R (7T a3 -0.2 -0.2 -0.2 0.2 4 -0.2
KR 21.4 21.4 21.5 210 4 21.5 21.0 21.3
Wby 81 80 78 81| 4 81 78 80
WO 1 1 I 1| 4 1 IR I
12 & M b B R R 132y INS 137y 13xv| 4 132y
VAN S 60 58 61 61| 4 61 58 60
WM A 27 1 27
TUE=T RS 0.05 0.04 0.06 0.05 4 0.06 0.04 0.05
ER AR 211 213 216 216 | 4 216 211 214
SRR EE (E260) 0.003 0.004 0.006 0.005 | 4 0.006 0.003 0.004
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RTEHEAK 71 PR = KIFHIEE 2 T K

AR A 5/ 7 114 2/
B 24 26 15 13 B e A% T8y
— & A OB INS 2 5 41 4 5 IR 3
N 1.03vv 1.03vv 1.03vv LO3vv | 4 1.03vv
HRIT LR OZEDLEY 0.00033< 1] 0.00033%~
KERF P DILEY 0.000053<> 1| 0.0000537
TLU R OFEDILAY 0.0013<v 1 0.0013%>
DAY 0.0013< 1 0.0013<
=Y O 0.006 0.006 0.008 0.010 | 4 0.010 0.006 0.008
AV A= 2y 0.0023v 1 0.00237
i A 2 e % R 0.0043<v 1 0.0043>
T AAF L RO T 0.0013v 1 0.0013v
THEAREZE 8 Sy OV AR RE 25 37 0.5 0.3 0.3 05| 4 0.5 0.3 0.4
TR K ONEDEY 0.16 1 0.16
TR L OEDILEY 0.13vv 1 0.13vv
DU 35 AL B 0.000237 1] 0.00023%v
1,4— %Y 0.0053<Y 1 0.0053%Y
¢ ;\/;i ;ﬁj Jo. D%IV;VA?/U 0.00437 1| 0.00430
A== ¥ % 0.0023<v 1 0.0023%
FhZ/unFL 0.0013~vv 1 0.0013v>
N ZanTzF1 0.0013%v 1 0.0013%
Ny B 0.0013%> 1 0.0013%
WKk DL a4 0.013<v 1 0.013<v
TNAR=Y LR OZDILEY 0.023% 1 0.023<v
g OZEDILED 0.013<v 0.03 0.01 0.013v/ | 4 0.03 0.013<v 0.01
R OZEOLED 0.013=Y 1 0.013<v
TR LR DZEDILE 12 1 12
<R OEDILE 0.001 0.002 0.006 0.004 | 4 0.006 0.001 0.003
Wik A4 10 10 11 11 4 11 10 10
VRN &/ VN (T Y9 86 84 89 93| 4 93 84 88
KIEEEWY 175 167 167 177 4 177 167 172
R A A S IE A 0.023%v 1 0.023vv
A AIv 0.0000013< 1 10.0000013%>
2— AF A VRV FA— )L 0.00000137 1 10.0000013<>
AL F TS A 0.0053< 1 0.0053%
7=/ — VH 0.00053< 1| 0.00053%v
A (AR FR(TOC)D ) 0.23vv 0.23%v 0.23%v 0.23vv | 4 0.23%v
pH f& 7.6 7.8 7.8 7.5 4 7.8 7.5 7.7
BOK Rl L WL | bkERER] 4
(= S 0.53v 0.53v 0.9 0.53vv | 4 0.9 0.53% 0.53v
w o 0.13%v 0.13%v 0.1 013w | 4 0.1 0.13%v 0.13%v
W OBE R OER 4 3 4 2| 4 4 2 3
JE R (7T a3 -0.6 -0.4 -0.4 -0.7] 4 -0.4 -0.7 -0.5
KR 20.8 20.7 19.9 203 4 20.8 19.9 20.4
Wby 78 79 82 4] 4 82 74 78
WO 5 3 4 2| 4 5 2 4
12 & M b B R R 3 1 2 13wy | 4 3 IR 2
VAN S 65 64 65 67| 4 67 64 65
WM A 37 1 37
TUE=T RS 0.023<v 0.023<v 0.023<v 0.023xv | 4 0.023wy
ER AR 231 229 238 245 4 245 229 236
SRR EE (E260) 0.001 0.003 0.003 0.001| 4 0.003 0.001 0.002

—257—




ARIFHFAK 72 FATEAR 1L 85— 7K I 3
AR A 5/ 8/ 114 2/
B 24 16 15 13 EE{ . e A% T
— & A OB INS 10 5 3wy | 4 10 IR 4
N 1.03vv 1.03vv 1.03vv LO3vv | 4 1.03vv
HRIT LR OZEDLEY 0.00033< 1] 0.00033%~
KERF P DILEY 0.000053<> 1| 0.0000537
TLU R OFEDILAY 0.0013<v 1 0.0013%>
DAY 0.0013< 1 0.0013<
=Y O 0.00137Y 1 0.0013<
AV A= 2y 0.0023v 1 0.00237
i Y Bk R %€ R 0.0043<v 1 0.0043>
T AAF L RO T 0.0013v 1 0.0013v
THEAREZE 8 Sy OV AR RE 25 37 0.23vV 0.23v 0.23v 0.23v | 4 0.23vv
TR K ONEDEY 0.09 1 0.09
TR L OEDILEY 0.13vv 1 0.13vv
DU 35 AL B 0.000237 1] 0.00023%v
1,4— %Y 0.0053<Y 1 0.0053%Y
¢ ;\/;i ;ﬁj Jo. D%IV;VA?/U 0.0043¢Y 1| 0.00430v
A== ¥ % 0.0023<v 1 0.0023%
FhZ/unFL 0.0013~vv 1 0.0013v>
N ZanTzF1 0.0013%v 1 0.0013%
Ny B 0.0013%> 1 0.0013%
WKk DL a4 0.013<v 1 0.013<v
TNAR=Y LR OZDILEY 0.023% 1 0.023<v
g OZEDILED 0.02 0.02 0.02 0.02| 4 0.02
R OZEOLED 0.013=Y 1 0.013<v
TR LR DZEDILE 15 1 15
<R OEDILE 0.018 0.018 0.019 0.020 | 4 0.020 0.018 0.019
w1 A 8 8 8 7| 4 8 7 8
VRN &/ VN (T Y9 78 80 78 7 4 80 77 78
KIEEEWY 160 153 139 148 | 4 160 139 150
R A A S IE A 0.023%v 1 0.023vv
A AIv 0.0000013< 1 10.0000013%>
2— AF A VRV FA— )L 0.00000137 1 10.0000013<>
AL F TS A 0.0053< 1 0.0053%
7=/ — VH 0.00053< 1| 0.00053%v
A (AR FR(TOC)D ) 0.23vv 0.23%v 0.23%v 0.23vv | 4 0.23%v
pH f& 8.0 8.0 8.1 8.0 4 8.1 8.0 8.0
BOK PbTA /K S8 B iAok S8 B R LK SR BRI KRR 4
FE S 0.53vv 0.53vv 0.53vv 0.53vv 4 0.53vv
w o 0.13%v 0.13%v 0.13%v 013w | 4 0.13%v
E BE RO IR 13vv 13vv IV ! 13vv
JE R (7T a3 -0.2 -0.2 -0.1 02| 4 -0.1 -0.2 -0.2
KR 20.5 20.7 18.4 206 4 20.7 18.4 20.0
Wby 90 91 90 88| 4 91 88 90
WO 1 1 I 1| 4 1 IR I
12 & M b B R R 132y INS 137y 13xv| 4 132y
VAN S 55 57 55 53| 4 57 53 55
WM A 27 1 27
TUE=T RS 0.28 0.27 0.31 0.30 | 4 0.31 0.27 0.29
ER AR 228 230 228 227 4 230 227 228
SRR EE (E260) 0.002 0.003 0.001 0.001| 4 0.003 0.001 0.002
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ARIFHFEAK 73 FATLIR (LS =K IR HIEE 1 # T K
AR A 5/ 8/ 114 2/
B 24 16 15 13 EE{ . e A% T
— & A OB INe% 1 1 13ev | 4 1 132y 132y
N 1.03vv 1.03vv 1.03vv LO3vv | 4 1.03vv
HRIT LR OZEDLEY 0.00033< 1] 0.00033%~
KERF P DILEY 0.000053<> 1| 0.0000537
TLU R OFEDILAY 0.0013<v 1 0.0013%>
DAY 0.0013< 1 0.0013<
=Y O 0.00137Y 1 0.0013<
AV A= 2y 0.0023v 1 0.00237
i A 2 e % R 0.0043<v 1 0.0043>
T AAF L RO T 0.0013v 1 0.0013v
THEAREZE 8 Sy OV AR RE 25 37 0.23vV 0.23v 0.23v 0.23v | 4 0.23vv
TR K ONEDEY 0.09 1 0.09
TR L OEDILEY 0.13vv 1 0.13vv
DU 35 AL B 0.000237 1] 0.00023%v
1,4— %Y 0.00537 1 0.0053%Y
¢ ;\/;i ;ﬁj Jo. D%IV;VA?/U 0.0043¢Y 1| 0.00430v
A== ¥ % 0.0023<v 1 0.0023%
FhZ/unFL 0.0013~vv 1 0.0013v>
N ZanTzF1 0.0013%v 1 0.0013%
Ny B 0.0013%> 1 0.0013%
WKk DL a4 0.013<v 1 0.013<v
TNAR=Y LR OZDILEY 0.023% 1 0.023<v
g OZEDILED 0.03 0.02 0.02 0.03| 4 0.03 0.02 0.02
R OZEOLED 0.013=Y 1 0.013<v
TR LR DZEDILE 11 1 11
<R OEDILE 0.010 0.009 0.009 0.010 | 4 0.010 0.009 0.010
w1 A 7 7 7 6| 4 7 6 7
VRN &/ VN (T Y9 70 70 70 1| 4 71 70 70
RBEBHREY 145 139 129 138 4 145 129 138
R A A S IE A 0.023%v 1 0.023vv
A AIv 0.0000013< 1 10.0000013%>
2— AF A VRV FA— )L 0.00000137 1 10.0000013<>
AL F TS A 0.0053< 1 0.0053%
7=/ — VH 0.00053< 1| 0.00053%v
A (AR FR(TOC)D ) 0.23vv 0.23%v 0.23%v 0.23vv | 4 0.23%v
pH f& 8.2 8.1 8.2 8.1 4 8.2 8.1 8.2
BOK AR A SR B LK S8 R bR B R bk ER | 4
FE S 0.53vv 0.53vv 0.53vv 0.53vv 4 0.53vv
WwoE 0.13%v 0.13%v 0.13%v 013w | 4 0.13%v
E BE RO IR 13vv 13vv IV ! 13vv
JE R (7T a3 -0.1 -0.2 -0.2 03| 4 -0.1 -0.3 -0.2
KR 19.8 19.9 19.7 198 4 19.9 19.7 19.8
Wby 74 74 72 1] 4 74 71 73
WO 1 1 I 13w | 4 1 IR I
12 & M b B R R 132y INS 137y 13xv| 4 132y
VAN S 49 50 48 49| 4 50 48 49
WM A 27 1 27
TUE=T RS 0.34 0.35 0.36 0.33 4 0.36 0.33 0.34
ER AR 200 202 198 197 4 202 197 199
SRR EE (E260) 0.001 0.003 0.002 0.002| 4 0.003 0.001 0.002
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ARIFHFK 74 AR (LS =K IR HIEBE 2 3 T K
AR A 5/ 8/ 114 2/
B 24 16 15 13 EE{ . e A% T
— & A OB INe% N N 1| 4 1 132y 132y
N 1.03vv 1.03vv 1.03vv LO3vv | 4 1.03vv
IR LR RZEDIEY 0.00033< 1] 0.00033%~
KERF P DILEY 0.000053<> 1| 0.0000537
TLU R OFEDILAY 0.0013<v 1 0.0013v
DAY 0.0013< 1 0.0013<
=Y O 0.00137Y 1 0.0013<
AV A= 2y 0.0023v 1 0.00237
i A 2 e % R 0.0043<v 1 0.0043<
T AAF L RO T 0.0013v 1 0.0013v
THEAREZE 8 Sy OV AR RE 25 37 0.23vV 0.23v 0.23v 0.23v | 4 0.23vv
TR K ONEDEY 0.09 1 0.09
TR L OEDILEY 0.13vv 1 0.13vv
DU 35 AL B 0.000237 1] 0.00023%v
1,4— %Y 0.00537 1 0.0053<
¢ ;\/;i ;ﬁj Jo. D%IV;VA?/U 0.0043¢Y 1| 0.00430v
A== ¥ % 0.0023<v 1 0.0023%
FhZ/unFL 0.0013~vv 1 0.0013v>
N ZanTzF1 0.0013%v 1 0.0013%
Ny B 0.0013<v 1 0.0013<Y
WKk DL a4 0.013<v 1 0.013<v
TNAR=Y LR OZDILEY 0.023% 1 0.023<v
g OZEDILED 0.03 0.02 0.02 0.03| 4 0.03 0.02 0.02
R OZEOLED 0.013=Y 1 0.013<v
TR LR DZEDILE 13 1 13
<R OEDILE 0.009 0.008 0.009 0.010 | 4 0.010 0.008 0.009
w1 A 7 7 7 7| 4 7
VRN &/ VN (T Y9 69 68 67 68| 4 69 67 68
RBEBHREY 147 142 127 140 4 147 127 139
R A A S IE A 0.023%v 1 0.023vv
VA AIV 0.0000013< 1 10.0000013%>
2— AF A VRV FA— )L 0.00000137 1 10.0000013<>
AL F TS A 0.0053< 1 0.0053%
7=/ — VH 0.00053< 1| 0.00053%v
A (AR FR(TOC)D ) 0.23vv 0.23%v 0.23%v 0.23vv | 4 0.23%v
pH f& 8.2 8.1 8.2 8.1 4 8.2 8.1 8.2
BOK AR A SR B LK S8 R bR B R bk ER | 4
FE S 0.53vv 0.53vv 0.53vv 0.53vv 4 0.53vv
WwoE 0.13%v 0.13%v 0.13%v 013w | 4 0.13%v
E BE RO IR 13vv 13vv IV ! 13vv
JE R (7T a3 -0.1 -0.2 -0.2 03| 4 -0.1 -0.3 -0.2
KR 20.8 20.4 19.9 198 4 20.8 19.8 20.2
Wby 75 74 75 72| 4 75 72 74
e ome B IR 1 13vv IV ! 1 13vv IR
12 & M b B R R 132y INS 137y 13xv| 4 132y
VAN S 48 48 46 46| 4 48 46 47
WM A 27 1 27
TUE=T RS 0.33 0.34 0.39 0.37| 4 0.39 0.33 0.36
ER AR 202 202 202 201 4 202 201 202
SRR EE (E260) 0.001 0.003 0.002 0.002| 4 0.003 0.001 0.002
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ARIFHFEK 75 FATEAR 111 B8 DU 7K I 3
AR A 5/ 8/ 114 2/
B 24 16 15 13 EE . B A% DA
— & MO 13wy 3%V 3%V 13vv | 4 N
Nl 1.03vv 1.03vv 1.03vv 1.03vv 4 1.03vv
HRIT LR OZEDLEY 0.00033< 1] 0.00033%~
KERF P DILEY 0.000053<> 1| 0.0000537
TLU R OFEDILAY 0.0013<v 1 0.0013%>
DAY 0.0013< 1 0.0013<
=Y O 0.001 1 0.001
VaViVA=RN(A=x7] 0.0023< 1 0.0023<
i Y Bk R %€ R 0.0043<v 1 0.0043>
T AAF L RO T 0.0013v 1 0.0013v
THEAREZE 8 Sy OV AR RE 25 37 0.6 0.7 0.7 0.6 4 0.7 0.6 0.6
TR K ONEDEY 0.11 1 0.11
TR L OEDILEY 0.13vv 1 0.13vv
DU 35 AL B 0.000237 1] 0.00023%v
1,4— %Y 0.0053<Y 1 0.0053%Y
¢ ;\/;?1 ;ﬁj Jo. DZ?VA?/U 0.00437 1| 0.00430
A== ¥ % 0.0023<v 1 0.0023%
FhZ/unFL 0.0013~vv 1 0.0013v>
N ZanTzF1 0.0013%v 1 0.0013%
Ny B 0.0013%> 1 0.0013%
WKk DL a4 0.013<v 1 0.013<v
TNAR=Y LR OZDILEY 0.023% 1 0.023<v
g OZEDILED 0.013<v 0.013<v 0.013<v 0.013v/ | 4 0.013<v
R OZEOLED 0.013=Y 1 0.013<v
TR LR DZEDILE 13 1 13
<R OEDILE 0.0013<v 0.0013%> 0.0013%> 0.0013vv | 4 0.0013%
w1 A 9 9 9 8| 4 9 8 9
VRN &/ VN (T Y9 72 74 73 72| 4 74 72 73
RBEBHREY 146 151 142 137 4 151 137 144
& A A R TGP 0.023v 1 0.023v
A AIv 0.0000013< 1 10.0000013%>
2= AFNAVRILFA— L 0.00000137 1 10.0000013<>
AL F TS A 0.0053< 1 0.0053%
7=/ — VH 0.00053< 1| 0.00053%v
A (AR FR(TOC)D ) 0.23vv 0.23%v 0.23%v 0.23vv | 4 0.23%v
pH f& 8.1 8.0 8.1 8.0 4 8.1 8.0 8.0
BOK Rl L L L 4
FE S 0.53vv 0.53vv 0.53vv 0.53vv 4 0.53vv
w o 0.13%v 0.13%v 0.13%v 013w | 4 0.13%v
E BE RO IR 13vv 13vv IV ! 13vv
JE R (7T a3 -0.1 -0.2 -0.1 02| 4 -0.1 -0.2 -0.2
KR 21.9 22.2 21.8 219 4 22.2 21.8 22.0
Wby 71 72 71 70| 4 72 70 71
e ome B IR 1 13vv 1 4 1 13vv IR
12 & M b B R R 132y INS 137y 13xv| 4 132y
VAN S 61 62 61 60| 4 62 60 61
WM A 30 1 30
TUE=T RS 0.023<v 0.023<v 0.023<v 0.023xv | 4 0.023wy
ER AR 208 208 206 207 4 208 206 207
SRR EE (E260) 0.001 0.002 0.001 0.001| 4 0.002 0.001 0.001
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RIEHFEAK 76 BIRE —KIR M
AR A 4R 7 104 14
HOH 19 2 18 thoak || R & A% 5
— & A OB 48 41 50 3 50 41 46
K 1B 12 2.0 2.0 3 12 2.0 5.3
TRV LR OZE DAY 0.00033< 1] 0.00033%~
KERF P DILEY 0.000053<> 1| 0.0000537
TLU R OFEDILAY 0.0013<v 1 0.0013%>
R OEDILAE Y 0.0013vv 1 0.0013%
=Y O 0.00137Y 1 0.0013<
VaViVA=RN(A=x7] 0.0023< 1 0.0023<
i Y Bk R %€ R 0.0043<v 1 0.0043>
T AAF L RO T 0.0013v 1 0.0013v
THEAREZE 8 ) OV AR RE 28 57 0.7 1.0 0.8 3 1.0 0.7 0.8
ToFZ M OEDLEY 0.083%Y 1 0.083<y
TR L OEDILEY 0.13vv 1 0.13vv
DU 35 AL B 0.000237 1] 0.00023%v
1,4— %Y 0.0053<Y 1 0.0053%Y
¢ ;\/;?1 ;ﬁj Jo. DZ?VA?/U 0.0043¢Y 1| 0.00430v
A== ¥ % 0.0023<v 1 0.0023%
FhZ/unFL 0.0013~vv 1 0.0013v>
N ZanTzF1 0.0013%v 1 0.0013%
Ny B 0.0013%> 1 0.0013%
WKk DL a4 0.013<v 1 0.013<v
TNAR=Y LR OZDILEY 0.023v 1 0.023v>
g OZEDILED 0.013v> 1 0.013<v
R OZEOLED 0.013v 1 0.013v
TR LR DZEDILE 9 1 9
<~ B OZEDILE Y 0.0013~vv 1 0.0013v>
w1 A 7 7 7 3 7
VRN &/ VN (T Y9 24 26 25 3 26 24 25
KIEEEWY 85 81 84 3 85 81 83
& A A R TGP 0.023v 1 0.023v
A AIv 0.0000013< 1 10.0000013%>
2= AFNAVRILFA— L 0.00000137 1 10.0000013<>
AL F TS A 0.0053< 1 0.0053%
7=/ — VH 0.00053< 1| 0.00053%v
A (AR FR(TOC)D ) 0.23vv 0.23%v 0.23%v 3 0.23%v
pH f& 6.5 6.4 6.4 3 6.5 6.4 6.4
BOK Rl L L 3
FE S 0.53vv 0.53vv 0.53vv 3 0.53vv
o 0.1 0.1 0.1 3 0.1
W OBE R OER 16 18 20 3 20 16 18
JE R (7T a3 -2.8 -2.9 -2.9 3 -2.8 -2.9 -2.9
KR 18.8 19.7 19.4 3 19.7 18.8 19.3
Wby 25 25 25 3 25
WO 18 20 23 3 23 18 20
12 & M b B R R 15 17 19 3 19 15 17
RN | S 14 16 14 3 16 14 15
WM A 30 1 30
TUE=T RS 0.023<v 0.023<v 0.023<v 3 0.023wy
ER AR 96 103 100 3 103 96 100
SRR EE (E260) 0.002 0.002 0.003 3 0.003 0.002 0.002
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RIFHFEAK 77 A BRI H

AR A 5/ 8/ 114 2/
B 24 16 15 15 EE{ . e A% T
— & M 16 12 56 14| 4 56 12 24
K 1B 2.0 1.03=v 24 1.03vv | 4 24 1.03=v 6.5
HRIT LR OZEDLEY 0.00033< 1] 0.00033%~
KERF P DILEY 0.000053<> 1| 0.0000537
TLU R OFEDILAY 0.0013<v 1 0.0013v
DAY 0.0013< 1 0.0013<
=Y O 0.00137Y 1 0.0013<
AV A= 2y 0.0023v 1 0.00237
i A 2 e % R 0.0043<v 1 0.0043<
T AAF L RO T 0.0013v 1 0.0013v
THEAREZE 8 Sy OV AR RE 25 37 3.6 3.6 3.4 32| 4 3.6 3.2 3.4
ToFZ M OEDLEY 0.083%Y 1 0.083<y
TR L OEDILEY 0.13vv 1 0.13vv
DU 35 AL B 0.000237 1] 0.00023%v
1,4— %Y 0.00537 1 0.0053<
¢ ;\/;i ;ﬁj Jo. D%IV;VA?/U 0.00437 1| 0.00430
A== ¥ % 0.0023<v 1 0.0023%
FhZ/unFL 0.0013~vv 1 0.0013v>
N ZanTzF1 0.0013%v 1 0.0013%
Ny B 0.0013<v 1 0.0013%
WKk DL a4 0.013<v 1 0.013<v
TNAR=Y LR OZDILEY 0.023% 1 0.023<v
g OZEDILED 0.013<v 1 0.013<v
R OZEOLED 0.013=Y 1 0.013<v
TR LR DZEDILE 9 1 9
<~ B OZEDILE Y 0.0013%» 1 0.0013vv
w1 A 8 9 8 9| 4 9 8 8
VRN &/ VN (T Y9 34 36 38 34| 4 38 34 36
RBEBHREY 115 115 113 115 4 115 113 114
R A A S IE A 0.023%v 1 0.023vv
A AIv 0.0000013< 1 10.0000013%>
2— AF A VRV FA— )L 0.00000137 1 10.0000013<>
AL F TS A 0.0053< 1 0.0053%
7=/ — VH 0.00053< 1| 0.00053%v
A (AR FR(TOC)D ) 0.23vv 0.23%v 0.23%v 0.23vv | 4 0.23%v
pH f& 6.5 6.7 6.6 6.8 4 6.8 6.5 6.6
BOK Rl L L L 4
FE S 0.53vv 0.53vv 0.53vv 0.53vv 4 0.53vv
WwoE 0.13%v 0.13%v 0.13%v 02| 4 0.2 0.13%v 0.13%v
W OBE R OER 11 11 11 0] 4 11 10 11
JE R (7T a3 -2.7 -2.4 -2.4 24| 4 -2.4 -2.7 -2.5
KR 18.6 18.9 18.7 183 4 18.9 18.3 18.6
Wby 26 28 31 25| 4 31 25 28
WO 13 13 13 11 4 13 11 12
12 & M b B R R 11 11 11 9| 4 11 9 10
VAN S 21 22 24 20| 4 24 20 22
WM A 36 1 36
TUE=T RS 0.023<v 0.023<v 0.023<v 0.023xv | 4 0.023wy
ER AR 125 130 133 121 4 133 121 127
SRR EE (E260) 0.002 0.004 0.003 0.004 | 4 0.004 0.002 0.003
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RIFHFEAK 78 Bl Z I — KR HE
AR A 5/ 8/ 114 2/
B 24 16 15 15 EE{ . e A% T
— & A OB 12 14 6 4 14 4 9
Nl 1.03vv 1.0 1.03vv 1.0 4 1.0 1.03vv 1.03vv
HRIT LR OZEDLEY 0.00033< 1] 0.00033%~
KERF P DILEY 0.000053<> 1| 0.0000537
TLU R OFEDILAY 0.0013<v 1 0.0013%>
DAY 0.0013< 1 0.0013<
=Y O 0.00137Y 1 0.0013<
AV A= 2y 0.0023v 1 0.00237
i Y Bk R %€ R 0.0043<v 1 0.0043>
T AAF L RO T 0.0013v 1 0.0013v
THEAREZE 8 Sy OV AR RE 25 37 0.23vV 0.23v 0.23v 0.23v | 4 0.23vv
ToFZ M OEDLEY 0.083%Y 1 0.083<y
TR L OEDILEY 0.13vv 1 0.13vv
DU 35 AL B 0.000237 1] 0.00023%v
1,4— %Y 0.0053<Y 1 0.0053%Y
¢ ;\/;i ;ﬁj Jo. D%IV;VA?/U 0.0043¢Y 1| 0.00430v
A== ¥ % 0.0023<v 1 0.0023%
FhZ/unFL 0.0013~vv 1 0.0013v>
N ZanTzF1 0.0013%v 1 0.0013%
Ny B 0.0013%> 1 0.0013%
WKk DL a4 0.013<v 1 0.013<v
TNAR=Y LR OZDILEY 0.023% 1 0.023v>
g OZEDILED 0.013<v 1 0.013<v
R OZEOLED 0.013=Y 1 0.013v
TR LR DZEDILE 7 1 7
<~ B OZEDILE Y 0.0013%» 1 0.0013v>
w1 A 7 7 7 7| 4 7
VRN &/ VN (T Y9 25 25 24 25 4 25 24 25
KIEEEWY 91 95 91 92| 4 95 91 92
R A A S IE A 0.023%v 1 0.023vv
A AIv 0.0000013< 1 10.0000013%>
2— AF A VRV FA— )L 0.00000137 1 10.0000013<>
AL F TS A 0.0053< 1 0.0053%
7=/ — VH 0.00053< 1| 0.00053%v
A (AR FR(TOC)D ) 0.23vv 0.23%v 0.23%v 0.23vv | 4 0.23%v
pH f& 7.4 7.2 7.5 7.6 4 7.6 7.2 7.4
BOK Rl L L L 4
FE S 0.53vv 0.53vv 0.53vv 0.53vv 4 0.53vv
w o 0.13%v 0.13%v 0.13%v 013w | 4 0.13%v
W OBE R OER 3 4 2 2| 4 4 2 3
JE R (7T a3 -1.9 -2.1 -1.8 -1.7] 4 -1.7 -2.1 -1.9
KR 17.5 18.4 17.7 170 4 18.4 17.0 17.6
Wby 29 30 29 30| 4 30 29 30
WO 3 4 2 2| 4 4 2 3
12 & M b B R R 2 3 2 2| 4 3 2 2
Vo AN T 15 14 15 15 4 15 14 15
WM A 44 1 44
TUE=T RS 0.023<v 0.023<v 0.023<v 0.023xv | 4 0.023wy
ER AR 90 92 90 9| 4 92 90 90
SRR EE (E260) 0.002 0.002 0.001 0.002| 4 0.002 0.001 0.002
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ARIFHFEAK 79 W4 BB KR
AR A 5/ 8/ 114 2/
H A 16 9 8 7 EEA e A% 8
— & MO 13wy 3%V 3%V 13vv | 4 N
N 1.03vv 1.03vv 1.03vv LO3vv | 4 1.03vv
HRIT LR OZEDLEY 0.00033< 1] 0.00033%~
KERF P DILEY 0.000053<> 1| 0.0000537
TR OZEDILEY 0.0013<v 1 0.0013%>
DAY 0.0013v 1 0.0013<
=Y O 0.0013<Y 1 0.0013<
AV A= 2y 0.0023< 1 0.00237
i A 2 e % R 0.0043<v 1 0.0043>
T AAF L RO T 0.0013v 1 0.0013v
THEAREZE 8 Sy OV AR RE 25 37 2.7 2.2 2.4 25| 4 2.7 2.2 2.4
ToFZ M OEDLEY 0.083%Y 1 0.083<y
TR L OEDILEY 0.13vv 1 0.13vv
DU 35 AL B 0.000237 1] 0.00023%v
1,4— %Y 0.0053<v 1 0.0053%Y
¢ ;\/;i ;ﬁj Jo. D%IV;VA?/U 0.00437 1| 0.00430
A== ¥ % 0.0023%v 1 0.0023%
FhZ/unFL 0.0013~vv 1 0.0013v>
N ZanTzF1 0.0013%v 1 0.0013%
Ny B 0.0013%> 1 0.0013%
WKk DL a4 0.013<v 1 0.013<v
TNAR=Y LR OZDILEY 0.023% 1 0.023<v
g OZEDILED 0.013<v 1 0.013<v
R OZEOLED 0.013=Y 1 0.013<v
TR LR DZEDILE 12 1 12
~UH R OEDALEY 0.0013%> 1 0.0013%
Wik A4 10 9 10 10 4 10 9 10
VRN &/ VN (T Y9 42 41 40 42 4 42 40 41
KIEEEWY 136 137 134 133 4 137 133 135
B A A S A 0.023vv 1 0.023vv
A AIv 0.0000013< 1 10.0000013%>
2— AF A VRV FA— )L 0.00000137 1 10.0000013<>
AL F TS A 0.0053< 1 0.0053%
7=/ — VH 0.00053< 1| 0.00053%v
A (AR FR(TOC)D ) 0.23vv 0.23%v 0.23%v 0.23vv | 4 0.23%v
pH f& 6.3 6.3 6.3 6.3 4 6.3
BOK Rl L L L 4
FE S 0.53vv 0.53vv 0.53vv 0.53vv 4 0.53vv
w o 0.13%v 0.13%v 0.13%v 013w | 4 0.13%v
W OBE R OER 26 26 25 26 4 26 25 26
JE R (7T a3 -2.8 -2.8 -2.8 2.8 4 -2.8
KR 19.1 20.9 20.6 191 4 20.9 19.1 19.9
Wby 23 25 24 22| 4 25 22 24
WO 29 29 28 29| 4 29 28 29
12 £ o 3 HE e R 24 24 23 24| 4 24 23 24
VAN S 28 26 26 28| 4 28 26 27
WM A 45 1 45
TUE=T RS 0.023<v 0.023<v 0.023<v 0.023xv | 4 0.023wy
ER AR 162 152 154 161 4 162 152 157
SRR EE (E260) 0.002 0.003 0.001 0.002| 4 0.003 0.001 0.002
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KIFEHF K 80 W 4 B B DU K IR HE

AR A 5/ 8/ 114 2/
H H 16 9 8 7 G-I e A% T8
— % MO 1N 3%y 3%y 3%y 4 137y
N 1.03vv 1.03wv 1.03vv 1.03vv 4 1.03vv
HRIY L PZEDLEY 0.00033v 1| 0.00033%v
KRR OZFDALE W 0.000053v 1| 0.000053%
TR OZEDILED 0.0013<> 1 0.0013vv
SR OEDILAEY 0.0013< 1 0.0013%
ER R OZEDLEY 0.0013v 1 0.0013v
aiva=0N (R=Y ] 0.0023< 1 0.0023%
i fil B e %= 0.0043< 1 0.0043vy
LT A R OMEALY T 0.0013vv 1 0.0013<
THFEREZE 2 S VIR FRRE SR R 0.23vv 0.23%v 0.23%v 0.23vv | 4 0.23%v
TR NEDILEY 0.11 1 0.11
FUHE M OEDILEY 0.13vv 1 0.137v
(= = 0.000237 1| 0.00023%v
1,4— VA% 0.00537 1 0.0053vy
¢ ;\/;i ;ﬁj Jo. D%IV;VA?/U 0.00437 1| 0.00430
DR A=R= ¥ 0.0023< 1 0.00237
FhIr/ooFL 0.0013~v> 1 0.0013vv
[NPZ=I=EC S 0.0013< 1 0.0013%
A 0.0013v 1 0.0013v
Mgh & O DILA 0.013v 1 0.013v
TAI=T LR OEDILEY) 0.023v 1 0.023%v
L OEDILEY 0.13 0.10 0.10 0.07| 4 0.13 0.07 0.10
SR OEDILAEY 0.013v 1 0.013%v
FTRIT AR OEDLAEY 15 1 15
< H R OEDALEY 0.064 0.064 0.062 0.063| 4 0.064 0.062 0.063
AL A A v 8 8 8 9| 4 9 8 8
VAT RN/ SVAVFNE (1 i) 51 54 53 54 4 54 51 53
KEEBEEY 135 142 139 132 4 142 132 137
R oA S TG LA 0.023%v 1 0.023v
D b S 0.0000013%> 1 10.0000013%>
2— AFNAVRN I — )V 0.0000013v 1 10.0000013%
A A PTG R 0.0053< 1 0.00537
7 > /) — VI 0.00053v 1| 0.00053%v
) (AR FE(TOC)D &) 0.23%v 0.23vv 0.23vv 0.23vv | 4 0.23vv
pH fi 7.9 8.0 7.8 8.0 4 8.0 7.8 7.9
BOR MR AR B bR R BifbkFER | RERL 4
& 0.8 0.53vY 0.53vY 0.53vY 4 0.8 0.53%Y 0.53vv
W 0.6 0.1 0.2 02| 4 0.6 0.1 0.3
E BE RO IR 2 13vv 13vv 4 2 13vv IR
&t (S VT HER) -0.6 -0.5 -0.7 -0.5| 4 -0.5 -0.7 -0.6
KR 19.9 20.0 20.0 199 4 20.0 19.9 20.0
BT Y 58 59 60 60 4 60 58 59
o E 1 2 1 13w | 4 2 N 1
12 & M b BE IR N 13wy IN% 13xv| 4 I
TV LR E 42 44 41 45 4 45 41 43
B A R 41 1 41
TR THEESE 0.03 0.02 0.023vv 0.023vv | 4 0.03 0.023%v 0.023v
R R 167 172 172 172 4 172 167 171
O (E260) 0.008 0.006 0.005 0.005 | 4 0.008 0.005 0.006
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RFEHEAK 81 ERaKIEH
AR A 5/ 8/ 114 2/
H A 16 9 8 7 A e A% oy
— & MO 13wy 3%V 3%V 13vv | 4 N
Nl 1.03vv 1.03vv 1.03vv 1.03vv 4 1.03vv
HRIT LR OZEDLEY 0.00033< 1] 0.00033%~
KERF P DILEY 0.000053<> 1| 0.0000537
TR OZEDILEY 0.0013<v 1 0.0013%>
DAY 0.0013v 1 0.0013<
=Y O 0.005 0.005 0.005 0.005| 4 0.005
VaViVA=RN(A=x7] 0.0023< 1 0.0023<
i Y Bk R %€ R 0.0043<v 1 0.0043>
T AAF L RO T 0.0013v 1 0.0013v
THEAREZE 8 Sy OV AR RE 25 37 0.23vV 0.23v 0.23v 0.23v | 4 0.23vv
ToFZ M OEDLEY 0.083%Y 1 0.083<y
TR L OEDILEY 0.13vv 1 0.13vv
DU 35 AL B 0.000237 1] 0.00023%v
1,4— %Y 0.0053<v 1 0.0053%Y
¢ ;\/;?1 ;ﬁj Jo. DZ?VA?/U 0.00437 1| 0.00430
A== ¥ % 0.0023%v 1 0.0023%
FhZ/unFL 0.0013~vv 1 0.0013v>
N ZanTzF1 0.0013%v 1 0.0013%
Ny B 0.0013%> 1 0.0013%
WKk DL a4 0.013<v 1 0.013<v
TNAR=Y LR OZDILEY 0.023% 1 0.023<v
g OZEDILED 0.013<v 1 0.013<v
R OZEOLED 0.013=Y 1 0.013<v
TR LR DZEDILE 11 1 11
<R OEDILE 0.0013%> 1 0.0013%
w1 A 8 8 8 8| 4 8
VRN &/ VN (T Y9 39 41 39 40 4 41 39 40
RBEBHREY 102 108 101 103 4 108 101 104
& A A R TGP 0.023v 1 0.023v
A AIv 0.0000013< 1 10.0000013%>
2— AF A VRV FA— )L 0.00000137 1 10.0000013<>
AL F TS A 0.0053< 1 0.0053%
7=/ — VH 0.00053< 1| 0.00053%v
A (AR FR(TOC)D ) 0.23vv 0.23%v 0.23%v 0.23vv | 4 0.23%v
pH f& 8.0 8.0 8.0 8.0 4 8.0
BOK Rl L L L 4
FE S 0.53vv 0.53vv 0.53vv 0.53vv 4 0.53vv
w o 0.13%v 0.13%v 0.13%v 013w | 4 0.13%v
E BE RO IR 13vv 13vv IV ! 13vv
JE R (7T a3 -0.9 -0.9 -0.9 08| 4 -0.8 -0.9 -0.9
KR 18.7 18.8 18.8 184 4 18.8 18.4 18.7
Wby 33 33 33 33| 4 33
e ome B IR 1 13vv IV ! 1 13vv IR
12 & M b B R R 132y INS 137y 13xv| 4 132y
Vo AN T 33 34 31 35| 4 35 31 33
WM A 26 1 26
TUE=T RS 0.023<v 0.023<v 0.023<v 0.023xv | 4 0.023wy
ER AR 134 136 136 135 4 136 134 135
SRR EE (E260) 0.001 0.002 0.001 0.001| 4 0.002 0.001 0.001
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ARIFHFEAK 82 4 B — K IR
AR A 5/ 8/ 114 2/
H A 16 9 8 7 A e A% oy
— & MO 13wy 3%V 3%V 13vv | 4 N
Nl 1.03vv 1.03vv 1.03vv 1.03vv 4 1.03vv
HRIT LR OZEDLEY 0.00033< 1] 0.00033%~
KERF P DILEY 0.000053<> 1| 0.0000537
TR OZEDILEY 0.0013<v 1 0.0013%>
DAY 0.0013v 1 0.0013<
=Y O 0.0013<Y 1 0.0013<
VaViVA=RN(A=x7] 0.0023< 1 0.0023<
i Y Bk R %€ R 0.0043<v 1 0.0043>
T AAF L RO T 0.0013v 1 0.0013v
THEAREZE 8 Sy OV AR RE 25 37 0.23vV 0.23v 0.23v 0.23v | 4 0.23vv
TR K ONEDEY 0.15 1 0.15
TR L OEDILEY 0.13vv 1 0.13vv
DU 35 AL B 0.000237 1] 0.00023%v
1,4— %Y 0.0053<v 1 0.0053%Y
¢ ;\/;?1 ;ﬁj Jo. DZ?VA?/U 0.00437 1| 0.00430
A== ¥ % 0.0023%v 1 0.0023%
FhZ/unFL 0.0013~vv 1 0.0013v>
N ZanTzF1 0.0013%v 1 0.0013%
Ny B 0.0013%> 1 0.0013%
WKk DL a4 0.013<v 1 0.013<v
TNAR=Y LR OZDILEY 0.023% 1 0.023v>
g OZEDILED 0.22 0.13 0.17 023 4 0.23 0.13 0.19
R OZEOLED 0.013=Y 1 0.013v
TR LR DZEDILE 17 1 17
<R OEDILE 0.083 0.087 0.090 0.070 | 4 0.090 0.070 0.082
w1 A 9 9 9 9| 4 9
VRN &/ VN (T Y9 56 57 56 55| 4 57 55 56
RBEBHREY 131 137 126 123 4 137 123 129
& A A R TGP 0.023v 1 0.023v
A AIv 0.0000013< 1 10.0000013%>
2— AF A VRV FA— )L 0.00000137 1 10.0000013<>
AL F TS A 0.0053< 1 0.0053%
7=/ — VH 0.00053< 1| 0.00053%v
A (AR FR(TOC)D ) 0.23vv 0.23%v 0.23%v 0.23vv | 4 0.23%v
pH f& 7.6 7.7 7.7 7.5 4 7.7 7.5 7.6
BOK PbAL /KSR B bR KSR B LK R B fifbkRR | 4
(= S 0.6 0.9 0.9 06| 4 0.9 0.6 0.8
w o 0.1 0.1 0.1 01| 4 0.1
W OBE R OER 4 4 3 4| 4 4 3 4
JE R (7T a3 -0.9 -0.8 -0.8 -1.0| 4 -0.8 -1.0 -0.9
KR 20.2 20.6 20.6 200 4 20.6 20.0 20.4
Wby 63 65 65 61| 4 65 61 64
WO 5 4 3 5| 4 5 3 4
12 & M b B R R 3 3 2 3| 4 3 2 3
Vo AN T 38 40 39 37| 4 40 37 38
WM A 33 1 33
TUE=T RS 0.023<v 0.023<v 0.023<v 0.023xv | 4 0.023wy
ER AR 179 183 183 177 4 183 177 180
SRR EE (E260) 0.004 0.008 0.008 0.003| 4 0.008 0.003 0.006
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ARIFHFEK 83 H4 85 kIR b
AR A 5/ 8/ 114 2/
H A 16 9 8 7 EEA e A% 8
— & A OB 36 N N 13ev | 4 36 132y 9
N 1.03vv 1.03vv 1.03vv LO3vv | 4 1.03vv
HRIT LR OZEDLEY 0.00033< 1] 0.00033%~
KERF P DILEY 0.000053<> 1| 0.0000537
TR OZEDILEY 0.0013<v 1 0.0013%>
DAY 0.0013v 1 0.0013<
=Y O 0.0013<Y 1 0.0013<
AV A= 2y 0.0023< 1 0.00237
i Y Bk R %€ R 0.0043<v 1 0.0043>
T AAF L RO T 0.0013v 1 0.0013v
THEAREZE 8 Sy OV AR RE 25 37 1.9 1.9 1.7 L7 4 1.9 1.7 1.8
ToFZ M OEDLEY 0.083%Y 1 0.083<y
TR L OEDILEY 0.13vv 1 0.13vv
DU 35 AL B 0.000237 1] 0.00023%v
1,4— %Y 0.0053<v 1 0.0053%Y
¢ ;\/;i ;ﬁj Jo. D%IV;VA?/U 0.0043¢Y 1| 0.00430v
A== ¥ % 0.0023%v 1 0.0023%
FhZ/unFL 0.0013~vv 1 0.0013v>
N ZanTzF1 0.0013%v 1 0.0013%
Ny B 0.0013%> 1 0.0013%
WKk DL a4 0.013<v 1 0.013<v
TNAR=Y LR OZDILEY 0.023% 1 0.023<v
g OZEDILED 0.013<v 1 0.013<v
R OZEOLED 0.013=Y 1 0.013<v
TR LR DZEDILE 11 1 11
<R OEDILE 0.0013%> 1 0.0013%
w1 A 9 8 9 9| 4 9 8 9
VRN &/ VN (T Y9 31 35 32 32| 4 35 31 32
KIEEEWY 102 109 106 102 4 109 102 105
B A A S A 0.023vv 1 0.023vv
A AIv 0.0000013< 1 10.0000013%>
2— AF A VRV FA— )L 0.00000137 1 10.0000013<>
AL F TS A 0.0053< 1 0.0053%
7=/ — VH 0.00053< 1| 0.00053%v
A (AR FR(TOC)D ) 0.23vv 0.23%v 0.23%v 0.23vv | 4 0.23%v
pH f& 6.7 6.5 6.6 6.6 4 6.7 6.5 6.6
BOK Rl L L L 4
FE S 0.53vv 0.53vv 0.53vv 0.53vv 4 0.53vv
w o 0.13%v 0.13%v 0.13%v 013w | 4 0.13%v
W OBE R OER 16 15 18 18] 4 18 15 17
JE R (7T a3 -2.5 -2.7 -2.6 26| 4 -2.5 -2.7 -2.6
KR 19.6 19.7 19.7 196 4 19.7 19.6 19.6
Wby 23 24 25 24| 4 25 23 24
WO 18 17 20 20| 4 20 17 19
12 £ o 3 HE e R 15 14 17 17| 4 17 14 16
VAN S 19 19 18 20| 4 20 18 19
WM A 32 1 32
TUE=T RS 0.023<v 0.023<v 0.023<v 0.023xv | 4 0.023wy
ER AR 122 127 127 124 4 127 122 125
SRR EE (E260) 0.003 0.004 0.002 0.002| 4 0.004 0.002 0.003
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KIFHEAK 84 — A8 KIE
AR A 4R 7 104 14
B 19 2 18 1 EE{ . e A% T
— & MO 13wy 3%V 3%V 13vv | 4 N
N 1.03vv 1.03vv 1.03vv LO3vv | 4 1.03vv
HRIT LR OZEDLEY 0.00033< 1] 0.00033%~
KERF P DILEY 0.000053<> 1| 0.0000537
TLU R OFEDILAY 0.0013<v 1 0.0013%>
DAY 0.0013< 1 0.0013<
=Y O 0.00137Y 1 0.0013<
AV A= 2y 0.0023v 1 0.00237
i A 2 e % R 0.0043<v 1 0.0043>
T AAF L RO T 0.0013v 1 0.0013v
THEAREZE 8 Sy OV AR RE 25 37 0.6 0.6 0.6 06| 4 0.6
ToFZ M OEDLEY 0.083%Y 1 0.083<y
TR L OEDILEY 0.13vv 1 0.13vv
DU 35 AL B 0.000237 1] 0.00023%v
1,4— %Y 0.0053<Y 1 0.0053%Y
¢ ;\/;i ;ﬁj Jo. D%IV;VA?/U 0.0043¢Y 1| 0.00430v
A== ¥ % 0.0023<v 1 0.0023%
FhZ/unFL 0.0013~vv 1 0.0013v>
N ZanTzF1 0.0013%v 1 0.0013%
Ny B 0.0013%> 1 0.0013%
WKk DL a4 0.013<v 1 0.013<v
TNAR=Y LR OZDILEY 0.023% 1 0.023<v
g OZEDILED 0.013<v 1 0.013<v
R OZEOLED 0.013=Y 1 0.013<v
TR LR DZEDILE 9 1 9
<~ B OZEDILE Y 0.0013%» 1 0.0013vv
w1 A 7 7 7 7| 4 7
VRN &/ VN (T Y9 23 24 23 24 4 24 23 24
KIEEEWY 83 80 82 81 4 83 80 82
R A A S IE A 0.023%v 1 0.023vv
A AIv 0.0000013< 1 10.0000013%>
2— AF A VRV FA— )L 0.00000137 1 10.0000013<>
AL F TS A 0.0053< 1 0.0053%
7=/ — VH 0.00053< 1| 0.00053%v
A (AR FR(TOC)D ) 0.23vv 0.23%v 0.23%v 0.23vv | 4 0.23%v
pH f& 6.5 6.4 6.4 6.5 4 6.5 6.4 6.4
BOK Rl L L L 4
FE S 0.53vv 0.53vv 0.53vv 0.53vv 4 0.53vv
w o 0.13%v 0.13%v 0.13%v 013w | 4 0.13%v
W OBE R OER 18 18 20 19| 4 20 18 19
JE R (7T a3 -2.9 -3.0 -3.0 -2.8| 4 -2.8 -3.0 -2.9
KR 19.1 19.5 19.3 191 4 19.5 19.1 19.2
Wby 24 24 25 25| 4 25 24 24
WO 21 21 23 22 4 23 21 22
12 £ o 3 HE e R 18 18 19 18 4 19 18 18
VAN S 14 14 13 15 4 15 13 14
WM A 30 1 30
TUE=T RS 0.023<v 0.023<v 0.023<v 0.023xv | 4 0.023wy
ER AR 91 94 95 94| 4 95 91 94
SRR EE (E260) 0.001 0.001 0.002 0.001| 4 0.002 0.001 0.001
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AKIFHFEK 85 ANAREE Z KR HE
AR A 4R 7 104 14
B 19 2 18 1 EE{ . e A% 1
— & A OB 7 1 N 13ev | 4 7 132y 2
Nl 1.03vv 1.03vv 1.03vv 1.03vv 4 1.03vv
HRIT LR OZEDLEY 0.00033< 1] 0.00033%~
KERF P DILEY 0.000053<> 1| 0.0000537
TLU R OFEDILAY 0.0013<v 1 0.0013%>
DAY 0.0013< 1 0.0013<
=Y O 0.00137Y 1 0.0013<
VaViVA=RN(A=x7] 0.0023< 1 0.0023<
i A 2 e % R 0.0043<v 1 0.0043>
T AAF L RO T 0.0013v 1 0.0013v
THEAREZE 8 Sy OV AR RE 25 37 1.0 1.2 1.1 Li| 4 1.2 1.0 1.1
ToFZ M OEDLEY 0.083%Y 1 0.083<y
TR L OEDILEY 0.13vv 1 0.13vv
DU 35 AL B 0.000237 1] 0.00023%v
1,4— %Y 0.0053<Y 1 0.0053%Y
¢ ;\/;?1 ;ﬁj Jo. DZ?VA?/U 0.00437 1| 0.00430
A== ¥ % 0.0023<v 1 0.0023%
FhZ/unFL 0.0013~vv 1 0.0013v>
N ZanTzF1 0.0013%v 1 0.0013%
Ny B 0.0013%> 1 0.0013%
WKk DL a4 0.013<v 1 0.013<v
TNAR=Y LR OZDILEY 0.023% 1 0.023<v
g OZEDILED 0.01 1 0.01
R OZEOLED 0.013=Y 1 0.013<v
TR LR DZEDILE 8 1 8
<~ B OZEDILE Y 0.0013%» 1 0.0013vv
w1 A 7 7 7 7| 4 7
VRN &/ VN (T Y9 22 20 21 22| 4 22 20 21
KIEEEWY 88 86 82 81 4 88 81 84
& A A R TGP 0.023v 1 0.023v
A AIv 0.0000013< 1 10.0000013%>
2= AFNAVRILFA— L 0.00000137 1 10.0000013<>
AL F TS A 0.0053< 1 0.0053%
7=/ — VH 0.00053< 1| 0.00053%v
A (AR FR(TOC)D ) 0.23vv 0.23%v 0.23%v 0.23vv | 4 0.23%v
pH f& 6.5 6.3 6.4 6.4 4 6.5 6.3 6.4
BOK Rl L L L 4
FE S 0.53vv 0.53vv 0.53vv 0.53vv 4 0.53vv
w o 0.13%v 0.13%v 0.13%v 013w | 4 0.13%v
W OBE R OER 15 18 18 18] 4 18 15 17
JE R (7T a3 -3.0 -3.2 -3.1 -3.1| 4 -3.0 -3.2 -3.1
KR 18.0 18.2 18.0 179 4 18.2 17.9 18.0
Wby 21 19 21 21| 4 21 19 20
WO 17 20 20 20| 4 20 17 19
12 £ o 3 HE e R 14 17 17 17| 4 17 14 16
VAN S 12 12 11 13 4 13 11 12
WM A 32 1 32
TUE=T RS 0.023<v 0.023<v 0.023<v 0.023xv | 4 0.023wy
ER AR 90 90 92 9| 4 92 90 90
SRR EE (E260) 0.001 0.002 0.002 0.001| 4 0.002 0.001 0.002
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RIEHEAK 86 BIRE = KIR M
AR A 4R 7 104 14
B 19 2 18 1 EE{ . e A% T
— & A OB 13 5 N 3wy | 4 13 IR 4
N 1.03vv 1.03vv 1.03vv LO3vv | 4 1.03vv
HRIT LR OZEDLEY 0.00033< 1] 0.00033%~
KERF P DILEY 0.000053<> 1| 0.0000537
TLU R OFEDILAY 0.0013<v 1 0.0013%>
DAY 0.0013< 1 0.0013<
=Y O 0.00137Y 1 0.0013<
AV A= 2y 0.0023v 1 0.00237
i A 2 e % R 0.0043<v 1 0.0043>
T AAF L RO T 0.0013v 1 0.0013v
THEAREZE 8 Sy OV AR RE 25 37 0.23vV 0.23v 0.23v 0.23v | 4 0.23vv
TR K ONEDEY 0.12 1 0.12
TR L OEDILEY 0.13vv 1 0.13vv
DU 35 AL B 0.000237 1] 0.00023%v
1,4— %Y 0.0053<Y 1 0.0053%Y
¢ ;\/;i ;ﬁj Jo. D%IV;VA?/U 0.0043¢Y 1| 0.00430v
A== ¥ % 0.0023<v 1 0.0023%
FhZ/unFL 0.0013~vv 1 0.0013v>
N ZanTzF1 0.0013%v 1 0.0013%
Ny B 0.0013%> 1 0.0013%
WKk DL a4 0.013<v 1 0.013<v
TNAR=Y LR OZDILEY 0.023% 1 0.023<v
g OZEDILED 0.08 0.08 0.09 0.07| 4 0.09 0.07 0.08
R OZEOLED 0.013=Y 1 0.013<v
TR LR DZEDILE 17 1 17
<R OEDILE 0.048 0.047 0.043 0.044 | 4 0.048 0.043 0.046
w1 A 8 8 8 8| 4 8
VRN &/ VN (T Y9 36 36 38 37| 4 38 36 37
RBEBHREY 118 120 116 123 4 123 116 119
R A A S IE A 0.023%v 1 0.023vv
A AIv 0.0000013< 1 10.0000013%>
2— AF A VRV FA— )L 0.00000137 1 10.0000013<>
AL F TS A 0.0053< 1 0.0053%
7=/ — VH 0.00053< 1| 0.00053%v
A (AR FR(TOC)D ) 0.23vv 0.23%v 0.23%v 0.23vv | 4 0.23%v
pH f& 7.5 7.5 7.7 7.6 4 7.7 7.5 7.6
BOK Rl WL | EKER] Bl 4
(= S 0.7 0.6 0.5 0.8 4 0.8 0.5 0.6
w o 0.1 0.2 0.2 02| 4 0.2 0.1 0.2
W OBE R OER 3 3 3 3 4 3
JE R (7T a3 -1.3 -1.3 -1.1 -1.2| 4 -1.1 -1.3 -1.2
KR 23.6 23.7 23.5 234 4 23.7 23.4 23.6
Wby 44 45 45 45| 4 45 44 45
WO 3 3 3 3 4 3
12 & M b B R R 2 2 2 21 4 2
VAN S 24 26 26 26| 4 26 24 26
WM A 39 1 39
TUE=T RS 0.023<v 0.023<v 0.023<v 0.023xv | 4 0.023wy
ER AR 151 154 154 153 4 154 151 153
SRR EE (E260) 0.005 0.005 0.003 0.004 | 4 0.005 0.003 0.004
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ARIFHFEAK 87 B 5 8 DU K IR 1k
AR A 4R 7 104 14
B 19 2 18 1 EE{ . e A% T
— & A OB 2 3 2 2| 4 3 2 2
N 1.03vv 1.03vv 1.03vv LO3vv | 4 1.03vv
HRIT LR OZEDLEY 0.00033< 1] 0.00033%~
KERF P DILEY 0.000053<> 1| 0.0000537
TLU R OFEDILAY 0.0013<v 1 0.0013%>
DAY 0.0013< 1 0.0013<
=Y O 0.00137Y 1 0.0013<
AV A= 2y 0.0023v 1 0.00237
i A 2 e % R 0.0043<v 1 0.0043>
T AAF L RO T 0.0013v 1 0.0013v
THEAREZE 8 Sy OV AR RE 25 37 0.5 0.6 0.5 05| 4 0.6 0.5 0.5
ToFZ M OEDLEY 0.083%Y 1 0.083<y
TR L OEDILEY 0.13vv 1 0.13vv
DU 35 AL B 0.000237 1] 0.00023%v
1,4— %Y 0.00537 1 0.0053%Y
¢ ;\/;i ;ﬁj Jo. D%IV;VA?/U 0.0043¢Y 1| 0.00430v
A== ¥ % 0.0023<v 1 0.0023%
FhZ/unFL 0.0013~vv 1 0.0013v>
N ZanTzF1 0.0013%v 1 0.0013%
Ny B 0.0013%> 1 0.0013%
WKk DL a4 0.013<v 1 0.013<v
TNAR=Y LR OZDILEY 0.023% 1 0.023<v
g OZEDILED 0.013<v 1 0.013<v
R OZEOLED 0.013=Y 1 0.013<v
TR LR DZEDILE 13 1 13
<~ B OZEDILE Y 0.0013%» 1 0.0013vv
Wik A4 11 11 11 11 4 11
VRN &/ VN (T Y9 28 29 30 29 4 30 28 29
KIEEEWY 104 100 106 104 4 106 100 104
R A A S IE A 0.023%v 1 0.023vv
A AIv 0.0000013< 1 10.0000013%>
2— AF A VRV FA— )L 0.00000137 1 10.0000013<>
AL F TS A 0.0053< 1 0.0053%
7=/ — VH 0.00053< 1| 0.00053%v
A (AR FR(TOC)D ) 0.23vv 0.23%v 0.23%v 0.23vv | 4 0.23%v
pH f& 6.8 6.8 6.7 6.7 4 6.8 6.7 6.8
BOK Rl L L L 4
FE S 0.53vv 0.53vv 0.53vv 0.53vv 4 0.53vv
WwoE 0.13%v 0.13%v 0.13%v 013w | 4 0.13%v
W OBE R OER 11 11 14 12| 4 14 11 12
JE R (7T a3 -2.3 -2.3 -2.4 24| 4 -2.3 -2.4 -2.4
KR 20.3 20.8 20.7 166 4 20.8 16.6 19.6
Wby 32 33 34 34| 4 34 32 33
WO 13 13 16 14| 4 16 13 14
12 £ o 3 HE e R 11 11 13 1| 4 13 11 12
VAN S 17 19 18 19 4 19 17 18
WM A 36 1 36
TUE=T RS 0.023<v 0.023<v 0.023<v 0.023xv | 4 0.023wy
ER AR 124 130 129 124 4 130 124 127
SRR EE (E260) 0.001 0.001 0.002 0.001| 4 0.002 0.001 0.001
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KIFEHE K 88 5 K IR
AR A 5/ 8/ 114 2/
B 24 16 15 15 EE{ . e A% 1
— & A OB 6 N N 13ev | 4 6 132y 2
Nl 1.03vv 1.03vv 1.03vv 1.03vv 4 1.03vv
HRIT LR OZEDLEY 0.00033< 1] 0.00033%~
KERF P DILEY 0.000053<> 1| 0.0000537
TLU R OFEDILAY 0.0013<v 1 0.0013%>
DAY 0.0013< 1 0.0013<
=Y O 0.00137Y 1 0.0013<
VaViVA=RN(A=x7] 0.0023< 1 0.0023<
i Y Bk R %€ R 0.0043<v 1 0.0043>
T AAF L RO T 0.0013v 1 0.0013v
THEAREZE 8 Sy OV AR RE 25 37 0.23vV 0.23v 0.23v 0.23v | 4 0.23vv
ToFZ M OEDLEY 0.083%Y 1 0.083<y
TR L OEDILEY 0.13vv 1 0.13vv
DU 35 AL B 0.000237 1] 0.00023%v
1,4— %Y 0.0053<Y 1 0.0053%Y
¢ ;\/;?1 ;ﬁj Jo. DZ?VA?/U 0.0043¢Y 1| 0.00430v
A== ¥ % 0.0023<v 1 0.0023%
FhZ/unFL 0.0013~vv 1 0.0013v>
N ZanTzF1 0.0013%v 1 0.0013%
Ny B 0.0013%> 1 0.0013%
WKk DL a4 0.04 1 0.04
TNAR=Y LR OZDILEY 0.023% 1 0.023v>
g OZEDILED 0.013<v 1 0.013<v
R OZEOLED 0.013v 1 0.013v
TR LR DZEDILE 8 1 8
<~ B OZEDILE Y 0.0013%» 1 0.0013v>
w1 A 7 7 7 7| 4 7
VRN &/ VN (T Y9 31 32 32 33| 4 33 31 32
KIEEEWY 103 108 97 15| 4 115 97 106
& A A R TGP 0.023v 1 0.023v
A AIv 0.0000013< 1 10.0000013%>
2= AFNAVRILFA— L 0.00000137 1 10.0000013<>
AL F TS A 0.0053< 1 0.0053%
7=/ — VH 0.00053< 1| 0.00053%v
A (AR FR(TOC)D ) 0.23vv 0.23%v 0.23%v 0.23vv | 4 0.23%v
pH f& 7.4 7.5 7.4 7.4 4 7.5 7.4 7.4
BOK Rl L L L 4
FE S 0.53vv 0.53vv 0.53vv 0.53vv 4 0.53vv
w o 0.13%v 0.13%v 0.13%v 013w | 4 0.13%v
W OBE R OER 4 3 3 3] 4 4 3 3
JE R (7T a3 -1.6 -1.5 -1.6 -1.6| 4 -1.5 -1.6 -1.6
KR 18.5 18.5 18.6 183 4 18.6 18.3 18.5
W7o hY R 37 38 39 38| 4 39 37 38
WO 4 3 3 3] 4 4 3 3
12 & M b B R R 2 2 2| 4 3 2 2
Vo AN T 21 20 22 21| 4 22 20 21
WM A 46 1 46
TUE=T RS 0.023<v 0.023<v 0.023<v 0.023xv | 4 0.023wy
ER AR 105 109 109 08| 4 109 105 108
SRR EE (E260) 0.002 0.002 0.001 0.001| 4 0.002 0.001 0.002

—274—




ARIFEHFEAK 89 Bl Z I — kIR HE
AR A 5/ 8/ 114 2/
B 24 16 15 15 EE . e A% 8
— & MO 13wy 3%V 3%V 13vv | 4 N
Nl 1.03vv 1.03vv 1.03vv 1.03vv 4 1.03vv
HRIT LR OZEDLEY 0.00033< 1] 0.00033%~
KERF P DILEY 0.000053<> 1| 0.0000537
TLU R OFEDILAY 0.0013<v 1 0.0013%>
DAY 0.0013< 1 0.0013<
=Y O 0.00137Y 1 0.0013<
VaViVA=RN(A=x7] 0.0023< 1 0.0023<
i Y Bk R %€ R 0.0043<v 1 0.0043>
T AAF L RO T 0.0013v 1 0.0013v
THEAREZE 8 Sy OV AR RE 25 37 0.23vV 0.23v 0.23v 0.23v | 4 0.23vv
ToFZ M OEDLEY 0.083%Y 1 0.083<y
TR L OEDILEY 0.13vv 1 0.13vv
DU 35 AL B 0.000237 1] 0.00023%v
1,4— %Y 0.0053<Y 1 0.0053%Y
¢ ;\/;?1 ;ﬁj Jo. DZ?VA?/U 0.0043¢Y 1| 0.00430v
A== ¥ % 0.0023<v 1 0.0023%
FhZ/unFL 0.0013~vv 1 0.0013v>
N ZanTzF1 0.0013%v 1 0.0013%
Ny B 0.0013%> 1 0.0013%
WKk DL a4 0.013<v 1 0.013<v
TNAR=Y LR OZDILEY 0.023% 1 0.023<v
g OZEDILED 0.013<v 1 0.013<v
R OZEOLED 0.013=Y 1 0.013<v
TR LR DZEDILE 8 1 8
<~ B OZEDILE Y 0.0013%» 1 0.0013vv
w1 A 7 7 7 7| 4 7
VRN &/ VN (T Y9 28 28 27 30 4 30 27 28
RBEBHREY 110 122 111 106 4 122 106 112
& A A R TGP 0.023v 1 0.023v
A AIv 0.0000013< 1 10.0000013%>
2= AFNAVRILFA— L 0.00000137 1 10.0000013<>
AL F TS A 0.0053< 1 0.0053%
7=/ — VH 0.00053< 1| 0.00053%v
A (AR FR(TOC)D ) 0.23vv 0.23%v 0.23%v 0.23vv | 4 0.23%v
pH f& 7.3 7.7 7.5 7.5 4 7.7 7.3 7.5
BOK Rl L L L 4
FE S 0.53vv 0.53vv 0.53vv 0.53vv 4 0.53vv
w o 0.13%v 0.13%v 0.13%v 013w | 4 0.13%v
W OBE R OER 5 2 3 4| 4 5 2 4
JE R (7T a3 -1.8 -1.4 -1.6 -1.6| 4 -1.4 -1.8 -1.6
KR 19.5 19.8 19.6 192 4 19.8 19.2 19.5
Wby 34 35 35 35 4 35 34 35
WO 6 2 3 4| 4 6 2 4
12 & M b B R R 5 1 2 4 5 1 3
VAN S 17 16 16 17| 4 17 16 16
WM A 59 1 59
TUE=T RS 0.023<v 0.023<v 0.023<v 0.023xv | 4 0.023wy
ER AR 102 104 100 102 4 104 100 102
SRR EE (E260) 0.001 0.001 0.001 0.001| 4 0.001
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